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Chapter IV. 2tH$§t £0{2| u}2}

[A-1] ZAS] 72t 7IS
Eddie: €0] ZAte] ZRet7I50l Bl XAISHA LYaHz. 2t ZAte] o TH 7 HIAIaH.

ChatGPT: g0f EAt= EE0IAM2] Agtat 7|50 met 22 == Ho{el SFRULICH Jofol= & 87t

K| EA7E UELICE 2F EALS| 7| st OAIE Of2Hol| XtAMISHA| 2HSHELICY.

1. YAl (Noun)
YAL= AE, B, AFE, OIO|C|0] S2 LIEHL = HORIL|CE 30, 520, HE0{Z AFZEL|CE
e 7|5 0, ZX0{, HO{
o OAl:
® Person: teacher, doctor, engineer, artist, student
* Place: park, city, school, beach, restaurant

* Thing: book, apple, car, computer, chair

* Idea: freedom, love, knowledge, happiness, democracy

2. CHHAL (Pronoun)

CHEARE BALE tiA5H0] MEE[= HOYLICE Bh5S |5ty 285 ZHEsH 2hsL

o J|s: BACHA ALE

o Of|A:
e F2A. |, you, he, she, it
o ZMA: me, you, him, her, it
o A84: my, your, his, her, its

o X CHHAL: myself, yourself, himself, herself, itself

3. Al (Verb)

4/353



SAts SAO[Lt HEIE LIEfUE BO{ILICH E2Z0M 71 S8t A S 510, ARt EHE LIEHY

L|CE.

o J|s: SHOILt HEIE #H

o ZXEAL can, will, must, should, might

D

. A} (Adjective)

HEANE AL THIBALE 415101 O JE, oEl, #& S LIEf = Ho{iL|ct

I

o 7|S: AL CHEALE 4]

o Of|A]:

0x

or A

: happy, sad, bright, dark, strong

. : many, few, several, all, some

TS

-l

: big, small, tall, short, large

[ ]
02
=

: round, square, flat, curved, straight

°
=
0%

: red, blue, green, yellow, black
5. BA} (Adverb)

FAtE SAL S8AL CHE FAL 2 THIE 415101 O 93, "k, Bk, AR Z

7 -
OfiL|ct.

o J|S: AL FEAL LIE BAL 28 HHIE 4

o Of|AL:
o HMA: quickly, slowly, quietly, loudly, carefully
e HEI: very, quite, too, almost, extremely
e HIE: always, often, sometimes, rarely, never

e A|lZk now, then, soon, yesterday, today
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o B4 here, there, everywhere, nowhere, outside
6. HX|A} (Preposition)
HR|A= GAILL CHEAL 2P0l IX|5H0 CHE THoete| 2tAIE LEt = THO{ LT
o Jls: AL CHHAIR CHE THO| AtO|Q] 2tAIS LEHH

o Of|A]:

o3
S

:in, on, at, under, between

>

: before, after, during, until, since

[
0%
ook

: to, from, towards, into, through

°
i
1A

: for, with, about, against, concerning

7. &AL (Conjunction)

rr

—

FSEN!

S to, 7, S AZ5h= HO{YLICH 2HE H S&5H 2HE1, Ofo|C|o{E AZ LTt

o
Q
N

o Jl&: T, 11, A
o OAl:

=

do

&AM} and, but, or, nor, for

0% Op ofn
I

e

A
-1
H&ZAL because, although, if, when, while
A
-1

HZAL either...or, neither...nor, both...and, not only...but also, whether...or

-

8. ZEMAL (Interjection)

e 7|&: oh, wow, hooray, yay, bravo
e E212: oh, ah, whoa, gosh, jeez

e £&: alas, oh no, ouch, darn, ugh
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o FJ: hey, listen, look, behold, mark

e FEX: um, er, uh, hmm, well
O|et Z0[, YO| EAt= 27| CHE 7|S2 5t 0|2 Soff 282 145t 9|0|E MERILICE ZF FAt

o| OilAIE Sdll B FRIF 2= Oaligt = ASLICE

Eddie: Q0| FAte| S7L} 7|50l 2tahiM XtMSHA AHHF. FAte| 7|52 2&Q4aet =40 2
Ofl M 2EaF. £ o ZF EA] o= THA JHA RA[SHF.

=
oM S A S 5tH, 282 7=t 20|E ddst= Hl S QAL

et 7|5, J2|1 o|E RIMIGHA 2EskELITt

715: AkE AR, B2, AFZ, OIO|L|0 S& LIEHLHD, 280N F0{, S50, 20 S22 AEEL]

[
0

e teacher (ML)
e city (£Al)

* apple (Atzh

e freedom (XIR)

e computer (AHE)

2. CHHA} (Pronoun)
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715: ™AL GAE CHAISH0| BH= S mlstn &S 2H25H ohELTH 20N 0], SX0{, 20

S2Z AHEE LI

o 2 22 F0{(S), FH(O), E%(C)
o O =A== AIZE|X| oLt FEA| Qs =AE £ UAS

715: SAts SEOILE SEIE LIEIUD, 22| iy Q42 A[X|QF EfE LIEFRLICE

e run (HZ|CH

e cat (HLCH

e be (0|CH

* have (Z}X|Ch
o think (A4ZtsiCh

4. @A (Adjective)

-l
oIr

AN YAILE CHTALS £415100 1 47, 4el, 3 S8 LIErdLI

- O
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5. BA} (Adverb)

TIS: BANS SA BEAL CHE BA

Ct.

o BT 24 T2 FAOE ASE
= -4
— T

ALt AR Of8 £ME 4 IS

 quickly (ttFE27])
e very (01S)
e often (KFF)
* now (X&)

e here (0§7])
6. HX|A} (Preposition)

715: TRIAHE BAILE CHEAL 2F0f| @|XI5H0] THE EHO{ebe| 2A|IE LIEHHLIC F2 TX|AFE &Y

L
510 WAL AlRfLIC

9/353



o 2A0]: HAATE HBAILE HAIRM BAILE SAIS 2413}

e in (2tof))

e on (20l

o at (OllA)

e under (O}20])

* between (A0]0f])

7. &AL (Conjunction)

715 WAALS THof, 71, M2 GZFLICH SRS of 2R BSD, ofo|c|jS ¢
Lict

o 23 22: HAR(ConjP)

o A0} HAA XIS SAE/X] QRIS HAE 2450|2412 4 9IS

ol

¢ because (HLf5HH)

e although (HIS ~&X|2tE)

8. ZEMAL (Interjection)

HERA}

—

rr

O o —

]
o
o\

HHEOLt S-S LIEUH, 28 TX2 SEHoZ A E LT
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e oh (2)

e wow (2F2)

e hooray (M)
e oops (OIH)
 hey (0|&}

Ol 20| HOl ZAh= 27| CHE 7|52 5tH, 282 712t 90| dYsts Hl S8 LS BiL
A
[=]

Ct. 2t SAte] GlAIE Sl O A 2= olaet == 2

EHIE: promptel 2 0f3 F0fot 5104, 012f JHe| 20| sfLte] 20| EaHE/of A= o] of
oL, 78 REOE LIEIONN BIHFOF 8. 012 LIL-OIT JH TS0l chafM SREIX| i 57} B
S BIX| WAlO| LIZ 2. oS0l 12 BES HAE o,
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[A-2] EAet EAVE BE5HE 715 2e] 27 EE|
Eddie: 90] EAte] ZREZ 2HR4 82 A=A HYsts 7158 237,

ChatGPT: &0 EAt= 2E0IM ==
O{=Af Cefet ot

%
2 AtMI5| dYstZlSLICt.
1. YAl (Noun)
7ls:

o Y 24 F0{(S), FH0{(0), £M{(C)
o FO|: 2F2| FHE LIEH,
 0: “The cat sleeps.”
o =X0]: SAtC| &7} O|X|= CHES LIEHE.
e 0f: “She reads a book.”
e HO{|: FO|L} SXOE HYSI7 Lt 258
e 0f: "He is a teacher.”
o AU EMO 7|5 YAt= YUNOE SAOE AFBE[X| EX|TH Sgf WAL YREECE [IE
YALE A 5= JUSLICH

e 0f: “Book cover”, “Computer screen”

2. CLH™ AL (Pronoun)

e 0Of: “She runs.”
o SX0f: A &?|7t OX[= CHAMS CHAIE
e Of: “l saw him.”

o 2O|: FOjLt X0IS HUYFIILL 253,
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e 0O: "It is mine.”

o FHOEM2| 7|S: LiBA= LEHCZ A0 2 AEEX] gEELIC

3. A} (Verb)

7Is:

o O “They play football.”

o FUOZNO| JI5: SAH= R T2 SALE 2B 241K SALICH D2t AR SAH= ESA
2 AIBEI0] HEAIS 2418 4 JALICH

7

e 0Of|: “She can swim.’
4. LA (Adjective)
7ls:
e B¥ 24 HO(CO)Z AIEE # U3,
e O: “The sky is blue.”
o £AO{ZA2] 7|S: HAILL HHAE #=AI5101 &, MY, o2 SS 28
e Of: “Ared apple”, “She is happy.”

5. BA} (Adverb)

7l

or

g4 BAKAI EE Q42 5

o RAOEMO 7|5 SAL, HEAL CHE BAL 28 HA|

1

Ho

]
2
|0
Hu
>
> 0|1)
mn

nx
02
ol

o SAL 4l "He runs quickly.”

Al
o HEAL Al “She is very tall.”
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o AL 4l “She sings very beautifully.”
o 2% HA| £=4l: “Unfortunately, we missed the bus.”

6. HX|A} (Preposition)

7Is:
o B QA WX KMl SEHECE B3 QAZ AFEE|X| X2, MXIAL(PP)2 HAILL CHHALS

e 0f: “He is in the room.”

o FAOZM2| 7|S: TXAIFE AL, SAL FEAIE A + AUS.

o YA Al “The book on the table is mine.’
o SAt 4l "He sleeps on the couch.”
o HEAL £4l: “She is good at math.”

7. & Al (Conjunction)

o 2EH QA HEA K= 2F QAR AIRE|X| 2X|2H CHof, 2, &
e Off: “| like tea and coffee.”

o FAO2M2| 7|S: HHAE A2 ALK 8.

8. ZEMAL (Interjection)

7Is:
o B QA ZENE SEUHOE AEEH 2 MAets SEHA.

e 0Of: “"Wow! That's amazing.”
o 202 A2] 7|5: B = A2 ARREX| 2.
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02
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T

Eddie: ¥0f Ho{0f] EALE X3l =2 0|R7

ChatGPT: Q0 THofol| SAIE X|Hall 52 0lf= 282 7£2f 2|0|E Fetst7 olsiste, 2 A

O MAEY = ULE 57| [IStLICE BAE XFL=MN RE|= Ho{7F 20l|M o At
= Sh=Xl, o8 THE BHojet Zete|0] 2J0|E Fdsk=X &+ ASLICh A2l O|f= th3at &
SLot.

* "The cat (F0) sits (A on the mat (HIX|ALL).”

X Olatish= Ml =22 ELIC. 2t EAEOE 7SS

o GAl:
e “She (CHHAD quickly (BA} finished (SA) her (272 CHHAN homework (FA).”

e 0{7|M "quickly”7t “finished” & +=4I510{ "®2| EWCI" = o|0|S THELICH
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o Of|A]:

o A= YAE Alotdl, BAls SAL AEAL CHE 2AIE #ARILICH
e “Ahappy child” (R8Al "happy” 7t AL “child"& $=4)
e “He runs quickly.” (Al “quickly”7t SAt “runs” & 4))

4. 0] 3%
ZAIS SasHH 22 OIS BIS o 1 THoj7t 2R OfEA| AREX| 0ISE 4 JALICH w3,
SRS PAE U OIS HES ALRE 4 | TokELICH

o Of|A|
o L “run”2 HiE i, 0|0 SAlEH= AE €™ “I run”, “You run” & 282 & HE =
UAELICH

EAE € 2| CHet 128 S = ASLILE 28 74 Q45 WH[SHAHL THHHX|5H0] ThefFet
=ds dde = st

e "The boy (F) kicks (SA) the ball (5&01).”
e "The ball (04) is kicked (SA) by the boy (FX|AFL).”

SALE oAl

1. Al (Noun):

¢ dog, city, happiness, book, teacher
2. ™AL (Pronoun):

* |, you, he, she, it
3. SAt (Verb):

® run, eat, be, have, think

4. LM (Adjective):
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* happy, blue, tall, many, small
5. EAl (Adverb):

* quickly, very, often, now, here
6. HX|A} (Preposition):

® in, on, at, under, between
7. &AL (Conjunction):

* and, but, or, because, although
8. ZEMAL (Interjection):

¢ oh, wow, hooray, oops, hey

EALE Sl THole] At 7|53 eS| fEsta, 0| Hf

=/

& 4 IaLich 012 S Betst oA S0| 73R D

—_
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[A-3] FAIE 20IL= SH
Eddie: 0] HO{S @7]8t uff At HEE /2JoF 8 WeNo| X0l Baii Musiz.

ChatGPT: €0f HHO{S Q7|8 1 EAt HEE 8| 92 A2 ih2 SQELICH ol HolS et
A olstat &t

=
A8 & QA EotF0, 2PN Ql oA AE ZE IS 7HsSH gLt &
AL EEE 29/oF e 2o tiEt O|RE R 7HX| 2FsIELICH

1. £hoj2] 2ojet ALE &4 ofsf

Z2 XS 71T ToEt: ZAt0 w2t ofn|ef Ak A0 ZHEHE = ASLICEH EALE & 2Z0i|M

=
THO17}H O™ 2|02 MEE|=X| Fats| Oae 4~ ASLILH.

o Of|A]:
e “run” (&Ah: “She runs every morning.”

e “run” (HAP: "He went for a run.”

mHE
>
i
mO
ra
[
i)
N
Ei]
)l
=2
>
=)
re
192
ok
o
_O'I_l
rir
Ral
ne
4>
4}
° 2
i
It
il
|0
HU
o
o
il
Ei]
0
o
-
0x
ek
4>
4}
Il

o GllAl:
e "Heis a good (HEA} student.”
* "“She runs quickly (FAh.”
3. &2/0{e} Hkejo] mjot
EAL HEHE 2™ F2|012t Uhe||E o & mpefet 4~ QIELICE O|= Tho{e| 2|n|E ZI0| Olalist XF

of oM AL EE & A =oFELICEH

° "happy" (%’%AI_) _ %_o_lo_l "joyfu|", Hl_l.p_lo_i usadu

18/353



e "happiness” (A} - 32[04: “joy”, BF2|0]: “sadness”

St
=

o Of|A]:

* “She loves (Sl reading books.”

n”

e "Her love (BA}) for reading is evident.

ioil
T

o Of|A]:

A}, “creatively” (FAh

=

AB - "creation” (HAD, “creative” (

=
S

“create” (

A

k1,

5}

4 &Lk Of

7| 2= F0lM

=
) =

71, %171

o Of|A]:

e "“She speaks (SAl) clearly.”

e "Her speech (A} was clear.”

g

R

dst

ol S SHtEA

=
110

0fof o|njet AHEH

=

A
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ol =20[ ELItt. SA FHE

E 8 &
%EP _Jlk_ QAOD:I 7=Ijl_|.x-lo§ 010-| %E#% %MI-M;I

—_

£ O Z0| Olafistz, Ctst 2MolA RATHA ArE
o

Ofl= 0421 ZEXI7F QUELICE 2t BHo{7F 2Z0A o

H

g~k
od
SEXl, A MEE|=XI0f w2t ZAE AEE & ASLILE CHZ2 O T2 ZALE 2Oy

EY0IM o7 A8 L= MEIS S5l FAE BHEE = ASLICEH EZ0M2| IRt = Ho{S1t

* “She runs every morning.” (SAf)

e “She bought a new runs.” (HAH

2. oo St oE
THo19| oJ0|E Sdl EALE 2O 4= ASLICE THO7F AR, Fa

o
=
HEIE LIEILHH SAf, HEO|L} HEHS LIEILIH HEAt, SEE FAI5HH SALICE

o OflA:
e "The teacher is explaining the lesson.” (ZA})

e “She is very happy.” (88Ah

hd
02
o
e
nE

El

E
S

THolo] HEH(OID)E Sall SAIE TEE 4= ASLICE 2 HO{S0| E o0|1E 712 M EF SAt=

ALEE LTt
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YA
® _tion: action, nation
* -ment: movement, agreement

* -ness: happiness, darkness
o SA
* -ate: create, dominate
® -ize: realize, organize
® -en: strengthen, widen

Al
® -ous: dangerous, curious

[
02

e -ful: beautiful, helpful

* -less: careless, hopeless

o HA}L
* -ly: quickly, slowly
e _ward: forward, backward

D
Ho
1}

J

HEOZ O A S St=X[0f Wet FAE

0Of, HO{= AtEE[= 32 BAL tidAL
= D:‘Al')

O-I X
=0 -

X
L Ve R |

® "“The dog barked.” (
e “She loves him.” (B2E0{ - CHHAp

£0E MBE|l= 82 SAt
e "He runs fast.” (SAh

4%

HEAL

o

0o

At

TARLL CHHALE £4J5H= 29

~

o "A beautiful flower.” (
, B8 MM E $Alot= 42 BA

rr

o S, EEAL CHE BA

* “She sings beautifully.” (£Ah

2
©

Tk

SR PY

Mo
1]

5. ApE o
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AFHOA THOE BOHE T ST EH019] FAteE AL O E &helet 4= /ST

Ate| EEut oA E SRStE Ax =20[ ELCh

o AHE Of|Al:
e “run” (SAH, HAp
* "happy” (B8A)
e “quickly” (A}

o EU: SAl “finished”E 4
o o0|: SAfo| 455 LiEt
o EY: -ly2 BE
o LHH: BAL
2. 2%&: "The happiness she felt was overwhelming.”
* happiness:
e 29 z0f X[2|0jl 9l

: JEiLE ZES LIEH

1o

O
E: -ness2 2

: AL

o

i
nE

3. & "They enjoy their new house.”

* new:
o E: HAl "house"E 4
e O0|: MEHLI MES LIEHA
o SEN: YHEN Ol HEY
o IHH: A}

22/353
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[A-3] EAME 2Ol = S

Eddie: suffix€ &&3510] 0| THo{Q] FAE 2OtL= YHE SAMEZ LH0{ M HHaHF.

ChatGPT: S0 o] FAE LOtUi= & 7HX| Rt W2 HO|AK(suffi)E &&= LT
Ed TO|AZE 22 1O Ho{7F o ZALRIX] A & o= AUSLICE Ofefiof Zt EAMEZ F= AIBEl=

HolALRE GAIE L0 2HELICE

YAIE TEE HOA= A, A=, E2, /18 SS HEHELIL. F2 B0|As ThEa 25U o

1]

o8

2, e, 22t

e Of|A]: creation, solution, decision, admission, explosion

® -tion, -sion:

e -ment: &P, A&, 2t
e Of|Al: development, agreement, movement, employment, statement
e -ness: &El, &
e O|Al: happiness, darkness, kindness, weakness, sadness
o -ity: AEH, ME
e Of|lAl: ability, possibility, reality, activity, creativity
e -er, -or: YK, =4

e O||A|: teacher, actor, driver, inventor, reader

N

. SAl (Verb)

SAE UEE= FHO|Ats SEO|LE MEHE LIEFRLICH =2 ®O|Als Ci3at Z25L
e -ate: WLIL} 2 S LIEIH
e Of|Al: create, communicate, regulate, celebrate, educate
o -ize, -ise: ~S}5IC}
e Of|lAl: realize, organize, utilize, recognize, advertise
e -en: ~o}7| siCt

e Of|Al: strengthen, widen, shorten, deepen, enlighten
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o -fy: ~5tA| SIC
e Of|Al: simplify, clarify, identify, magnify, justify

3. &84} (Adjective)
SHEAE TIEE= TO|AFs YALLE CHHALE 415101 M&, MEl| S LIEFHLICE =2 FO|Ats TS

e -able, -ible: 754, 5
e Of|Al: readable, understandable, possible, flexible, visible
e ous: §& EN
e OllA|: dangerous, famous, curious, nervous, generous
o -ful: 7t5 &, ~ QtSt
e Of|Al: beautiful, helpful, powerful, joyful, meaningful
o -less: BN, ZHE
e Of|lAl: careless, hopeless, powerless, endless, homeless
* -ic, -ical: ~o| HEE 717

e OflA|: artistic, logical, magical, historical, scientific

D

. Al (Adverb)

0] F, Bz, &4 SS LIEF-LICE

I 1

ol

HOAKS 2 AL Y8AL T2 RAH 52 24
A
[=]

o -y HH FE wir
e Of|Al: quickly, slowly, happily, clearly, easily
e -ward(s): &st
e Of|A|: forward, backward, inward, outward, eastward

o -wise: Al HIGE

e Ol|A|: otherwise, clockwise, lengthwise, likewise, weatherwise

Fet ol
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rlo
ial
o
=
mjn
ofm
=lo|=l
[l
2
10
HH
=
mujn
1>
Nz
Em
rr

. -tion:

o HAL action (Al2?l), solution (sl Z =)

-ate:

e SA}: create (RFZRSICH, communicate (AESICH

-Ous:

o H&A}: dangerous (188, famous

-ly:

(R

—_

o EAL quickly (HEH]), happily (=otAl)
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[A-8] THO{2] &= JtX| &8
Eddie: Tof= Pats o|n| £H9|S Bl ME2 AFREICHS ZR0)M Thojo] S42 Mz

ChatGPT: tol= E80l|M 71 7122l ojn| TRz M AFZELICL 288 F4st= HEEM Ho

= 012 7H| E42 7HX| 2 ASLICE THofe] o[2{et E42 &9l Qu|et A28 st ol %t
oAst= glLICh. ool THo{e| E4 S 02 ZHO|M 2FsHUSLIL

thol= £ Q0|2 R 2[20| ThelLIC). 2f Hoj= n&/Et ofn|E Z7HX|H, 0|2 S3lf o 2 2|0 &
o

[}
=
=
O:
Q
=
o
il
r|r
S
rir
am
o
o
Ot
1
[0
10
o
o
C
ul

3. 28 7
clofs Z8 PO mat 2o 2SS FMELICH 24 Fxlof wat tojS0| ZEE, onft Wtk
o5g uis 4 YLt

e OllAl: “She (F0{) reads (SAH a book (BX01).”
4. el vis}

THol= eV e = Qlol, O|= Ql5 EfA 7[SO|Lt o|n|7t #Hatet 4= QI

[=]
= AlA|ol| et HERZE 5D, HARE oLt 4
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e OAl: “run” (&ZH), “ran” (@A), “running” (BIXZ2A}
5. 0{2|% 2joj

2 HolE ARet o2 o|0fE X0, Ol o RhA|e| Felut AR o|ofiLTt. o] o2|H 2j0|=

2|
=AMLl ofo] @il 7| =7} Elulc.

o OAl: "apple”0|2h= Col= 3 1S o|0fRL|ct.
6. Cteldat 330129

StLtel £Ho17} 013 7kX| 2|0 E 7HA Hoj| et CHEA| M E o+~ ASLIC

5
50
0
=
o
rr
I'-IEI
12
o

=

2 2|5 71 Bof7t THE Q0|E 7HE £ ASLIc
o OflA:

o C}2|0f: "bank” (28 7|H, 85)

o S30[2|0{: "bat” (OFEAO], )
7. ARt mhdo]

&5 A(prefix)2t FO|AKsuffix)E Sl ME2 HH01E dde 4= ASLICE 0|218 HAt= HHof

9| o|0|E St HYAIZ &= JUASLICE

° El[:_*l_. uun_u + ”happy" — uunhappyn

e HO|AL “happy” + “-ness” = "happiness”
8. EAo HE gt
THol= SAMO wiet 20| Chefet AL S BlLIC). 2F FAl=s EYE 2HA 7158 7N, 289 +

Z=et ofofof] 7o{gfLict.
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o OfAL:
o HAL “dog” (AR, AME, EAE LIEHH)
o AL “run” (SZEO|Lt HEHE LIEMH)
o FEAl "happy” (BAIE +4])

o 2AL “quickly” (SAt, FEAL, CHE 2A

1

)

il

Ctol= M2 ZASHE! ol MEH X|2K(selectional restriction)S 7HX|0{, O|= oA XIIAZ 1 o|0| Q=
Zgh2 otsL|C}
o Of|A]

o XAAZR Ag: “strong coffee”

o O{M5H AT “loud coffee”

ZE

THolE ofnje] 2| |2 M, 2YH 7S, Z8 A, e Hat, o2]H o|n], Cieldit 350(29(d,
ZAter opdof, EAt0) HE AL, Zef=ar ME H|of So| EdE Sl 7ot 28S st &R
of A= §LICt ol2{et S S OlsistH THOE SN2 = AMEst0] Felstil FR¢ ofn|E M
& 5 AL

Eddie: THO{o| YENZt B3t E|0{M F7t YEE Histh= FHO|A EHofol S4= 2FoHF.

ChatGPT: thHo{e| el Hst= /M0l EHA YHL Q0|2 23st= S8 YAIYLIC o248t
el Hat= =2 00| HetE S5l O|F XM, Ol= o7t EF0AM OEA AEEX], O o|0[E H
XS ZEELICE THole] el Hal= Jo| /M St S 51, 08 7HX| £ XEL

Ct. OfeHol] THofo| HEH Hster 1 £45 XtMs| 2E5HSLIC.
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SAtE AN, 1, 4, B, & S LIEHHZ| 2IH SEF7F HEL(C

1

o N 7, 30, O[22 LIEHH7| SI3H S BE7} HELITH
o OfA|:

e SAXH: “She walks to school.”
e 17: "She walked to school.”

o SIXYZIHS: “She is walking to school.”

o WAZTIHY: “She was walking to school.”
o QUL 2= FO{Q| QAF It =0 W2} SAF FERZF BBILICE
o OfAl
e 121& £k “I am happy.”
o 32 £k “He is happy.”

0
>
rir
4
-
0
Y
oln
1o
I
m
=
N
o
_%

e =2 “They are happy.”

: SSEIQL =SEH0l| et HERZF BBtL(Ct

SEl: “She writes a letter.”

.
o
+SEl: "A letter is written by her.”

YW, T2 Sof w2t SAL Fef7t HLICY,

o HHEH: “Write a letter!”

o
o XRZAH: “If | were you, | would...”

il SEH7} LIt

o o Chpob B HEHE HBLICH
o OfA]
e [t “dog”
e = “dogs”
o =& 524 “child” - “children”, “foot” - "feet”
o ARY: ARE LIEILHY| 2o FENTF HFILICE
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o [t ARA: “the girl's book”
o 55 ARA: “the girls’ books”

AEAN= Hlugnt 2GS LIEHZ] 5 HEWZt L Ct.

[ ]
=
El
i1}
4n
=|‘|=
0z
mjo
o
El
ok
=
1)1
o
-
n

o =71E H|ug: "good” - "better”, "bad” - “worse”

— =
o E|Ya: M o[ S Hlweh mff AFZEL|CH.

o 7|2H: “tall”
Are: “tallest”

e E1Z| Z[HE: "good” - “best”, "bad” - “worst”

4. CHYAS| el H3}

i}
0Z
>
rr
N
ro
o
4>
B>
30
oin
o
T
m
i
N
0
=lo|=|

HEH7F HEL| Tt

[}
re
o2
H
15
1

b
I
i)l
ik

[
=
=

T T Y

=3
I-|7:|' llmell, "him", uhern

i e |

'IC'>I'Z||. umyu, “hiS”, uhern
o

T

5. A2 el #st
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BAts F= EAM -lyE 20IM FdEn, =5 LIEHUZ] 2ol Blug1t 252 = Haket &

St

o HEAOIM BAIZ: FEAL0| -lyS E0IM FAL HEHZ HEL|CH
o OflA:
o AEAL "quick”
o SAL "quickly”
o HWZ3 E|&a: At & H|we uf e} HfL|CE

o GAl:

o 7|2¥: "quickly”

e H|W&: “more quickly”

e Z|&3: "most quickly”
Z2
THo1o| Y Hats EF0IM FU1Hel EHA FEet o|0|E HESHE S8 SHYULICE SA, HAL,
AEAL, CHEAL, BAF S2| ZAL0IA HE| Halk= AlH|, 21E, =, &7/, H|w SS LIEILHH, 0|2 &3l &
2 O gefstil 576t 90|E 7HE += USLICH O2{eh AEl ¥istE Ofslisty MEsHA At&5st= A
2 90 2YS F2ts| FAlStE o EaHYLCt

Eddie: € M%7} inflection?] 2H7|= £910|0f?

ChatGPT: ¢ A™H2 “inflection” 2t ZI™ Al 20| UELICE. Inflection(BR)2 THH{2| YEHE H
SHAAH 2RI 7[s0|Lt Q0|8 F7t6ts 22 LEL|CEH o] PEH2 F2 00| HEIE Esl| 0| F0{X|
O, AR, Q& &~ Elf, ¥, M, 24 S2 LIEHLHZ| IsH A2 EILICE ¢ MHO|M CHE THo{e| HEl #Hsh=
2= inflection®| OI|A|RIL|CE.

Inflection?| £ &M

1. SAe| 23 (Verb Inflection)

SAe| 2E2 AlM|, o1F, &, B, ¥ SS LELY| 2[5l HatgtL|Ct

1
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° L|I‘||:
o SAXY: “walk”
o 17: "walked”

o 0O[2H: “will walk”

[}
o

»
i

& Ehs “l am”
o 3QIF Et4: "He is”

e = "They are”

° EH;
o SSEH: “writes”
o +FEH: “is written”
o Hi.
o EIMH: “She writes”
o HFHH: “Writel”
o JIEE: “If | were”

2. HAel 23 (Noun Inflection)

YAS| 2H2 2t ARZS LIEHZ| 25K HatetL|ct.

o

o Lt "dog”

e 5= "dogs”

o =& 5= “child” - “children”
o 287%:

o Chx ARA: “girls”

o S5 AR4: "girls'”

3. @8Ale| 2H (Adjective Inflection)

AEAS| 2R 2 Hlugnt Zd5S LIEZ| 2l HatgL|ct.
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o 7|2¥: "tall”

o H|g: “taller”

e E& H|WZ: “good” - "better”
o Edg

e 7|2¥: "tall”

o ZF|AZ: "tallest”

o =12 2|43 “good” - "best”

4. ti™ALe] 23 (Pronoun Inflection)

CHEAtel 222 4, 21d, &, 27 S2 LE7| ?lal HatehL|ct.

1

. A
o FH:"", "he"
o =XZA: “me”, "him”
o ARA: "“my”, "his"
o

o AL “quickly”

o HuZ &=
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e 7|2%: "quickly”

e H|W&: “more quickly”

o Z|&E: "most quickly”
s

| 20N CHE

o
9
EH0IM OZA AL

ool

Inflection THO{2| YEHE HiStA|A 28N MEQ} 9|0|E F7t5t= ™ UL|C.
Ef H5H= 25 inflection] F&|H Q! AHILICE. InflectionS OlslsH™M ¢
|0, oA CIAst EHA 7|52 sdist=X O & o|aie = ELICE 0l P EHut 23 24

= Jebs| ofslistil A E 4= A =eofELIC

|
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[A-9] SA2| 524

tH,

F=0{o| ZIEM SAte]

M5

&= SLICE SAts =2

ChatGPT

—

LIEFHLICE 2FFS

171 o SEHS S o' HEHof| A=XIE

=
T

—_
exo

LI SAEGICHE 282

=i

RITSHA| pdenq, o|n|E HEE 4= YlELIC.

o OAl:

: “She runs.”

F

ufl
K4

1

2. o|oj

| 2lofzr Z2F &L

Mx

L

EHOf| et E&2

=)

LICE SAte] S&Fet

o OAl:

Ab: “He jumps.”

o AEl SAL “She is happy.”

o ZEAQ}

H: “They can swim.”

St
| |

3. AH|2} Ef

LIEFHLICE Ol= 2

SSH dHIE

ARt Ef

SAtE

o AH:

XH: “She eats.”

o

S
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e 1}7: “She ate.”

e 0|2l: “She will eat.”

EH: “She wrote a letter.”

ol o

=
o
+SEl: “A letter was written by her.”

SAtE F02F 2HHOZ SX|5({0F fL|Ct F0{9| QI =0 X0 SAtS| FEHTt HHstetL|Ct.

o Of|A]
o Tt F0{: “He runs.”
o 5= F0{: “They run.”

SLICH SAtOf w2t 2AL HX|ALT Sof 4

O
=
rr
_lTl_
09
Q'I_I
I
Rl
0
1
il
ol
2
MO
0z
mjo
O
> -||I
][]
R
a
un
1>
30

o Of|A]:
o 7|2 Ak “She speaks.”
o EAL F7}: “She speaks clearly.”

o MM F7}: “She speaks clearly to the audience.”

SAtE FEL SEES AZSI0| S 2HE 44 + ASLLE S5E2 25 BSAMk e S
ALE 23510 2&9| 2|0|E HK S5 5 gLt

o =%t 2Zk “He left because he was tired.”

37/353



]
R

ol

f

T

ASLICE M2t 2

A
e

StA 2S

ILICt.

(]
=

<t
ELl

(@)

HE: ol=3d SAtel LY

=
L.

ol
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™
-
OH
Rl
ol
I:It
r-Il:I
La}
b}
x
L4
£

HE Jo 282 F012 20{E 7IMOF giLCt.

o FOI= EHOIM SEE FASHE AR, AlE, E= JHEYILIC
o 20|= 07t 5t= SHO|L ENE LIEFLICY.

o 22| 7|= =2 FO(S) + SAKHV) + EHA(O)RILICE

o FO|-ZA-ZEH0{(SVO)
e OJAl: “She (S) reads (V) a book (O).”

3. 2% 9¥
%ol 2FL Ul 74| 7|2 KYOR Lis 4 AUBLICE

o HME: Ar2O|Lt HEE HHELICL

e O|Al: “She likes ice cream.”

°
10

: 2ES Lok

i

|2
e O|Al: “Do you like ice cream?”

° %%E od E=IO||__|- o;c-lo o|'|__|[:|-

0

o OJAl: “Please pass the salt.”
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Yol EH2 Can 22 7d 245 =8e £ UASLICH

il
ogt
fo
Ral
tA
rir
ol
Bol

e 0] (Subject): 2&°| F
o St (Verb): =012| SZ{0|Lt AEHS LIEHH

e ZX0| (Object): SZo| Ch4

e 50| (Complement): 0L} SX0{0f| CHal F71=xQl FEE HMSE

o M0 (Modifier): 22| CtE HES 1S

OlAl: “The quick (Modifier) brown (Modifier) fox (Subject) jumps (Verb) over the lazy
(Modifier) dog (Object).”

3
Ho

EES

e CH2 (Simple Sentence): 5tLte| SEAZ LM ELICEH
e Of|Al: “| eat breakfast.”

e E& (Compound Sentence): 5 7l 0|2 =EIH0| ST EHAIZ HZELICH
o OAl: “I eat breakfast, and | go to work.”

e 5& (Complex Sentence): otLIC| SEED} oLt 0|42 SLXHEZ LG ELICE
o OAl: “I eat breakfast before | go to work.”

e =F (Compound-Complex Sentence): & 7l O|&2| =2y} 5L 0|42 ZHEE M EL

Ct.

o OAl: “I eat breakfast, and | go to work because | have a meeting.”
6. 241012 9I5|

A0j= F0F= THo{of 7h7to] IXISHOF fLICt.
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[
02

M= GAE FAGHH, BAF 2Hof| 2IXISfLCt
e O|Al: “A red (Adjective) apple (Noun)”

o RAh= SAL WA}, L= THE RAIE 41510, 2IX|= CHFELIC.
o OAl: “She sings beautifully (Adverb).”

7. gzt

o AX|: 2T AlM|7E LEEE[H RX|=|00F BfLICE.

e OA]l: “She was reading when he called.”
o F0{et SAt2| YX|: 0t SAt= =2t QF 0| LX|3HOf LTt

e OAl: “She runs” vs. “They run”

Eddie: Q0| 22X 2t P 0| A 2HKSH o|0|2 o= A RAISH0F SH=X| M.

bo|n|E g5t 32l LaSS 12{5t010F fL(Ct. ZF 47F

0|l

ChatGPT: g0 2&0f|M 2tH
22 Lol M SHIZEA| Z2H8510] T A| 22| o|0|7t WatstA| MYE £ JEE AMSH= D™ ULCt.

F

1. F0{ (Subject)

o HO|.

=

=

L. x

o Jls: =

oM SEE +sh= AR A=, 71E SYLICHL
x [
=

S f
o= EZ0IM =7t EE= RA0| S-S +™AcH=A| LBFLIC.

e O|Al: “The cat” in “The cat sleeps.”

2. 0] (Predicate)
o MOl F0{2| SEO|L} AENE LIEFALICE

o J|s: £0l= FO7} BAS Sh=X| = OfH HEfof AI=XIE 2L

o Ol "sleeps” in “The cat sleeps.”

3. 5H0] (Object) (228t A#2)
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Feo|. SEe| Y-S LiErdL Tt
7ls: M0 = F0{2] SE0| O|X|= tigS dYELict

Ol Al: “a book” in “She reads a book.”

. H0{ (Complement) (228t 42)

Ho|: 0Lt FX0{0f il F7tHQl MEE HSEL|C
Ho}

7ls: 20 22| FOILI SHOE E

Ol Al: “a teacher” in “She is a teacher.”

k5101 2|0| £ 2tX5HA| 2HELICE

0] (Modifiers) (228 H2)

ol Ci2 B2 MOFLICE
I:I

Al SAL F8AL EEE THE BALE F0{ZF0| 2|0|E F2t5HA| gLt

EhE (Simple Sentence): 5tLtQ| SEEZ FHE|0] 2bMGH 2|0|E M ELICH
e OllA]: “I eat breakfast.”
= (Compound Sentence): 5 7l 0|&2| SEIH0| SATSAIE HAL(0] XIS o[0|E MEH
LT
o OAl: “I eat breakfast, and | go to work.”
=& (Complex Sentence): 5tLt2| SR E1} 5tLt 0|42 SHEE FHE|0f bMGH 9I0|E M

HL|Ct.

g

o OAl: “I eat breakfast before | go to work.”
=& (Compound-Complex Sentence): = 71l O|&2e| S&IE 1} oLt O| 42| ZHEE FLHE[0]
I3 0o|0|2 FTHBHLICH

[ — =2 —-=2d

o OAl: “I eat breakfast, and | go to work because | have a meeting.”

QUTM K|

e B-O
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o M| 29| AlN7t L2tE|H R X|=|0{0F BfL|CH.
e OAl: “She was reading when he called.”
o FOI2} SAI2| YR|: F0{2 SAt= 42+ 21E 0| LX|3HOF BfL|CH.

e OAl: “She runs” vs. “They run”
8. M2t £t HH

o HiFE YH: TS F2 20| 7t Hid FEL 2ME HSst0] 20| Ykt gfLct

o OAl: “Because it was raining, we stayed inside.”
oAl 2 =Y 1

1. F0]: "The students”

2. &0]: "completed”

3. BH0: “their assignments”
4. $£=20]: “on time”
5

71 "H: "despite the challenging tasks.”

ghdEl 28 “The students completed their assignments on time despite the challenging
tasks.”

O|FH Z 248 12{5t0] EF2 TJ5tH, HHet QOIS HEE = A= o ES A = Us
LT}
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1. 0] (Subject): EH0M SES £lSH= AtE, AFE, = 7HE LT
e O|Al: “The cat” in “The cat sleeps.”

2. &0 (Predicate): £0{2| SZI0|L} &ENE LIEILHD{, 2E0|M 712 S5t 22 LTt
e O|Al: “sleeps” in “The cat sleeps.”

3. FH0] (Object): 0{2| SZ0| O|X[= CHAS LIEFHLICE (EQSH )
e OA]: “a book” in “She reads a book.”

4. HO0| (Complement): F0{Lt SX0{0]| CiSt It YHE NSELICH (HRst E2Q)
e OA]: “a teacher” in “She is a teacher.”

5. $24|0] (Modifiers): E&2| CtE 28 FH{F0{ 2|0|E HetsHA gfLICt (Bt 82)

e OIAl: “quickly” in “She runs quickly.”

1. £t &0] (Simple Predicate):
e OAl: “The cat sleeps.”
* "sleeps”"= He =02, FO07L FAS St=Al Y

2. 5§ £0] (Compound Predicate):

ML

il

|]:0II

e OIAl: “The cat sleeps and purrs.”
* “sleeps and purrs”"= & 202, FO07t F 7HX| SES +AS SHELIC
3. 2HH £0] (Complete Predicate):
e OIAl: “The cat sleeps on the mat.”
* "sleeps on the mat"= &% £0{2, F0{9| SA1t 1 SZfo| ANE ZF SO
4. EQsgt Ho| = o]} 2| 2HS 20
e OlAl: “She reads a book.”

* “reads a book”"= &M =02, F0{2| A1t O 20| O|X|= tHetsS SO
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27 My

It o0 57| fIsiME 2 FO{2t =07 HES| ZRE(0{0F LT, 2t 20ls ¥

(=] — —
9| 07t FAUS Sh=Xl, Ot HEH0]| UA=XIE BESHH dHsHH, ELY 4 X0, 20, L=+
AO|E Z8ls5t0] OIS 25| LICE o] 2HEoM 282 CE3at 22 2452 23E = A5
Ct:

o FO| + AL 7|2 2& 71X (: “The cat sleeps.”)

o FO| + SAI + BH0]: 02| TZ}0| O|X|= CHAL (0d: “She reads a book.”)

o F0| + A + HOf: F0{0f| CiEH 7+ HE (0f]: “She is a teacher.”)

o FO| + SAH + BHO| + $2A0: SEFO| HIAl FA AZHSE £t (0l “She reads a book in the

library.”)

Z2

Eddie: £012 A€l o018 SISt YNOZ 9IS 201 4fofm, 07I0] 20| 3
M0l X0|Z F7H5Hs WA R Hof 20| YHEICH:
i3,

ChatGPT: g0 ¢ 2 ZAI2 20(SAH)E BN 45t o7[0f =Xl =0 E F7t5t0f b4

ot 2Hoz Y 4= ASLICE 0| YHS HHAE=Z 2YstH L3 25l

1. &0f 74
20/ SAIS SAOR 20| 4 o|n|S HMLBILICE S0l F2 SAL 1 SAPH 275t &
TbEel 242501, 20| 5)7t ZFEILICE oS Sof
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o SAt2t =X0]: “eat an apple”
o SAIRt HO4: “is happy”

o SAt 7Y =X A AH FX0]: “give her a gift”

2. 2012 =H|(F0) =7}

FOHE 20| SEZ £5HHLE MEHE LIEIL = FH|QULICH 0= YA EE
Ct. 2HHE £20{0f] =HE F7to10] EES HSLICH o E S

o X0+ AD: “I run”

o FO + 5

o X0+

OlAI=

1. &

2

At H04): “The cat is happy”

(S

o 0| + £0{(SAIRF FH0): “She eats an apple”
(S
(S

2 do| 28 =M
o 1M
Tt SAE: “run”

SAteL HO{: “is happy”

SAtet 2HY =X 2 2|F 501 “give her a gift”

2. F0 7t

_?O_I; II|II, IIShell, IITI’]e Cat”, IIJOhnII

3. Foiet £0f ZE

“I'run” (FH: I, &¢: run)

"She eats an apple” (F0{: She, £01: eats an apple)
"The cat is happy” (F01: The cat, £0: is happy)

“John gives her a gift” (£0{: John, £0{: gives her a gift)

Aot 74 =x0] I 21 F5X0]): “John gives her a gift”

Ot 20|, PO 2& A2 =0E A 2 20| FOE FoI6ts SAe

O] 2ol =0l =02 =X HEE
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Eddie: €012 Af%%' o|0|E 2tdsts BAILZ TS =0 E 5, 01710 =0{2] =
HH2 FOE FII5k= YA 2 Jo| 20| 2tk 2HM g0 28 &g EAS %*

HallF. Of tH =400 Efé HHE = MAste dHslF.
ChatGPT: g0 285 Adg M, 7|22l =& F0{(S)2 £0{(P)= FHELILE. £0= SAIE
, 2o Aol o|n|E MEFLICE +A40{= Helst 2FsHH, Ch3mt

2. F0| %7k FOj £0j0] T2 Bt FHALICH FOjS HAL
e O: “1”, "She"”, "The cat”, "John"
3. F0| + £0] Zak: F0iot 2012 ZasI0] 2B LI

e Of: "l run”, “She eats”, “The catis”, “John has”

fo CiALE TAELIC

|_I'I

flo| 1HE Sall 41012 HiFEh 2t Jo E8E Ay +

SLICL 0IE =

39

"

o =0 MEH: “ryn
o FO| FI}: “I”

o F0| + 0] ZE: "I run”

EOHE o:

>

o £0] MEf: “eat”
o 0] 71 “She”

o 0| + 0] Zeh: “She eats”

A
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Eddie: =2I0{Z 2[5t 2tF et 202t FO|UC = AYE ZEH| LIS SF5IL, #XH2z Bt
= o 2tsiA 2gsHF.

ChatGPT: Z0{9t 20{ptoz T4l Zickst 252 7|2l ojn|S MLsHN|e, 250 ]S o
E2510 PHFOR B WS 0j9t 2010 LR 241018 F7HsHE ZelLICt OIS S5 23
S O B2 FHE HYSn, TAHO AHS HTE 4 YBLICH $AOIE TAI} SALS FOIF0,
20| o|0|2 S BESID B2 BHSOIFLICE Otk 0[213t $41012 ALB St o) Chst A

FOE FHFE M= F2 I8, BA, EARE SO| ASLICL

[ ]
Ol
i

dE8AL FOE O AHH = dFefL )

o 7|2 2% "The cat sleeps.”

o YA F7}: “The fluffy cat sleeps.”
o YA FO{of et o B2 YEE MSELIC.

e 7|2 2%: "The man speaks.”

e YA =7k “The man in the blue suit speaks.”
o BAMFE: F0{Of HEiLI TS 2T

e 7|2 2%: "The girl sings.”

N
Wy

2
=2
=
*
2'
f
N

=01 MHF= $40= T2 BAL BARL, FX|AS S0| SLICEH

HAL SAte| o|0|E O X2 §iLCt.
o 7|2 2% “She runs.’

o At EIE “She runs quickly.”

o A SEO| Y, &, A2t S

fjo
Jo
=2
o
-
n

e 7|2 2%: "They arrived.”
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o HAR FIt: “They arrived at the station.”
o HR|AHL: SEO| IX|, Wek SS FAIStRiLICE
o 7|2 % "He sits.”

o XA F£7}: “He sits on the chair.”

7|2 2Z0IM Ciefet =408 FI1510] E8E SR HEs WHES oAM= 2Lt

2. Fojol clist »~4of 7t
o HEAL FIt: "The big dog barks.”
o YA FI}: "The dog with the black fur barks.”
o EATE F7h “The dog, standing at the gate, barks.”
3. =0{ol clist »~4of 7t
o 2ALE7L “The dog barks loudly.”
o BAR F7} “The dog barks in the yard.”
o HMX|AR =7t “The dog barks at the stranger.”
4. TEHH 40 £t
® "“The big dog barks loudly in the yard.”
* “The dog with the black fur barks at the stranger.”
e "“The dog, standing at the gate, barks loudly.”
0|2t Z0| F0{2t =010]| CHfst =401 ZE5t0 AHHe = Bt=
T =T

T AT EoHEL(C

A Ol
T A

ChatGPT: 0|2 £0{2 7|202 EXS 1H|dlst= Hit 9|0 2AHS O ZHstD AHAHOZ ot

E = CHsh 0| USLICH of2ofl R 7kX] F7HAQl S A7HfL(Ct
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1. HEAME

HEAIE AIESH0] & 7l O|¢2| 282 A&, SEE OlO|L|0E E3E +~ %l

o &% &HAL and, but, or, nor, for, so, yet

e 7|2 2% “She studies. She passes the exam.”

HEAL AFE: “She studies and passes the exam.”
o & KA because, since, although, if, when, while, after, before
e 7|2 &% "He was late. He missed the bus.”

o &AL AFR: "He was late because he missed the bus.”

e &4 A8: "This is Paris, the capital of France.”
x

o EIE: 0|, 5H0], E= HO{E HYs5t= EE FIHeiLICh

o 7|2 B%: "I metagirl.”
o ZAE AtE: "I met a girl who can speak six languages
3. 282 7z Wl (=X, 2X)
=2 #ZE HHH Q0|E BZ5U EF BRES FEAHAA &€ & ASLIC

o 7|2 %" "He rarely goes out.”
ely does he go out.”

'Rar
o PX JE 5 HES YTIE 122 ARSI
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4. FR|Hel ofjAlet Y =t

THRE! ALt BE S F7t510

HO
021
fjo
o
0g
Jok
o]
3
a
M
1
o
o>
C
ul

o O|Al £7}F: £ AEIE S0 AYLCH
o 7|2 2% “She likes fruit.”
e O|A| &7} “She likes fruit, such as apples and oranges.”
o 49 FI}: F7H BYS Sl 2= EF5H giLlch
e 7|2 2% "He is a good teacher.”
e M X7} "He is a good teacher, always patient and understanding with his

students.”

hd

SYAMSt FHAL AL

SYAKing TE)2E £ FAHto + SAF HY)E AHE510] 22l 20| &&e + JUsLIT

o SYAL 0], SH0|, H0{Z AISELI.

o 7|2 2%: “She enjoys.”

SHAL F7: “She enjoys reading books.”

o BHAL SN, 0|, A7} 52 HHE of ASELIC

1

o 7|2 2% “He went to the store.”

-

BEAFF71 "He went to the store to buy some milk.”

e 7|12 2% "The boy plays.”
o TH|S}:

o TLHALALE: "The boy plays and studies.”

e 27t HH: “The boy, who is only five years old, plays.”
e X|: “Never before has the boy played so well.”

e O|A| =7} “The boy plays games, such as chess and soccer.”
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"

e SHYAL “The boy enjoys playing outside.

n”

o 2HAL “The boy goes outside to play.

<

= Al

et £0[2t

TCHE A}

=
= —

HA: chatGPT

=
L

52/353



SAte O AL 2F5t= BaHel 2 dE2=2 T ELT 2tFst 20
=t
x|

ZIA
S
= TS OTE YEHo]| A=XIE H25| LIEFHLICE

1. F3M(Main Verb): 282 stid] SZ0[Lt JEIE LIEIU = SAL
o

x}
2. 3 8&: SAVI 75l Bl 28 4E(EH0, 20 §).
012 Z&S Sall 2Te =02 HolE FHHez AU EASLIC.
e 20 LICt. O] 282 F0f "She”2t =0{ "runs”" 2 Y&, O

e 07|M “reads a book”O| 2tFSH £0{RILIC}. “reads” = SAI0|1 “a book”2 11 SAt

e OfAl: “She is a teacher.”
e 0{7|M “is a teacher” 7} &tTSt SO{RILICE “is"= SAI0|11 “a teacher"= 1 A7t 2
T5h= Ho{L|Ct.
4. 0|5 SHO|E =glst 2Anst £0]
ift.

e OAl: “She gave him a gi

"
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e 0{7|M “gave him a gift"7t &t £0{QILICE “gave”&= SAH0|12, “him”2t “a gift”

= 0 SAPL @78t F Jhel 2xoLint

2kH

o

£0j2| 74 24

o SAl (Verb): 02| SZO|Lt AE{E LIEFAL|CE.
e Of: “run”, "read”, “is", "gave”
o ZZ0{ (Object): SZ2| Ci&S LIEFHLICE
e 0Of: “a book”, “a gift”
e HO| (Complement): FOLI S E E5 HYFIL|CE

e Ofl: “a teacher”, "happy”

Z2
et 20 SAtRt O SAVE 275t E 4222 FYEH, 4017} glol: 282 7= 2|0
= 5| MEE = ASLICE Of={gh 2Hel 0= B2 dyHel REC =, F0/9F Z&lsto] 28

lo
ra
-
PA
o
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Eddie P8 3 = verb usageE &7(5t11 Ql0{0F &t O|RE MY

ChatGPT: SAI &8 WtH(verb usage)2 &7|ot= A2 GO &t50A O1R ELELICE SAk=E 2
ol pl QAZN, SAHEEE Hets| 2 AI8st= A2 EHAC R SHIE E&2 st Het
ot SOl O[AAE S TtsotA &iLIC CHE 2 SAH 28 WS 7|o|of & O|RE HYst=H

SAt EE2 ANE S3ll AAO|LE SE2| A[ZHY 2|X|E LIEHHLICE. ANIE F2s| AL8sHoF 282
=

282 E
o|0|7t HetshX| 1, SXLE MX[7F SHIZA| Olsi e 4= ASLICE
o Of|Al:

o X A|A|: “She runs every day.”

o It AlA: “She ran yesterday.”

o 0|2 A|A|: “She will run tomorrow.”

SAts F0{ot 913 W 40| UKIS 2FBLICE OIS HEHS| Ux| D510 PUHOR S2I 2HS OIS

= = Skl
Al ELCt
o OJAl:
o Lt FO: “He eats.”
o =5 FO: “They eat.”

SAH HB2 SR SSEHS Sof F0I9 X AO[9] BHES LIERALICE £SEHS FE5| AG3
=
=

a5t e = ASLIC.
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o Of|A]:

SEl: “"The cat chased the mouse.”

=
[S)

e 3FEH: “The mouse was chased by the cat.”

~

.

o
=

53]

o Of|A]:

“to run”

e =

llranll
o MHEAL “run” (has run)

&;

o 1A

5. ZSAMete] Zst

SAtE ZSAte Zef5t0] 7tsd

5t ZhSLC.

e — |
ST

=E

=E
=

=29l 2|O|

o Of|A]:

e 7}sM: “She can run fast.”

e 2|&: “You must finish your homework.”

= gct 7H

2t of g

S

PSRN B2

o O|Al:

"

o ZZZ: "If she runs, she will win.

o 7PY: “If | were you, | would go.”
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=)

o

o

0|

o

=l

make up” (
S&2: “She runs and jumps.”

1

e "take care of” (EELC}H
e Z22: “When she runs, she feels free.”

e Ci2E: “She runs.”

o Of|A]:
o Of|A]:
2

i
ol
X
1
o

ol
ol
Bl
10

0p0
ioffl

=
m

ote 2E HH0M S
0] ArE0]| =2

L

—

LIC}, 2t HOE B R1 AL

3

(=]
40| E&l 0| O}, verb usagest

o

o

Mo
=

HA

°

—

=)

=7t

E
S

O|ALA
2 0td. chatGPTC

CH
(=]

HIA™. o|=35t i

HOF

=
L.

=0

ol

zoy

e

[=1
=

S
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SAt|

.
.

ChatGPT:

F0{2F SALALO|Q] 2t

CEESS

AGLICL Ol= F02F SAF HZE

i

L{Ct.

3

S
=

| AFEEI=S

5}

Sk,

f

o Of|A]:

: "She gave him a gift.”

|.

guiE 2

n

‘She gave to him a gift.

1

=] .
=&

2Rz

2. ojo] Mg

Xt
A

o 1x= 22 FA7HofF

Ol= =AtLt

(!
ol
&J
ol

o

X7}

o Of|A]:

Het5t o|0]: “He explained the problem to her.”

o|0]: “He explained her the problem.”

I.

S
[ —

I

=)
2l

4

O

=
=

o Of|A]:

: "She reads.”

: “She reads the book that | lent her.”

kS

J

]

4. SAtojct 27
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SHIEA| A + USLICH

2H SAE

= EH__l El’. O|E'|3I_}' __I'I'_JF_% IO-li—!-él

0

o O|Al:

n

SAb: “She enjoys music.

SAt: “She is a teacher.”

mj

5. 2o]] ek

Of =5 LH 20|l 2t SAE H

A
=

ol
K
ofl

Al =obELICt

5}

o Of|A]:

t =: “I heard you got a new job.”

4

=)

oI:H

% "He mentioned that he got a new job.”

MO
=

o Of|A]:

"

o X7Z: "If she studies, she will pass the exam.

n

o 7FY®: “If | were you, | would take the opportunity.

tA|

Ll
[

20| ZQBfLICt. O]= F0{2t SAtS|

o O|Al:
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SEl: "The chef cooked the meal.”

=
[S)

o +FEl: “The meal was cooked by the chef.”

e O =282 ELUCHL

o Of|A]:

: “She started the project and finished it on time.”

"

1

: "She started the project and was finishing it on time.

]
R

It ASLIC.
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[B-2] EAI HHE 826 2tMsH =0 ufel Wt (verb usage)
Eddie: 2A10{1Z H|Q|5tT ZA} HEE 22501 2HM5H 20 X0 Z3tEl ZEQAS njolshs it

= 2EahF.

-_—

. SM(Verb) 2l

EY0M SAE FHotLh= Z10] 2 e HHAULICE. SAks 2ol iy QAZM F0{9| SHOILL &

EHS LIERALICE

e OfA]l: “She gave him a book.”
e 0{7|M “gave"7} SAILILCE,

2. EAt0| 27 7 g0l
SAtE 27| T2 27 X8 JHUUC 0l 50|, H0| S0 T4 422 THE 4 YBLICH St
7t ofid xZ QTSHER| SHQISHE 200] SRELICE 0/ 93 MHOILE 2 NRES D 4 Y&
Lict,

o OIAl: “gave”i “FO| + SAF + ZFHRH0| + HPSRHO|” PAES QTBLICE

3. 2% 24 A

SAte| 27 20wzt 2H0| TaE T4 ARS AEEILICH F2 SH0j9 HOIS 3= TFYL
=3

SX0{(Object) A4
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2
rir
Of

Ate| SZH0| O|X|= CHAS LIEMALICEH SAHL EFSAl(transitive verb)@l 42, S&0{7}

e OflA]: “She gave him a book.”

e "him" (ZIEZEH0), “a book” (RIHZZ0)
H0{(Complement) 4/

NEQLICEH F2 MEff SAKlinking verb)Lt 22t EFSA

Hoj= FOIL} SHOE B35 HYsh=
t HO{E Q7 §fLICt.

(incomplete transitive verb)”’

e OJAl: “She is a teacher.”

e "ateacher”"7t TAEHOQL|CE.

e OfAl: “She quickly gave him a beautiful book.”
o =20 “quickly”@t "beautiful”& M7H5IH “She gave him a book.”0| EL|Ct.

stol

5. B4 4

r-IlI

SAe| 2 =0 WEf 0, SAL SO, 20| S| 5 JE0| SHIEA ALZEIR =X 2elgfL|ct.

F&t oAl

1. 2% "The teacher gave the students their assignments.”
o SAIAE: "gave”
. EAl2] 27 X #ol: 70{ + SAt + ZFIRH0] + MFRH0f
. B oaNE
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o ZF0{: “The teacher”

104: “the students”

n”

O1: “their assignments

"

0] 41X: “gave the students their assignments

2. 2% "She is very happy about her new job.”

I_ éluaj. llisll

sA

g
<l
4
od

e

ok

o F0{: "She”

e HO: "happy”

0] H|7: “very”, “about her new job”

n

3. & "They consider him a great leader.

o TAl MY “consider”

o + SAt + S0 + SHAE0

g
<l
4
od

e

ok

e FO{: "They”
o ZHO0{: "him"

e EXZAHO: “a great leader”

ol HA: gi=

<l
<+

n

0] 3£Z: “consider him a great leader

]
R

i

ol

H.

h M

1=
o5

Eddie: SAI2| 27 &0
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ChatGPT: SAlS] @7 AxE 7t SAZH 2H0IM Hes Ha 428 WL o= SAL 230
L=

SAe] 27 7XE olsfstH 2

M ojH 2& 4E(F0, 520, H0| §)2 ZQ=E st=X| Z2-etL|C.

M2 BHANO=Z SHIEA st 2|0|E YetstA MEE & QELICE of2iol| SAIe| 2F 2ERE
XtM[o| MHsHIELICE

1. XtSA} (Intransitive Verb)

AtSAts FOEHEQZE 5t11, SHOLE HOE EQRE ofX| b= SAQLICE XtSA= o SE0|

Lt SEHZES LIEFRLICE

o Of|A]:
* “She sleeps.”
e “The sun rises.”

® "“They laughed.”

2. E}ZA} (Transitive Verb)

EtSAl= SE0E SARLICE O] SAe| %2 ta(5H0)E 222 gL 550

— o =

rIr ruF|
H1J
el
rir
rir

SAte| &iR|7t O|X[= CHaS LIEFHLICE

o GAl:
e “She reads a book.” (EH0: a book)
e "He bought a car.” (380]: a car)

e “They watch movies.” (8%0{: movies)

3. 0|Z=HMO|E 7IX|= EISAL (Ditransitive Verb)

OIZSH0IZ JHR|E EFSAHE 5 | SHO|ZHESHOlS TS XS TRE FLICt 0| FL 2
MRH0l= S| 23XE, HHSHOIE SAO| TS LIEKHLICE
Y
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e “She gave him a gift.” (ZIF&EZH0{: him, ZEH=H0: a gift)
e "They sent her a letter.” (ZFE=H0]: her, Y ZH0: a letter)

=]
e "He taught the students English.” (ZFESF%01: the students, ZE=X0{: English)
4. 22H E}S AL (Complex Transitive Verb)

St EtSAtE SX0{2t 554 HO|E ZR R stz SAILICHL S8 Hojz SXE HYs7ALL

HSect.

o Gl
e “They elected him president.” (F&0{: him, £&Z4 H0{: president)
e “She considered the project a success.” (FX0]: the project, &4 H0{: a success)

* “"He named the baby John.” (5X01: the baby, &4 H0{: John)
5. ¢1Z SA} (Linking Verb)

%17 SAH= F0I9t 37 HOIS 917t SAIALICE 2 B0l OIS ML F0jo| MehS

LIEFAL|CE.

o OfAL:
e “She is a teacher.” (24 E0{: 3 teacher)
e “The sky looks blue.” (74 20: blue)

¢ “He became a doctor.” (£4 E0{: a doctor)

o
I
kT
>
i
e
[0
Hu
_OII_I
rir
o

Al (Prepositional Verb)

HXAE HQE 3t SAts SAR TX|AZE Zet5t0] £ 2|0|E LIEH-HLICE HX[AL 7o L=
YA TRt SZ0{7} ElL|Ct.

o OAl:
e “She listens to music.” (HX|A}: to, EH0{: music)

e "He depends on his friends.” (AX|A}: on, SX04: his friends)
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* "They agreed on the terms.” (MX[A}: on, SH0]: the terms)
7. &SEl| (Passive Voice)

TSH= SAL| 27 x5 HYsI0] S| te(FH0)0| 28| 0 Af2|of| LE=S gfL|C. ofm,
SAt2| HE= "be + THEAN T} |0, 2] FO{= HXIAL "by” o SH A2 AUSLICH

o Of|Al:
. EH: “The cat chased the mouse.”

. El: “The mouse was chased by the cat.”

SAle| 27 X et oA

o XtZAL: “He laughed.” (F0{ + SAh

e E}SAL: “She reads a book.” (F0{ + SAt + 2X0)

o 0|ZEX0] E}FAL “He gave her a gift.” (F0| + SAt + ZHEHSHON + HFHSHO)

o E2tH E}ZAL: “They consider him a genius.” (F0 + SAt + S0 + 54 H0j)
o Q1A ZAL: “She is happy.” (RO + AL + 2 H0)

o MX|AIE HQR 5t= AL “He looks at the sky.” (FO + SAL + HX[AL + SH0)

SAte] @F FEE SADL 2RO LR she T4 HES LIEHILIC 0= 22 BYxoz 2
Hh27 25D o|0|S kA Fetste ol LAMILICH SAtel SR mat :0f, 2x0f, Ko,
HAANT 52| T4 MES mtotstn 2627 ALRsts 20| ZQEHLICH

THIE: e onjoME StoLt 'SAte] @7 X7 21017
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[B-3] CHA 7| Ralo] ekHH 20| 7%

Eddie: LI 7HA| Rdol 2tHet 20 12E HEsHH.

i)
N
x
-
b
N
o2t
1o
o
rad
9,2
>
2
-
P
mufn
mx
02
ol
;g
o>
=
ul

1. 30 + SAL(S + V)

O] =& XtSAHintransitive verb)E A8t 2=, F0{2} SAITICE 2tXst o|0|E MY
USLICEH SA= SEHOILE HEfE LIEILHDY, 7180l SX0LE 20{7t 261X 5Lt
o OAl:

e “The sun rises.”
* “She laughed.”

* “They swim.”

2. F0] + M+ 5H0 (S+V + O)

0| :X &= EtSAltransitive verb)E AI2SH 2O 2, SAZ SXUE 2R =Z §L|Ct SH0f

o| S%0| 0|X|= S LEFHLICE

rir
Of
Rl

o OJAl:
e "“She reads a book.”
e "He wrote a letter.”

e "“They build houses.”
3.7 + A+ FHA B (S+ V + SC)

O] X £ AZA SAklinking verb)E AI8St BEICZ, AL 4 HO{(subject complement)E E
2 f

=
Q= gLt =4 B0 F0{o| HELt Y= 2L
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e “Sheis a teacher.”
® "“The sky looks blue.”

* "He became angry.”
4. F0 + SAL + S HO + HHYEFHO (S +V + 10 + DO)

= = EtSAH(ditransitive verb)E AFESt 2RO E, SAZ & 712 2XOE
L= giLict ZHESH0= S22 £3{AIE, AESX0= SAQ| theds LErHLTE
o OfAl:
* “She gave him a gift.”
* "“They sent her a letter.”

e "“He taught the students English.”
5. %0 + At + X0 + SHA HO{ (S+V + O + OC)

O] #x&= St EtsAHcomplex transitive verb)E Al8S E2E2 =, SAZI FX012L 5K 4 HOJ

(object complement)E EQE &L|Ct SXA HO= =X0E dYst7 LI ES8iLICt

o G|
* “They elected him president.”
* "“She considered the project a success.”

* "“He named the baby John.”

1. S+ V (FEH + A
e OAl: “Birds fly.”

2. S+ V+ O (F0| + SAL + X0
e OAl: “She reads a book.”

3. S+ V +SC(F0| + SAl + F4 HOj)
e OAl: “He is a doctor.”
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4. S+V +10 + DO (F0| + A + 71

e OA]: “She gave him a gift.”
5. S+ V+ 0+ OC (F0 + A+ BHN + 2 H0)

e OIAl: “They elected him president.”

Z2

ZE F02F SAL 20 SH0q, 20

b= ol 2+ YLC

o

HFZH| FAL

t

f

ol
o<

=

—
{[e]
iy

-_-—
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o9 7|2 B FEE FO(S) - SAKHV) - SHO(O) =AM 2 BIFELICE. o= 7+ 2ErHel Big=

o|nf7t HetstA MEE== gLt

e OAl: “She (S) reads (V) a book (O).”

2. HjE =M R

Jof EZ0IM = Chfet BiE =AM7F AFZEILICE 01710 = 0, AL, SX0{, =20, 2710

EEI=g

m
r
ot

1.S+V

i
>
o
_o'h
rr
[
02
=2
>
rr

X}&AkKintransitive verb) =09} EAIOtO 2 2XH0| RFMSH|C}
e OIAl: “The sun (S) rises (V).”
2.5+V+0

El=Attransitive verb)E AlEste 28 0|A= SX0{7t Z§tL|C}.

o O|Al: “He (S) reads (V) a book (O).”
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3.S+V+C

AZ SAklinking verb)E At&st= 2&0M= F4 E0{(subject complement)?t EL8fL|Ct.

e Of|A]: “She (S) is (V) a teacher (C).”

4.S+V +10 + DO

O|ZZ2X0{E 7}X|= EtSAKditransitive verb)E A3t 2E0|M= ZIHZ2X 0|9t ZIM=2 X 0|7 &
QEtL|Ct

e OAl: “She (S) gave (V) him (I0) a gift (DO).”

5.5+V+ 0+ 0C

S 2 EfSAHcomplex transitive verb)E AFE8st= 2F0M = S20{2t 54 Ho{7t HFL(Ct.

e OfAl: “They (S) elected (V) him (O) president (OC)."

3. B =ME AI85t= Ol%

Jof EZ0IM Olz{et HiE =ME AtESH= OlRE CiEa Z5LTh:

1. ekt ojn| Mg
23 e = :

20| NFE HIE =M= 2ol o|0|E HES| MEStE ol =22 SUCh SAL Xt 2%
=
=

e O|Al: “The cat (S) chased (V) the mouse (O).”2 “The mouse (S) chased (V) the cat (O).
"1t Mo CHE 2|0|E 7HELICE.
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o =85 SLC.

L=
—

P

MS

At AL ZEE e

AL xe

5}

0f, AL, FE0] =22 BIEE[0] A0, MZ2 HO{E 7t

Kk

= SVO

o Of|A]: &2

£ gLt ol= &3]

57 4

St

SiIM = O

o] &

I5| RX|ELIC

Lis
3 2l

]
R

0{(S), SAKV), EHA(O), E0(C), F7I0{(M) 52| =M= HHEELI

ZIA
=T

b=l

5}

o 2HS SHI=A AL

=
=

ol AFZELICY. Of

Fst7] 2

HLc.

o 7

S

HIAl
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F0f= 20| S22 SABIILE AEHS LIRS FRILICH £0i0] oj0|2 245t7| i3 ot T
270l Q29lL|CH Z0{7} QoW 2047} L7} E 20| SAHS 2L Mol U=KIS B

e OAl: “The cat (0]) sleeps (&01).”
e 0{7|M "The cat"& SZHEAICHS +&sH= FH|QLICEH

2. &0{ (Predicate)

20l SAIH 0 SAD 275 B4 HES(EH0|, 20| 5)2 ZFsi0] 2H| F2 o0jS MY
SR ELE

LIC} =0i= F012F 2850 282 TA| 2[n|

e OAl: “The cat (0]) sleeps (&01).”

e “sleeps”"E= SAE, £O “The cat"d} 250 22| o|0|F 2Hd3iL(C,

3. 2H0] (Object)

SH0 = SO Y-S LIEHUH, 0t SAte| 2HA S 2Hdst= Q8 AL S BILICH EfgAte =
HO|E Ee= 510] SE0| F0]| deks OIX|=XIE HEals5| gfLict.

o Of|Al: “She reads (£20{) a book (5H01).”
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e 0{7|M “a book”2 SZ(reading)2| CHAS LIEHIDY, £0{2| 2|0 2tdfL|Ct.

4. B0 (Complement)

Hoje FO|L 2O E 25 MY AEIE LIEPALIC HojE T2 HZ SAklinking verb)2t
SIH AFEI0 0Lt FHO{of| THEr 7t HEE HMS ettt

F2 50| (Subject Complement)

77 o]

rr

o

I

HE 5L F0{2f EHE LIEFALIC

o O|Al: “She is () a teacher (4 HO).”

e 0J7|M "a teacher”= =0{ “She"= HZ M0i510{ 20{0| o|0|= HAIEH|C}.

[ ey =

=HZ 50| (Object Complement)

=7 Rof

g

rr

=50f

i

HE 5Lt HEE LIEHLCY.

OflAl: “They elected (£0) him (30]) president (54
e 0{7|X “president”= FH0 "him"&

— 11

0q).”

=ag
H5 Muisjo] £012| o/0|S eHBHLICE

o FO| + SAL(S + V): FO{= SALS| ARIXILE JEHS| FH|LICH.

e Of: “The sun rises.” (F0{: The sun, SAl: rises)
o O + SAL+ FHO (S + V + O): TOE SA| AKX}, SH0= S&HQ| CA LT
e 0: “She reads a book.” (F0{: She,

ZA}: reads, X

, BX0{: a book)
0| + AL+ FF BHO{ (S + V + SC): F0{= SAte| FH|, =4 o

£ T E 257 HEY
£ LIEFRLITY.
* O: “She is happy.” (F0{: She, SAt: is, &4 E04: happy)
F0o| + SA + ZHESHO| + HFZHO| (S +V +10 + DO): F0l=

SAtol 9|x}, ZEH 2o
Sxtol harelLict.

b B |

= sxto| 4%}, FHBH0f=
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e 0Of: “She gave him a gift.” (F0{: She, &AL gave, ZFE=H0{: him, 2™ SH0: a gift)
o FO + SAl+ S0 + SHZA HO{ (S + V + O + OC): T0{= SAIS| QX 2R 0= SO
A, S84 Hols S0 E E5 Ayt

o O: “They elected him president.” (F0{: They, SA: elected, SH01: him, EXZ HO0:

president)
2E
2T 22402 0f, £0f, SX0{, 20{= M= Z&st0] 2012 2[0S AGRILICEH F0= SEe| FA|
S LEHH, SH0j= K| tdS LIEHN, 20|= F0lLt SH0E B3 2L ol2{et 24
Sol Zigte £3) 2H2 exis 0| JpA| ELICH 2 gDt o] B 98 2t 240|
2t 2| E Olstists Aol SLELICE

ZHIE: ‘2012 ojn|E sttt = 2FO| Ot MHO| LEE|] QSO FA|)

75/353



[B-6] L} 71|

Al
(=]

o]

H.

Eddie:

S

= H|u

ChatGPT: 0 Z49| C}A 71X

FElE ZHEL|CE 0|2 H|waE &Lt

pN =l
O -

LICt.

(=13
=

o 2N A0 ALZ0M O{EH SALZL

LICt.

o CiQBHEA PZQH T EAH T

o O3zt &

PAl

o TAIRtO 73 Fx0f chst

AoflA of2= 4 ASLIC.
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| (The Five Basic Sentence Patterns)

siA
&4

2% 5

nE
1K
ol

nJ

P

1

]

Rl

HA
o HAZHO|

2.

b40| RAIELICE

Ll
—

110

Ki

ok

od
Rrr
K

Aoz H|

=)

o ZEE LM 7K

LIt

4|
0%

<F
Ol

£ CHR7| o

g

S|
&1

X 210] AFg2te] x}0]:
o AH| A0 ME0M 2

2.

3

| 2% IELFSAIS] @7 XS B2

O
-

o HOtMEF

J
R

=0

KHol| A

I
o

il d!

fiu
Kd

St
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ol

00

ok

Ct. ®A =0

ol
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A

ol
ol

Eddie:

H.

5

M A

=
1o

A1
o
0
.

i]d

2t

ChatGPT:

)2 MESt, 0

=
S

o QAS(F0, AL, FH0, 20

LT},

n
__O;

XtM[H AlD

ot

S

Felofl o

5]
__o._

0|24t

=
—

ofzH

1. 23| Fo|(s) 4

SEE FAstALE HEIE LiEtU= FHILICH

o

e OfAl: “The cat sleeps.”

° _7'c_o_| “The Cat" (u_—’L%polu)

2. SAKV) A8

LtEFAL|

02| SEO|Lt HEHE

P
e

Ct.

e OfAl: “The cat sleeps.”

Hct)

llx
—

n”

AL “sleeps” (

=
S

ILICE Ol= SAZE

15
Al

oz o

o] %7

5}

SAle| @7 XS ot

ojn

e OIAl: “She gave him a gift.”

Al “gave” (7% #&: FO| + SAE+ 2t

=
S
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4. 2X0{(0)2} H0{(C) Al¥

SAZE SHO|L EHE ERZ 5h= E2, 0|12 AMEELIL). SX0= SAte| 20| 0fX|= theS Lt

EtLiD{, H0{= FOILE SHOE 25 YLt

e OIAl: “She gave him a gift.”
° I7_|-I-Igj£-||0_|: “him” (::10“7_”,,)

=}
° Z!E%&!O‘l; ua glftu (llﬁ% 6|_L|_ll)

(9]
ro:
H
2
Ho
0%

TZOf| A v E

G| ZEC| QAE =0 2 F0 XA HiZefL(ct

o
H
2
rr

A

e OIAl: “She gave him a gift.”

e F0f: "She” ("O{E")

o ZHEHEXO: "him” (“20|AH")

o ET=EHO0: "a gift” ("MZ SILI")
o IAL "gave” ("FRILCH)

rol

b=0] BiE: “Jdl4= J0i|AH M= SHtE FACE”

6. MH 2= At

|>

A M

o

=2

rin

QA

fi
roe

=0 SO XA i Eet =, XA Hatsto] st

e OIAl: “She gave him a gift.”

o XAAZR ot=0{: "Ild= J0|AH M= SHIE FUCE”
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o A0 & "The cat sleeps.”
° _j'Q_O_I: “The Cat" ("__’L%kolu)
° %Al_: llsleepsll (llxl_H:I_ll

)
o 5tZ0f 2&: “1Y0|7} Lt "
GilM 2: EFSALE Z&st 2%

o 0] 2" “She reads a book.”

= )
° %Al_: ureadsu (“g'lfl:l-”)

=

—_

o 40| 2% “She gave him a gift.”
O_I: “She" (HJL:IE”)

.
° %Al_: llgaveu (“%c—?il:-l'")
7

o ZFEHEEO]: “him” (“J0")
o NH2EO|: “a gift” ("M iLI")

o Bt=0f 2F: "= J0|AH M= SHtE FRUACE”

=

OlAl 4: =4 20{S =385t 28

o A0l 2% “She is a teacher.”

GlAl 5: 2X2 Hojg Z&st 23
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"

o & “They elected him president.

%I

c})

03

Kl
X

Al “elected” ("

=
S

o =MA HO: "president” ("LISE2E")

]
R

ot

Ct.

HA: 202 Al

=
L.

H

training biasZ %

[=13
.

NP

5}
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Chapter V. &0{7} 7|2 M| &5t= M EHQ| njet

[1] 71 HH =2819| 0|7
Eddie: 017} AIH|, B, ¢t Fofe| £8 H3isio} st 0|98 M.

ChatGPT: £0{7} A[H|, BN, &, 22|11 F0{2| £ HB5H0F 5t= Olf= 2&2| /0|2 Hals| M

St EHA Hetd 2 HEGH| QISiMAULICEH 2422 A= 2He| EXst SHE CHFEH, 0| Sdlf
SALE ZX7L 2FC| MA|XQl 2|0|E FEts| OfsEt o~ A BLICE. Of2iol| A XtM[s| MHESHISL
C}.

1. AlA| (Tense)

AMAl= S2O[L AEf7F Lot AZHS LIEFALICEH AIKIE Sl AtZ10| K| H S =X| Hets| & 4~
USLICEH

o Of|A|

e SAXH AlH|: “She reads a book.”
e 171 AlH|: “She read a book.”

0/2§ AlA|: “She will read a book.”

Olf: ANIE Sall AHd2| AMZHA 2IXIE Fets| 5HH, ALt FR7E ARAQ] &=AQF A[ZHE B2HS Of5H

al
e 4= AFLICL 0l= 0[0F7|2] S5 metst, AlZhof| IhE Arzie] TIHE Ofah5h= Hl SQefLitt.

2. Ef (Voice)
Ele S22 A2t tiehS LIEIH = YWALICH SSEiet +SEl= 2Z0IM F0{2E SEF ALo[2] 2t
£ Yels| Lot
o Of[A]
o SSE: “The chef cooked the meal.” (FA|: The chef)
e FElf: “The meal was cooked by the chef.” (CH&}: The meal)
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o
I
0z
fujo
02
fo
ol
ol
i
1
Ral
i
0
Ral
N
_|
)
o°="
rIJ|0
00|I
el
d
I
N
|
og
Ofn

o Ptz gt=X| OfsiE &~ QIELICE ol 289 9|D|§ YatsiA ™ 3f-_’L, Atz1e| olnt ANE nf
otste= o =20| Lt
3. ™ (Mood)

T2 SEOILE HEof st 2HXte| Ef=E LIEFRHLICE 2 dY, Y, 718y S2 282 S5t stxt

o OflA]
o ZIMH: “She is happy.” (At Zl=)
o HHH: “Read the book.” (BH)
o 7FYH: “If | were you, | would read the book.” (7HS)

olg: 2 S3 aixtel ElTot 230| SHS Hats| 518, SAILL HAH 2F0 oot siatel AHS
C

H=
Ol3fiet = ASLIL. Ol= B, 2F, 7Hd S Fesh MHsts ol SQELICH

4. =02 £ (Number)

F02| £ Tt S5 FHSI0] SAIS| HEE ZHEILICH F0Q SAIS| YX|= BHAOZ SH}
E EAZ 0t = O 25H QLT
o Of|A]
o Lt FN: “The cat runs.”
o 24 FO: “The cats run.”
| 02t SAtS| £E YUX|A 7 2E S BEHAEOZ 2HIZH 2Mo1H, SXLE XL 239 X
ot o|0|E Mets| OlalEr 4~ R/UELICH Ol 2| Hatdut EHA Azt S HASHLICH
s
=07t AN, Elf, ', 02| £+ HES5l{0f 5t= O|R&= Chadt Z&LICH
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Eli: 2o FHet tidE E

B w N

o
H: ShAte| B2t 22| S S TS| 510 SfAtel o|oF FX S O|li5t=E S5LIC
Foj2] = F0{Qt SAS| EX|E

Hets| olalist=E S5LITt.

=/ Hdd

Soll 2&S 2HNo= SHIE| 74510 22| #xet 20|E

=39 Haldnt Fatds 250 2ntEQl oML ES 7Hs3H LIT. 0| S

=
=
=2 o|0|E 2Lt HetstA MES, SAL FR7F 2EE 2 olsie = A=S gLt

2R 23 o|=aiE o] ofd Oz, ‘20| o|0|S Yaks| MYBICH B2 RN HEMS o

[~
ASICH Alnt 22 Zabeiel 0[op |2t W2l
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[3]1 7t & ZHE 28t SA2| U 71X el

ofe] 48 Ea5H7| I 2= U U7X Hele] ZRE M
1T

Eddie: 20{7} AN, B, H1t = 5
E T3517| QIS U] 71K SEl|2 &t2st= gittof| ZsHA] XEMISHA A

0, A, B, 8 2 Foje| 4
=L

ChatGPT: Qo{ollM SAt= AlA, BN, &, 0{2| =5 HBI5H7| lal| Ciefet FEHE A1 ASLICH
o

0|2{3t HER= SALZE 2FOIN SHIZ o|0|2 Hetstn 2w

Hu
0
Jfok
—OTI—'
)
>
o
1
4> ¥
30
H
I
|.ﬂ
O
iz

LICE SAte| Ul 7HX| 7|2 YEHRt 0| 2310 AN, B, &, F0{2| 5 EJI5h= YHS AM5| 4

1

sl ASLIC

SA2| 4| 7tx] 7|2 el

1. 7|28 (Base form): SAtS| ISOZ FZ AFHOM 32 £ = HEHRILICE
e 0O: run, eat, be, have
2. B7HE(Past form): 2t A|NIE LIEHH= FEFQILICE.
e 0l ran, ate, was, had
3. THEAL(Past participle form): 212 A|H|2} $=SEHO|M At El= HE{RILICE
e 0Ol: run, eaten, been, had
4. $xHE AL (Present participle form)/SYAI&(Gerund form): ZI&S A[X|Qt SHALZ ALE
El= HEfLICH

e 0Of: running, eating, being, having

MA| =8

AlRl= SEO|LE HEHZE 2HEE A[ZES LIEF-LICE 7|2t 24, SIXiEARS, 2AZEAREE ALESt

S, 2

o S| AH|: SAIS| 7|2 E= 3Q1E HEYE AZEILICL
e 0Of|: “She runs every day.

o A MM SA2| AHYHS ArSEiLIC
e 0Of|: “She ran yesterday.”

o HTTBY: SAlo| 7|2H0l “be” SAL]

[ =)

SAXH S (am/is/are)t SRHEAIH S ZAetetLiCt.

ol
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e 0Of|: “She is running now."”

o MAHZISMS: SALe| 7|2H0| “be” SAI2| 2HY (was/were)t HTHEALES ARBILIC
e 0Of: “She was running yesterday.”

o BXYRARH: SAte| 7|2H0 “have” SAIC| M&(have/has)at AHEALES AReLIC
e 0f: “She has run three miles.”

o MAHAERH: SAt2| 7|2H0| “have” SAC| 2AHE (had)dt AHEAIEE AgtRiLICH
e 0Of: “She had run three miles before dinner.”

o OJ2 AJH|: SALS| 7|2 A0 ZSAL “will"S AFBEILICE

e 0f: “She will run tomorrow.”

El

b
et

Ef= SEe| FH|2t S LEHE SAYLILE SSEfRE +SEN7t ASLITH.

o SEEN: 07t SES sist= FHIQULICE.
e 0f: “The chef cooked the meal.”
o £FEN: OV} SEQ| CHAZ LIEILHD], SALS| MAHEAIL “be” SAIE Zglol0] ESEIL|CE

e 0f: “The meal was cooked by the chef.”

o =
e SHO|Lt AEHol Chat SRHo| EN=S LIEFALICE Sjadw, B, 7HH So| YBLIC

o XA AMMO|Lt HAS TIaT M AHSELIC
e O: “She is happy.”

o YUY YOI QFS o Wl AERILILE SA2| 7| 2Y¥E AFERILICY.
e 0: “Run!”

o 7Y 7ol HEOIL =S LIELE mf ALSRiL|Ct

o SiXl| 7FY®: “If | were you, | would run.”

e 17{ 71HH: “If she had run, she would have won.”

el

&1

[ =

Fojel &
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F0fo| (Et40t =

L|CE.

o Lk FO|: SALOf| “-s” EEE= "-es"E FIIRILILCE
e 0Ol: “The cat runs.”
o J FO|: A 7|2HE ALEELICY.

e 0Ol: “The cats run.”

my

g

88/353

==)0fl k2t At HEWZt HEtLICt F2

ST AIRIOIM SAFZE 202 2X[SHOF B

H=AF)= AlA|, B, B, F0{e| 2 HSiol

Suixioz Fatshl 1451, 002

=1
F HENE MBSO A SRt 2 Felst



Eddie: £0{7} AIH, BN, 1t 02| =0 2t5t HE & F 7 o|&te] HEE |0 E35{0F & .
SME o= BHsHE BEE FE M 2|0 HaiA HYsHF.

T - =
ChatGPT: =0{7t AlA|, EH, &, 2|1 =0{2| #=0i| 2tet FHE SA|of| EsisHof & wl, Ho 2ol

M Ol2i3t HEE Hste B Q0] ©M 29I7F EXEILICH SAKS Of2{3t HHE ZESI0] st £
Tt &4 el

At SEHZ LIEFLOF 510, O|= EX5H 7%

g
o
o
4n
2
L
o
(@]
T
rr

HAE= A2 1 0|Q0| CHEH AelL|Ct.

1. M|HE| (Tense)

AlHl= SEO|LE EHZE —EYSE A[ZES LIERHE 2 71 7|22l HEYLICH SAe| SEl= T AlX|

o SiXl| A|H|: “She writes a letter.”

e 17 A|H|: “She wrote a letter.”

2. F0{2| £ (Number)

F0{9| == AlM| CHZ22 2 U ElLICE S AR A =017} The=QIX| S5QIX|0f| et SALS| HEH

7t EEpELIC F07F thed s SAO| “-s Lt "-es” & FIIRILICH.

0

o OfA]:

e Ci =0{: “He writes a letter.”
A X
T T

e = Ol: “They write letters.”
3. Ef (Voice)

Ele SZfe| At CHa S LIEHHE R, AIM[Q F012] 7} BtAEl 2o ZFELICH ~=SEioM=
"be" SAIR} DIHEAL HENTF AFRE|M, 0= A|M|Qt Y X|HOF &HL|C}.
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o Of|A]:

EH: “She writes a letter.”

1> or
o ol

Ei: “A letter is written by her.”

4. ™ (Mood)

2 SEO|LE MEHol| st 3tXte| Ef =S LIEHLHDY, =4, HHEY, 7Py SOl ASLICE Ol= AlA,
019 =, 7L BHEE 20| ZHELITE ZSALE SALS| HEHE Soff ZSIELICH
o OflAl

o Z|ME: “She writes a letter.”

o HHH: "Write a letter!”

o 7HHE: “If she were writing a letter, | would be happy.”

P A . A
o F0O{Q| $: CThx
o Ef: ~SEH
o M. XM

[ =]
o 2F: "A letter is being written by her.”
o HXTIHHS EHHGI| 25l “is being” S AL, +SEHE ESI5L7| Il THRAL

"written” 2 AL EtL|CY
7iet=s + 7Py
o AH|: fHtEE

o FOo| 4Tt

o Eff: S=EH

o H: 7MY
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o & "If she had written a letter, | would have been happy.”
o WARAZHE HHSH| s “had written”S AFESt, 7FEHE ESISHY| QAo “If2t ZHHE

S S
D2 MH + +~SEf + 7FSH

o AlA|: OJ2HAX]|
o FO{o| £ Eh
o Ef: £k
H: 7

[ =]
o 2% "A letter would be written by her if she had the time.”

o O|ZHAIMIE ERSH7| 2l5 “would be"” & AFE3IL, +=SENE HERSH7| la ZHAHZEAL
"written” S AFE5HH, 7FYHS EJIEHY| flal "if et ZHRS AFSEILIC.

Z2

0171 AlA|, EH, &, =012] ==0i| 2tet HE SAof| Eoislof o mf, UM 2 HeE|= HE &=

£ L3 25Ut

1. MNH| (Tense): AtAQ| A|ZHH QXS ZHEHL|CY.

2. 02| £ (Number): SAI2| HEHE F0{Q| 4~0f HEL|CE.
3. Ell (Voice): SZt2| F=|2} CHAS LIEHHL|CE
4

 (Mood): 3tAte| B9 22| FH S LIEHHLITY.

218t =AM E Uizt SAte| YEH7F 2FEN, EHAHZ SHIE 20| FHELCEL 0|2 Sdl 282

N
o
o|0|E Hetstn FetsiA e = Lt

ENAE. 22 oz N2 M= = & J20| A7 HE7} 8 HEECH QMEILE? 0[] ZteiA =
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[5]1 & & 7HX] AlZt EH

Eddie: BO0M AL £[= B F7H| AlZh FEF 250 Zf ARIE o

SHEXIS RIMISHA 2 sHF.

ChatGPT: Q00| ANli= SEHO|LE AE{ 7| 2GS A|ZHS LIEILH =
2 AtMI5| dYstZlSLICt.
1. £tz 8%l (Simple Present)

e SA 28 (321 TR0l “s” EE “-es” FT

A2 Az
o HIMOI AMAl: “The sun rises in the east.”
o SEHQIl 8F: “She drinks coffee every morning.”
o M- “The train leaves at 7 PM.”
[o]

ol AEl: “He works at a bank.”

oﬂ
-1

N
rg
2
r

&3 (Present Continuous)

SlEl: am/is/are + SAF 3 + “-ing”

Mg e
o $ixfj XISl FQI FZ}: “She is reading a book right now.”
o 7b12 Of2ie] A&l “We are meeting them tomorrow

n

3. 8ixlf 2t23 (Present Perfect)

8IEl: have/has + ZIHE2A}

92/353

Hd
=
2

&0l ALZ3HOF

ALICH Hoqo
127kK] = AFZE A2, ZZto] AHi= 3 J&oll M ASELICE. of2Hol| 2k AlX|eF ALS &

=1
oo



16k

ME o

0| AlSE0] SRTIX| ALl

72| AH™: “| have visited Paris
ot712] SZto] dixfjol| AskS O|x|= AL

|L} &El: “She has worked here for five years

“They have lost their keys

#ixj| 2t& XIS (Present Perfect Continuous)

[ =)

P

SlEll: have/has + been + SAF 918 + “-ing

16k

e o

>

SEo| AL M ZX: “She has been studying for three

FIF

pA 0l MEFEIO] SAXHIER] Al

hours.”
Mgl 21 S&: “| have been working all day,

E|20f| A=E[AHLE OFE|

Chka 37 (Simple Past)

S"

Ef: SAS| 2t

Ol

g o

>

FOIL} &FEl: “She visited Japan last year

o 70| AzE SF
#E: "He always played soccer as a child.”

. 1}712| el
72| AF: “I met him at the party.”

°
Jim
02
roll

& (Past Continuous)

@

t7{ Z

o
kJ

SEl: was/were + SALA™ + “-ing”

o8k

g o

>
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&} “She was watching TV at 8 PM.”
£: "While | was reading, she was cooking.”

ofn

so|d
o FHe| 27 SE0| S0l zI¥ 21 F
&2k “They were living in London for a few months.”

o Ij7{2] 2AIFel

o 72| £ Alzto TR

7. 317 2t&88 (Past Perfect)

SEl: had + 2tHEA

‘She had finished her homework before she went

16k

e o

>

1

o 72| EX AIMHEL} O|M0| 2AZEl S

out.”
o I7{2| & At & O O|H2| AFA: "By the time | arrived, he had already left.”

8. 7}7 2t& ZIMS (Past Perfect Continuous)

&El: had + been + SA ¥ + “-ing”

ZZXE: “She had been studying for two hours

AL dgt
o A2l EF MAEMA| ALE SE2 oi4Y
when | called.”
EIHE SE: “They had been living there for five years before they

o Ij7oj| £ Azt Sot T

moved.”

9. £k 0|2 (Simple Future)
5

SEl: will + SAt 28 / be going to + SAH

16k

>

g o
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Dj2ie| SEfoILt &EH: “She will visit her grandparents next week.”

ZMof|lM ZFE oJ2fe] A& “I will help you with that.”

ol " &l oj2fe] Ak: “It is going to rain tomorrow.”

O

10. OJ2} XIS (Future Continuous)

&El: will be + A& + “-ing”

16k

s &

>

“This time tomorrow, | will be flying to New York.”

o Oj2io] £F Alzhol ZI¥ S S
b: “She will be working late tonight.”

3ol 43

7k

e Oj2ie] LAF e

11. OJ2 k23 (Future Perfect)

SiEl: will have + ZHEAL

16k

g o

>

b “By next month, she will have finished her thesis.”

o Dj2H2] £ AENX]| 22E

M3 (Future Perfect Continuous)

12. Oj2} ¢ FIWY

I=
"

SE: will have been + SAF 1™ + “-ing

16k

g o
Z: "By next year, they will have been living

>
10
o
I
0x
0

o Dj2H2] £ AENMX] AlSE SH

here for a decade.”

Z2
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Jof2l 1271X| AlHlE 27| THE &AM AHZELICt 22| AlRl= SEO|LE SEff AlZHE 9{X], A
4, 2= 0] SS s Z3510] 22| 2J0|E Fetsi MERLICL 0| SHIEA AHE5HH

20HHQl OAtAS0| 7HS3HX|, Chefet oA Fetet oli|E HE
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[6] 7|2 AlA|
Eddie: @H2| basic tensedl| 2ol Al 0|2t HH| XfM[SHA| 451 .

ChatGPT: Q02| 7|2 A|X|(Basic Tense)= SixH, 2tA, Of2f AMIE Z&bst, 2F A= T,

xis, otz ot XM O LiLICH 2t AlFls S0|L AEI7} Lojct AlZHS B3SHE O AFRE]

- O ™1

=2 o|n|E et MEELICE. of2Hofl 2k AlA|et 11 G|AIE XtMIS| EHSHSLICE

1. £tz 8%l (Simple Present)

rr

JEH EA'. O_IQi (3 |7<_g| E,I_l-_J'k_o.” II_SII EEE n_esn le_)

A2 Az
o HIMOI AMAl: “The sun rises in the east.”
o SOl 8F: “She drinks coffee every morning.”
o M- “The train leaves at 7 PM.”
of

ol AEl: “He works at a bank.”

0.
ul

GllAl:

* "l play soccer.”

® “She reads a book every night.”

N
rg

Xl ZIg#8 (Present Continuous)

SlEl: am/is/are + SAF 3 + “-ing”

Mg e
o $ixf| XISl FQI F&}: “She is reading a book right now.”
o 7b12 Of2ie] AEl: “We are meeting them tomorrow

n
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GlIAl:

* “l am playing soccer now.”

® “She is reading a book.”

3. 8ixl| 2t2 8 (Present Perfect)

8IEl: have/has + THHEA}

>

e o

16k

o 70l MEE|0] HXYIX] AlLZEl= SEOILE ¥EH: “She has worked here for five years.”
o 72| HE: “| have visited Paris.”
o I}7{2| S%}0| gxfoll HeS O|X|= B “"They have lost their keys.”

GlIAl:

* | have played soccer for ten years.”

e “She has read that book.”

4. 37 2t= FIME (Present Perfect Continuous)

8Ell: have/has + been + SAF A& + “-ing”

>

g o

16k

o 70| AIZtE|O] SAXHIEX] A E|
hours."”

o Z|20]| 2t E|RA7L} OF%] ZISH Sl SE}: “| have been working all day.”

FIF

S| PKM ZX: “She has been studying for three

GlIAl:
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* | have been playing soccer for two hours.”

® “She has been reading that book.”
5. Ek== 37 (Simple Past)

S{E

HEl: SArS| I

16k

g o

>

ILt 2FEH: “She visited Japan last year.”

o Ho|| 2tEEl SEO
o 7ol ERHQI H#F: “He always played soccer as a child.”

st A9 AH: “I met him at the party.”

dim

ClIAl:

¢ “| played soccer yesterday.”
® “She read that book last week.”

6. 217 ZI#3 (Past Continuous)

&El: was/were + SAL &Y + “-ing”

1

16k

g o

>

&} “She was watching TV at 8 PM.”
2l ZR: “While | was reading, she was cooking.’

ofn

o 72| EF Alzto)l T F0|H

o S H2l 27 SEo] SAlo|
&2k “They were living in London for a few months.”

o Ti7i2] LAl

OllAl:

* "l was playing soccer when it started to rain.”
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* “She was reading a book when | called.”

7. 317 2t88 (Past Perfect)

SEl: had + 2HHEA

16k

e o

>

‘She had finished her homework before she went

1

o T}7{°] EX A|MECL} O|F0|| 2ABEI SXt

out.”
o 712 &£ A & O 0|H2| Al “By the time | arrived, he had already left.”

Ofl Al
* | had played soccer before it started to rain.”

¢ “She had read that book before the exam.”

8. 7}7| 2t& ZIS (Past Perfect Continuous)

SEl: had + been + ALY + "-ing”

16k

s &

>

ZZXE: “She had been studying for two hours

2
AL

EXIo
i

o 72| B AFEMX| H&E SE2

‘They had been living there for five years before they

when | called.”
o F7{0l £F AIZ Sot Ty Saf -

moved.”

GlIAl:

* "“| had been playing soccer for two hours when it started to rain.”

* “She had been reading that book before the lights went out.”
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9. £k 0|2 (Simple Future)

SEl: will + SA 28 / be going to + SAH Y

AME dEhk
o D|2{e] SEO|L} &EH: “She will visit her grandparents next week.”
ZMojlM ZHE Of2H2] AIEl: “| will help you with that.”

ol " &l oj2fe] Ak: “It is going to rain tomorrow.”

GlIAl:

e "l will play soccer tomorrow.”
* “She is going to read that book.”

10. OJ2f ZI8& (Future Continuous)
SEl: will be + SAF A& + “-ing”

‘This time tomorrow, | will be flying to New York.”

AIE o2
o Dj2{2] £ AlZio| 21 5 S%}:
Aol #gh “She will be working late tonight.”

o Oj2ie] LAFe

Of| Al:
e “l will be playing soccer at 6 PM tomorrow.”
* “She will be reading a book when you arrive.”

11. Oj2 k23 (Future Perfect)
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SiEl: will have + ZHHEAL

>

g o

16k

o Oj2{e| EH AIHMNX| kR E SE: "By next month, she will have finished her thesis.”

GlIAl:

e "l will have played soccer for ten years by next year.”

e “She will have read that book by the end of the week.”

12. 0|2} &t= ZISS (Future Perfect Continuous)

"

SEf: will have been + SAF 1™ + “-ing

>

g o

16k

o Dj2H2] £ AEMX] AlSE SH

1
o
i
0x
N

SX: "By next year, they will have been living

here for a decade.”

OllAl:

e "l will have been playing soccer for two hours by the time you arrive.”

e “She will have been reading that book for a week by the time the library closes.”

Z2

09| 7|= A= SHOILE JEH2f AZHY 2IX[, X|&d, 2t2 0] S& afslH Zdsto] 282l
0| HetotA HEELICE 0IF SHIZA| AFEsIHE 2 0HH el 2AI~S0| 7HSdiXH, CHeh &ofA
Hetet o|0|1E HEY & ASLICE Z A[H[2] AHE &2t YEHE Olslist Yissts A2 Fo /S
25t £55h= ol 328 HAYLICH
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SHE: 712 AR Mol of etzet FIsE AIMES ZHAIZ|X|?
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[7]1 &xl 2t= Al
Eddie: @ofo] $#r) k& Alxlol| BHafA oot | XtAISHA| Hedai.

ChatGPT: 02| §ixlf 2tF A|H|(Present Perfect Tense)= 247{0f| A|RHEl SEHO|LL AFERZF SXH 2t
O SE0| b= =R AL

e

20| AZ S LIEIZ]| 2I5H AHEEILICE. O] A[Hl= 2712t HME A2,

MR FekE DIX|LL JAZS LIEFHLICE ¥ 2t= AlM|= have/has + 2H7{2AH(Past

Participle) ¥Ef= M ELICE
g 2tz AlNe| 7

e F0]| + have/has + T}7{2A}
Of| Al:

* | have eaten.

¢ She has finished her homework.
BT 22 AIFIS| A At

1. 220l AMZEEI0] SRHNEX] A&l = SEOILE El
o 0| AR, SZEO|L} HENZ} DA AZFE|O] SHRTEX| X|EE| D ASS LIEFLICE
e Of|A]: “She has lived in New York for five years.”
e (4= 59 S w20l #11 USLICE)
2. I7{e| 3€
o 0] Lot LS0| MK kS OIX| 1 UZS LIEFRLICE.
e OAl: “I have visited Paris.”
o (L= mj2|E WEeH 0| JELICE)
3. B2 SE0| gxljof| deE njx|= F¢

o 70| LO{EE AIZIO|L} 0| TXHOH| O FeFS DIX| 2 ASS LIEFRLIC

0II

e O|Al: “They have lost their keys.”
o (OS2 2|5 ANHFIGLICL) - 27t ¥ QiCH= 2|0|E =ZetefL|Ct

4. gzl

|

Ofn
12 un
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o Z[20] 2t El SEQZ BiAfet 24210| ASS LIEFHLICH
o OAl: “I have just finished my homework.”

o (Lt= E3 SHIE BHlSLIL)

Sixl 2tz AlH|2] FxIZ el of

70l AEFElo] STIER] AlLEl= SEOILE HEH

e 2% "We have known each other for ten years.”
o (RelE 104 S M= Z1 XHSLICEH)

o PO A[ZHE! ZHA|I7F HRYIEK| AL E S LIEFHLITY.

79| &

o 22 “She has traveled to Japan.”
o (Ol LEZS 043list X0l JSLICE)

o 1p7{o| Zel0| S| oA Jek= n|EL(ct.

£ K=
7OT

e

SEto| sixfjol] Sk

io

ofx|

rir

1

o 2&: "He has broken his leg.”
o (A= L2 BRERSLITH)

o AL At 7} SRRl HEHO| FeFS X2 ASLIC

AZE S

2% "They have already eaten dinner.’

1

° (158 o||]| x-||_=|2 |:|-Io-|¢|__||:|.')

i PN =]

o A0 2t2E SEO| d LEfof FeFS [FLIC.

aixl 2tz AlM|2t AlZh =3
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A3t

|ZF Z 340t o At AL EILITE. 0218 AlZE Z32 SZ0] 20l AlZE|

— (=

Sl 2tz Aldl=

= S5 A
Of ERYIIX| WS 0|X|T USS YEBLICL

For: 7|2+ LIEFHLICE

e OAl: “I have lived here for five years.”

o (Lh= 047|1M 54 St &1 ASLICEH)

- O L

Since: A|Z} A|HE LIEFALICE,
e OJAl: “She has worked here since 2010.”
o (OdH= 2010E9EH 07|M Lot JELICE)

Already: Of| &=t L& 22 El SES LIEFAL|CY.

e OAl: “I have already done my homework.”

e (Lk= ol0] sHIE HsUCh)

Yet: 2Y=21t 2| ZE0|lM SEH0] OF%] b2 =[X| RtSS LIEFHLICE
e OAl: “Have you finished your homework yet?”
o (H= =HZE EHL?)
o OAl: “I haven't finished my homework yet.”
o (Lt= OFE =H|E BLHX| 4RUASLICEH)

Just: |20 =2 E S2S LIEFHLICH

o=

e OAl: “He has just left.”

o (A= 3 mMitsLioh)

Sxf 2t Ald|e] FEE2 ER

[ =

A

4
Mo

8lEll: Z=0{ + have/has + not + ZtHEA}
OllAl:
¢ “| have not (haven't) seen that movie.”

o (L= 1 F3tE 2 Hol glgLict)

¢ “She has not (hasn't) finished her work.”
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[ ]
1
m
rr
ne
o
me

LHX| S4RAELICE)

8El: Have/Has + F0{ + T HEA}
Of| Al
* “Have you ever been to London?”

° (E.-IL‘.-IO“ 7|-E I-Io| |__|-o7)

* “Has he completed the project?”

o (17l ZZMEE 2AZ3LIRL?)

Bixf 22 AlXIS T7Q} BIRIE 9125101 SHO|LE AERTF Tl AISFEO] SRITIX] AL AL SXY
S 0JR|D Y2 LIEHS E25 AIFLICE Ciest Aol SK) 242 AIFIS SHIEA A}

o
E5tH 0| 2YS 2Lt st FAE £ A2, 20tEQl 2AAS0| 7hsELICt

EMA: Good! 3tx[2t, EX RE0f| B5HMT MHSFEE promptS ZH5HOF S H2M AS.
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[8] 247 &tz AlX|
Eddie: 20{Q| 1A 2t A|A|0f| ZtsHA] 0| EHH| KEMISHA A .

ChatGPT: 02| 1t7 2tZ A|X|(Past Perfect Tense)= 1t7{2| St A ELCH I 0|0 QO{t AMA

O|Lt MEHE LIEH mh AR EILICE 24A 2t= AMl= had + 2}7{2AKPast Participle) JEHZ 24 &l
LICE O Aldl= & 70| 2t At & O O Q| AtZAS HES| sfALE 2HH2| EX AIH O|Fof 2t=E

SA2 d=xot= o ArEEILICH

7 2= AlH|e] 7

o 0| + had + T7{EA}

GllAl:

¢ | had eaten.

¢ She had finished her homework.
a7 etE AH|2| Al A2t

1. 2712] £ AFEL} o|Ho| 2= El SE
o IOl EF AEELEH O|X0f| Erilist AtdS LIEFHLICY.
e Of|Al: “She had finished her homework before she went out.”
e (O4&= 2&Es7| dol| sHE ERSLIC)
2. 72| F M & O o|Fe| AA
o WA T AR F SHLIZFCHE AFAELH O[T 0f| 2Ot 2SS LIEHHLICE.
o OfAl: “By the time | arrived, he had already left.”
o (L7 =S W, 2= 0|0 mitASLIC)
3. 1t7{2| el s}
o Ao EF A[FEL} O|X0f| HENTH HIHSS LIEFRLICE
e O|Al: “They had been friends before they had a falling out.”
o (AS2 ALO|7} LHHX|Z| HIEK| FIAAELICE)
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247 k& AlFle] FHIF of

T}7{e| EX AIMELC} O|M0f| AR El SE

e 2&: "He had eaten dinner before 8 PM.”
o (2= 8Al To| K HYALICH)

o NES M2 SHO0| 8A|LL} O|F | REZE|ASS LIEHHLICY.

e

£ A7 5 o o|He| A
e 2% "When | got to the station, the train had already departed.”
o (L7t ol =3f3E mf, 7|xh= 00| S L)

o 7|Xt7t ik AFZI0] LHZE 0l =AFSE AFAECH I 0|0 ZO{tES LIEHLICY.

e

el Hs5}

1

o 2 “She had never seen the ocean before she moved to California.”

o (A= ZE2[ZL|Ot= O|AISEY7| i HICHS = X 0| SiIASLICE)

[—

o ZZ|ZL[OtZ O|Ate AFAELt O[Ol BITHE 2 HO| AT HENS LIEFRILICE

oA &5 AM|et AlZh =3
A 2tz ARlE S AlZE 230 &H Kb AL EILICE O[2{3h AlZE E2 = AR ZHe| AlZHH

 Before: 0| 2| AFZAS LIEFRLICE,
o OAl: “He had left before | arrived.”
o (A= U7t =A&SH| Hof| Rt ASLICE)
* By the time: £ AIEIIX| =& S22 LIEFHLICH
e Of|A]: “By the time she called, | had already finished my work.”

PO N—]

 Already: O &0t 2% 2t2FE SEHS LIEFHL|CE

o (A7 MRS M, L= 0l0] €2 EHUSLICE)
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o OAl: “They had already left when we got there.”
o (REI7} £AIBHS W], OS2 0|0] MtASLICE)

— =

2 ¢ ARle] $FED o2
pyE

8iEl: =0 + had + not + ZHEA}

GllAl:

e “| had not (hadn't) seen that movie before.”
o (Lh= 1 YstE o™l = Xo| giASLICE)

¢ “She had not (hadn't) finished her homework before dinner.”
o (A= MY H7| Mo sHE BUX| ZR_ASLICE)

9|

Mo

| = |
I—I

&Ell: Had + 0] + ZHAEAL

GllAl:

e "Had you ever visited Paris before?”
o (G2 O|Noj| m2|E HEet MO| JAEL|I)

e “Had they finished the project before the deadline?”
e (OS2 OHYY X0 Z2HEES 2A=3HSLIINT)

AAH

2E

A 2tZ A= 2tA2f 8 A =Lt I OfHof| Zofih AFZAO[Lt HEHE LiEti= S8 AF LTt

—

Of AHl= & 7H2| 2t At & O 0| 2f AtZiE HES| 5L, 2ol EF AIFE O|Fof 2tz
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S Z=5h= o AR ELCE o

oAl AR = Rl Z3t

Jon

M| Good! 5tx|aH EF

ESH A

Q t
oL O

Xo| o
= - —

oM oA k=2 ANIE SHIZH| AHE3t

|AMAE0| 7L

o YBHES promptS ZFAHOF
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[9] AlH| mpef &

Eddie: %0

E35tE A2t YEE niefst= YHsS SHslF.

ChatGPT: 20| H8i5t= AlZt HHEE mfolst= H2 F= AR AlNQL A 23S EM5t=
e Q

H ASLICE OIS Sall SEOILE JE7H ZOJE AlZh, X[ Az, 2tz 017 S= Olaig = A LI

1. SM2| AH| 24

SAe| el

SIEf =
o —
7tX[1 enq, O|F Sl SE0[Lt HEHZ M| ZHRAE=X & o= ASLIC

o SXY| AIH|: SN2 LEIE QI AHHOILt BIE X Q1 SAHS LIEFHLICE.
e Of|Al: “She reads a book every day.”
o A AMH|: 2tH2] EF AI-0]| ElsH SEO|LE HENS LIEFLICE
e Of|Al: “She read a book yesterday.”
o DJ2 AIX|: OJ2Ho| 2rst SZIO|Lt &EHS LIEFHLICE.
e Of|A]: “She will read a book tomorrow.”
o SiX| ZEISHS: Six|| XIS =0l SEHS LIEPHAL|CE
e Of|A]: “She is reading a book right now.”
o 7| ZgH: ntHo| EF A0 ZIE SO|H S2hS LIEFHLICE
e OfAl: “She was reading a book at 8 PM.”
o SXY| 2z N0 AZTE[O] SRNVEA| S O|X[= SEO[Lt HEHS LIEFHLICE.
e Of|A]: “She has read that book.”
o WA 2AgY: 07| EF AFEL O|H0]| 2t2E S2S LIEFHLICE

e OAl: “She had read that book before she went out.”

N
>
al
Fl
oh
I
it

=0 ZotEl AlZE 232 SEO|LE JEfe] AZts o FXH ez nfefst= ol ==0| ELITh AlZh &2
X

2 B9l Mot ZEE|o ottt A7 §EE HSefLCt
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o EF AH:
e Of|A]: “She read a book yesterday.”
e "yesterday”= 7 A|RE LIEHHLICE
o 712k
e O|Al: “She has lived here for five years.”
e “for five years" & X|& AlZFS LIEFHLIC
o AR AIE:
e Ol|Al: “She has lived here since 2010.”
e “since 2010”2 A|ZF A|ES LIEFHLICE.
o Of2} A:
e Ol|Al: “She will arrive tomorrow.”

e “tomorrow” = O[2 A|™HS LIEFAL|CE.

3. 2%l 1z 24
=5 2F0|LF S4S mE 20| Z2, 2 Mol AINES 2Msio] ARt TS THotE 4 AL

o AJZHY HKZAL
o O|Al: “After she had finished her work, she went out.”
o "After"E F AHA2| AIZHA =M E LIEFRLICE

. =7

FII]

e O|Al: “If he comes, we will start the meeting.”
o "|f'= AW AHEl A|ZHE HHE K| 28| T}
o 7HdY:
e Of|Al: “If | had known, | would have told you."
o 7PEEE 09| Tt gES LEFHLITE

M

4. 22D o|2E 2N

SHEN ZE0ME AN AlZH 3 E Sl AlZE 2 E mtetel = ST
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=
o BY

Ho

e OJAl: “She has not finished her homework.”
o XY A2 ANQ EHE QEZ, HRYIIX| b2 E|X| 42 SES LIEFHLICE,
o SIEE:

e OAl: “Have you seen this movie?”

o oMl 22 AHQt o|EE HEliZ, 22| S E&LICh

OlA] 24

OflAl 1: Bt 2&

e 2% “She went to the market yesterday.”
o SAL M| ZHA AIH| (went)
o MZt E8: yesterday (O1A)

o AZHEH: ntro| £ Al”of 2dst &

OflAl 2: ZIlE Al

o 2% “She is reading a book right now.”
o SAL AH|: &xH TIAHH (is reading)
¥

#: right now (XI2)

H: 3n Tl Sl S%

\J
i

o A

r

&
Xkl

o A

OflAl 3: gtz AlX|

o 2% "They have already eaten dinner.”
o SAAA|: SX 2b2H (have eaten)
o AlZH E3: already (0[0O])

H: tqof| et=E SZ0] Sdtol| eks nlH

F

o A

&
0
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o 2&: "After she had finished her homework, she watched TV.”

(had finished)2t 2t AA| (watched)

otz

o At AA: 2tA

]
R

1
i
i

I+

Ok

ol =20| ELICh olz2{st #MS

L
—

St

F

ol

=

10

HE

3te L8 Sof 7AF 2l S5 o2 HHYof

il
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[10] AlF| =it SIE

Eddie: A[H| 2zl YR 28 S8 2 wf 2T0| E3IH0F S AME
SIEE RIMISHA &EiF.

e
(@]
s
>
0o
]
4>
$0
rr

ChatGPT: A[H|et 22l EHAehd EXE 2 W 20| ZBI8H0F 2 AlFE LotU7| 2l Arge

= U= BlE= CIAELICE Ol2{et BIEE= Z&o WE, AZh 2o, SAL e, EA SS ZELICH

1. M2t E8 (Time Expressions)

e OllAl: always, usually, often, sometimes, every day/week/month/year
o 2&: “She always drinks coffee in the morning.”
o A AlH|:
e OllA]: yesterday, last week/month/year, ago, in 1990
o 2Z&: "He visited Paris last year.”
o DJ2 AlX|:
e OlAl: tomorrow, next week/month/year, in the future, soon
o E&: “They will travel to Japan next month.”
o BXY 2t& AlX|:
o Of|Al: already, yet, just, ever, never, for, since
e 2&: “She has already finished her homework.”
o 17| 2I7 AlH|:
e OllAl: before, after, by the time, already
o 2&: "By the time we arrived, they had already left.”
o DJ2j gt AlX|:
o O|Al: by next week/month/year, by the time

o 2% “She will have graduated by next year.”
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2. SA} el (Verb Forms)

M7t 282 AME 2Hsts Qe lEQLICEL 22| = SAML HEHE B ANE &/

X MH|: SAHA™ (32 Er0ll= “-s” EE -es” F7H)
e “He works.”
o MH AH|: SA2| 2tHH
® "“She worked.”
o D2 AIH|: will + SAF HE
e “They will work.”
o Bxj| 2tR AlH|: have/has + T7HEA}
e “| have worked.”
o I &t AlH|: had + 2HHEAL
® “She had worked.”
o OJ2f &t& AlA|: will have + ZHHEAL

e "“They will have worked.”

3. &ALt A]ZHY 91 (Conjunctions and Temporal Connections)

HEAtE B8 7He AlZHY BAIE LEH = o] 396t SIEE NIFLICH So| B5EE 0|1 HE
Abe FED SE5E 2| AlZHY EAIE 25| giuct

o M7 2tr AlH|Q} EhH| X}FE AL E|= EEAL: before, after, by the time

n

e “She had finished her homework before she went out.
o Six|j 2t= AlH|Q} et X} AFRE|= H&AL: since, for

e “| have lived here since 2010.”

D
Ho
12
[

} 22| 2JO] (Context and Meaning)
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o 79| Fe: 3 2= A[N|E AHESHO] 2t 2| ZRi0] Aol Fek= DI S LiEHH
* "l have been to Japan.”
o ALE MH Ak DA AF|2 2t 2= AIRIE AHESHO] & ARAS| AIZHY =M E LIEFY

_I

e "After she had finished her homework, she went out.”

S"

Z223} 7Y (Conditionals and Subjunctive Mood)

AU 7FEH2 EFE AN AIES QT EILICH ZUE0M= FRO ZHE| AN7LTHE &

o 18 ZAS: HKY MK (EAF) + 0l2H AX| ()

LI
e "“If it rains, we will stay inside.”

o 28 ZAR I7| AH (F2E) + 3K 7P G

e "“If | were you, | would go.”
o 38 AR 11 2= AF (ZUE) + 24H 718 (FE)

e "If she had studied, she would have passed.”
GlAl EH[et S1E HE
GIAl 1: AlZH 23S S8t AlA| Tje}

[ =

e 2% "By next year, she (graduate) from university.”
e BIE: "By next year”= O[22] EF AI™S LIEFHLICE

o HE “will have graduated” (0|24 2t AlA|)

r

OlA] 2: SAH HEHE S8t AlM| zh

1

o 2 "He (live) in New York for five years before he moved to California.’
e SIE: "before he moved” &= 1t2| EF A|™E S LIEFHLICE,

o Mtk “had lived” (27 t& AlH|)
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OlA] 3: HLHALS Set AN| oet

o 2&: "After she (finish) her work, she will go out for dinner.”
o SIE: "After"& 5 M| AZHA &M E LIEFHL|CE

o HE} "has finished” (8IXf 2t= AlH])

EYO| AIME ZetstA miefst, SHIE 28N FdS Sl /0|2 YalshA MEE +~ ASLICH

MO
-
i}
l:
=
FEl
rOII
o
jd
X
o
Jal
=2
d]
G
x
rr
(o]
il
_O‘h
A
iQ
0jo

Eddie: 28| AZF H59| 2t 2ZIZ time shift error2t A2 X[ Al AHEHR.

ChatGPT: G2%H0||AM AlZE E8O| 2t IF2 ETO|A A7 LEE|AH| AHRE|0{0F SHCH= 21
LICE O] A= X|7|X| ko™ =XLt XUt 2&2 2oJ0|E =& 4 USLICH AlZh Z3io 2ty
A O|RX|EE &
L|C}. 0|2t ZtHEl 2RIt time shift error2L|Ct O]= EZ0IAM AHIE L2=|H AHEstHX| 222
M edste @F ILICE

A2 AZte| SES FESHA ZASILL, A2t O|S(time shift)0| 2& X}

re

:|

-

Azt Z§o| 22t IEl (Consistency of Time Expression)

Siof 2ty Eof wef, 2Z0|Lt THEf LI A7 ZEE|A A EZ[0{0F §LIL. Ol= 2&
(o]

o| SES Y5 5ta, Atziel &=ME STt & olse = AT LTt

£ AlAH|: “She went to the store and bought some groceries.”

u
§
0
30

o Uzb0| @i AlAH|: “She went to the store and buys some groceries.”
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S=X| 2551 2HEL T

LM Q= AlAlE SXE7F ALZA0] 21H|
Time Shift Error
A AEE[N SR "HXE7F AP = ME EF5H|
2 0l2{st LR E MHst

Ofl A AIRI7} LI
SABHLICE CHS

Time shift error= 2%
gt 2Zt0|L} O|0oF7 |0l M E35| Al

SiLict ol S8 =

e 7Y
= R 7HX] of| AL T

1.tk EF U2 _F
o 27 & “She was cooking dinner when he comes home
e 0{7|M “was cooking”2 2t TIHHO| 1 “comes” = S AIMRLICE F AIH7} LEte|X]
2 Ar2E[0] 252 Z2RLICH
o HEl 2 “She was cooking dinner when he came home
o 7 ZIAYEI} B AHE LRE[AH AESH0] AZHE =ME HES| LTt
et 28 L2 2F

2. 58 2%

o @F 2&: "“After he finished his work, he is going to the gym
e “finished” &= 1A A|X|O|12 “is going” 2 A Tl IL|LCE,

F: " After he finished his work, he went to the gym

THE 2%
e IL=: "After he finishes his work, he is going to the gym

.
o ARIE ZE=|A HFM QRE +FRILICL
Azt 0|32 XEst A8
AlZt 0|52 2E0IM 03] AIRIE AtEE M, =2|H 0|1 HetsHA AlZte] SES EHss YHAUL
Ch. Ol= AlZh Z3o| LS RXAISHHA, 2| &= A2t 0SS 7Hs3HA "Lt
OflA] 1: bl 27 AH|

o 2% "She finished her homework and then watched TV.”
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5 S ZE A0 2ofpienz

OflA] 2: izl 2t2 AlRI2t 24 AlHI2] X

SEE DA ANE

st A8

AEEILITY.

e 2% “She has finished her homework, so now she is watching TV.”

o SI b= AIRIE ALESI0| S20| IpAH0f| 2t=E|

u] %I-L_||:_|-

OllA] 3: o2l AlRIet =

Ho

Time Shift Errorg&

1. 23} AIZHSE ofsf:
o EZTO| A0 A|Zt =AMOHE RIAAZ A AZL|=X] SHQIFHLICE
o 1A, XY, 02 AX7t =2l M2 ALE|RI=X| =elgfL|Ct.
2. "EAMeL AT 53 F9|
o & AKwhen, after, before S)2F A2t E8(yesterday, tomorrow S)0| E&2| AlA|et &
Sh=X| =telgfL|Ct.
3. 5§ EF0M AlH| et |
o S EXOILE Tl LHO M AIXIZF L2 A| A= =X 2RIt
o ZIQSH AR, Yetst A7t 0|5 LIEHZ| 2Ia A7t 23S F71efL|C
4. 2% = #4:
o EXO| FHI ZLHTO0| MZ CIE AHIE RF6tE 4R, 28 X7t =2|H0| 10 HESHK]
ghLct.
Ol Al:

oHd

3

Eoj

Hidd

Mg

& “If it rains, we will stay inside.”
ZHEOME ST ANE AMESHL, FROME Ol ANE AE5H0

ole=2
a=

LIEFLH 0, SiX A[H|2

=1

o 27 2% “She had been studying when her friend arrives.”

A =
238 2%

121/353

& “She had been studying when her friend arrived.”

olptMe ©
2HEE /A

3o Atat

mx

Oil



e E=: “She is studying when her friend arrives.”

AlZh Z30| Lty =2 EZ0IM ANIE E2=(H AHESH0] AZH =M E E2ts| st AL

—

Time shift errore= O |22 07 SXILE HXP7F A7 SES 2561 HEE QLEQILICE O]2{§t

S
FE Llot7| fleiME 2, AlZE 23, BEM, 28 F1E S Fo| 2 #HED, AN7t =2[X0|
X[ 2hQlsiof LTt OIS Sl 222l 2|0|E HalstA MEst 2ol ofA

s € = AsLich
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[11] E}{(voice)

|

Eddie: 22| EHoi| 2taiM HYHF. J2|1 +SEHE ArESH=s O R0l ZteHM = XtMSHA 2.

ChatGPT: G2H0l|M Eli(Voice)= SE2| FH|2t CHAIS YA EHEXIE ZHELICH Jool=
= 7X| =L Ef7} Q&L|CE **SSE(Active Voice)**2} **4=ZEl(Passive Voice)**QL|Ct. 0|5 Ef

= =N SE| FH|QF theds ThEAH LEHL= Hl AFE LT

SSEl (Active Voice)

8

p
rr

SEIOME 017t SHE Asts TR =2 LHEHHLILE F, F0{7t SAE Sdll eSS +ist
ol
=]

s
LL|Ct,
o HEl: 0| + AL+ SHO
o OJAl:
e "The chef cooked the meal.”

e 017|M “The chef"= FO 2, S&2 +dst= A LICL.
+ZE (Passive Voice)

=SE0M = F017t SES| thiafo| ELICH &, F0s dEss He B2 = LIEHL|CH +~3Ei= gt
HOo=2 FAO| AXIELH SEQ| t0| O Z25H7LE F=S Ee Z0| ArSELICE
o HEl: 0| + be SAL + TAHZAL (+ by ALIXH
o OfAl:
® "“The meal was cooked by the chef.”
e 07|M “The meal”0| FO{E, SZ2| CHAO| ELICL “by the chef"= S&2 &8st THE

LHEFLC,

+SH= EY0|M Ciefet Olf =2 AZELILE. F2 S| tdS ZE5tHL, SEe| HIRIE & =
Lt SQ5HX| 42 R0l AFZE LI
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HECH SE| Lol O QY & ASLICH +SEHE MESHH Y S =

Hu
rir
Ol
it
mjo
4>
o
_o'h
rir
M

e SZEl: “The scientists discovered the cure.”

e =3ZEff: “The cure was discovered by the scientists."

e 0J7|M “The cure” 7t ZXEIL|CE.

t5t7{Lt E2351%] 52 B2

N
0
T
>
S
i
s

e FAH7t 2GS7L SQEH| YIS W +SEHE AHESH0] ARARIE d2Fed & SLIC

[
=2
=

e “"The window was broken.”

o ARAXIZ} ==X 2GS L SQEHK| RZS LIEFRLICE

[o]]]

PRI 2O MOI|M RE3= AP EILICE Ol= A2l MeS o I REF

=~

d

LSEf= BAIRRl IMI|LE T}

 GjAl:
* “The experiment was conducted to test the hypothesis.’

o FH|ECHSE XH|7 ZZELICE

7

4. £ 530|L} 2F0IM2] xteiAR S

EH2 5612 O AR SYLICH Ol Folo| BB EH0ILE ST 2UOA X7 2

L_—d
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o OAl:
e "He was born in 1990.”

* "The book was published in 2000.”

£5EH0] 74 22
SSEls SAtel £7 Belot B ALREILICE 0f7(0lls “be” SAtet TAEAL EEELICH

o be Ak AIX|0 w2t FERZF HSIEILICE OIS S0, SR AFO M= “is”LE "are”, THH A|H|0f|A
= "was"Lt “were” 7} AFSELICE
o BX AIH|: “The meal is cooked by the chef.”
o 7 AH|: “The meal was cooked by the chef.”
o 0|2 AH|: “The meal will be cooked by the chef.”
o Bixf 2t& AlH|: “The meal has been cooked by the chef.”
o MAHZEA: BE SFE| SEOIM AZEIH, SAH| M| | JEFRLICH.
o OAl:
e “cook”2| BHEA}: “cooked”
e “write”Q| HEA}L: “written”

e "build"e| ItHZAL “built”

OlA|E Sttt +SEf A

1. 247 MA| =Skl

o 2&: "The letter was written by John.”

o Z0O| “The letter"= SZt| CHA0|0Y, “was written” 0| =SEHS LIEHHL|CY,

2. X MH| +=SEl

e 2% "The house is cleaned every day.”

o F0| “The house”= S&Q| CHAO|, “is cleaned” 7t £=SEHS LIEHHL|C.
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3. 02 AR +=SEl

e 2% "The project will be completed by next week.”

o F0{ "The project”= 2| Lig0|H, “will be completed” 7t +=SENE LIEFALICE,
4. 3 2= AN +SEY

o 2% “The work has been finished.”

e Z0{ “The work”= SZk9| CHAO|H, “has been finished” 7} £=SENE LIEFHL|CE.

A2 A B S0 A9 CHAS L ESHUXIS ZHELITL SSeHE F0i7t 5512 235t
S FHI2 LIELED, S-S 017t St oy
k=3
=

%!_’ijl—h AL =2ESLE S5 S M, SAFO|7ALE 2retXel 2H[0|AM, £

).
s
mn
rir
o
40
2
C
Inl
1
omn
2
muin
Rl
Ofo
_O'h
rir
°
=)
rir
omn

Jal
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(5] Hel S/ R 7Is

==
o TT

Eddie: YE82| H(mood)2| EFE indicative mood, imperative mood & subjunctive mood
2 IotaliM ZHHE ALl Of Sthi= A R2} AR ol 2aiA XhM|SHA| Mo F .

ChatGPT: G2%H0l|M HH(mood)2 S&0|Lt &EHO]| CHSH SEXIe| Ef=E LIEILHE St 2% 4
ULICE 017|M = E MM (indicative mood), &M (imperative mood), **7}&®H(subjunctive
mood)**2| M| 7tX| B0l CHal MHSIZISLICE ZF el AFE 422t AL WS XiM[s] HHSHISL

Ct.

1. M (Indicative Mood)

EY2 AMRO[LL &

&S Zlsot, ZESHAL, o|AS LIEt = | AFZELICE JooM 7+ &5t

A ArEElE HLIC.

Ao|Lt 3l AES Tl&E mf ALEILICH
22 nj ALBHLCt

o

=

LtEFE o AR RfL(Ct.
A2 Chefet A[R|QF ebH| AFSEILICH F0{2t SAtS| 4= X[, AIM|ofl k2t SEfZt gL Ct.

o XY AA:

* “She is a teacher.”

* “They play soccer every weekend.”
o A AA:

e "He was tired yesterday.”

e "We visited the museum.”
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o Of2H AlH:
¢ “She will go to the party.”

e "“They are going to travel next month.”

.

Mo

* “Are you coming to the meeting?”

e "Did she finish her homework?”

2. Y& (Imperative Mood)

2z
oo
o
40

[ ]
02
o
1A

)

2

o

o) m|0
i

I

>

)19

ol
r
o

o ol

oxd M
0 oy oA

o

=

0O 0o

o

k]
m
0
o
Of
mjo
_O'h
>

R
oo
0z
03

2 L= HRE o W AZELIC FO0= HE B, 071 “you

[ ]
oH K fO
re
~
rH
3
[
|-O
=)
Il
a0
30
mjn
g'l_l
>
o
o
-
iul

=
| ZEf3 KA o AFS ST,

IIOI
—

HHY2 SAte| IS AMEELICE 2 HEN M= "do not” E= “don't”E AFERILICH.

oizd.
b oo‘-

e “Close the door.”
e “Sit down.”
A

* "“Please pass the salt.”

FO

¢ "Could you help me with this?”

o ZO/HST:
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e "“Take the next left turn.”
e “Try to stay calm.”

o 2X|:
e "Do not touch that.”

e “Don’t talk during the movie.”
3. 78" (Subjunctive Mood)

FEEE 7tdel ¥, 28, 2F, Mot SS LIEHE wf AFZE LT S 7hE™at 2t TPgEe 2 L

o Jt¥e| ¥ NZ LOLIX] FUAZLE O 7Hs5F0| 2]2et &S LIEHE o AFSELTY.
o 2Y/5|Y: HIZIO|L} S|YS Ede i AFSELCY.
o

T/H/EE: 27, M E= WHS LiEtE o] AFZE LT

o FO| + SAL A (3QUF 0= SAF RFIEE ALE)
o Of|AL:
e "| suggest that he study harder.”

e "t is essential that she be here on time.”
7 7PE.
o 0 + 1Y (be SAtL] 42, RE QAE CHal “were” ALE)
o Of|A]:

e "“If | were you, | would go to the doctor.”

* “She wishes she were taller.”
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7F8d 2 2E:

o FO + had + THHEAL
o Of|A]:

e "“If she had known, she would have acted differently.

"

e “| wish he had been there.”

OlAlet FHIK Q! AL

38 oA

Z%: "He eats breakfast at 7 AM every day.”

o (M Ze)
e 2% "They visited the Grand Canyon last year.”

o (A2l A2

o 2 "Will you come to the party?”
. @)

1

o 2% "Please open the window.”

o (2X)

P

7
e E&: “Itis important that she be present.”
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o 2 “| recommend that he take the test.”

o (HI2h

7P8.

o 2&: "If | were rich, | would travel the world.”
o (71ate| AZh

o 22 “She wishes she were at the beach.”

0

e E&: “If he had studied harder, he would have passed the exam.”
o (UHCS| That A2h
o 2% “I wish | had known the truth.”

o (IO 2Y)

MO
[III

oM 2 StXte| Ef=E LIEH= 528 QAQILICH 2™ AMY, HE
=

o
S0, Chse AIFIQH S A EILICH JRHE Y, 28, =

1

mo re
kR
rr
oy
Ral
|
i
m
n:
Rl
o
"
=2
O

Ate] IS ALSEILICE JPHHE Thaol A, AT, 271, Tiot
=
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[15] F0{et £0{2| 4= LX|

Eddie: 3012t £0{2] 4~ AX| A0 2l M YT, =5 LX| Al7|= Y| 26 = DHHF.

ChatGPT: G2H0j|M F0{2t £0{2| & Y X|(subject-verb agreement) $1&2 BE&2| 02} SAl
O| =7t LX[5HOF SHCH= IZIQILICE Ol BE2 Moz MalslA 2hE7| Qo 24&X ULt =

= =
07t & mi= SA T2 He SAE S2ES ASELIC. oo
H A

f
Of ={oj chat 21t

e Of|A]: “She runs every morning.”
e “She"&= B F0{0|12, “runs"= B4 SAIILICH
2. 85 F0 + 2 AL
o FOI S+ M, SME S4S AFSRILICH
e OlAl: “They run every morning.”

* "They"E 4 FOOIT, "run"S S+ SARILICE

Folgt 2012 8 YRINTIE= W

o Tk Of: CHEZEC| Bt FOl= SAIS] 7|20 “-s"Lt "-es”E F7IRILICE
o OllAl:
® "“The cat chases the mouse.”
e "“Adog barks loudly.”
o S O S FO = At 7|2™HS AL RLICE
o OllAl:
® "“The cats chase the mouse.”

e "Dogs bark loudly.”
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2. B F0jet SAF 2k

-

e YA TE BAs B2 FSEV|E 5t 542 FF57| = g

I

°
i}
o2

>

r

3l
24 3
o E7HF WAL 2714 BALS S S EALS AFBEILICH

o Of|Al:

e "The information is useful.”

+ #2: "The team is winning.”
e J F&: “The team are arguing among themselves.”
a

e “Water flows easily.”
g FO: = 7 0|4 07t “and" 2 HZEEH, SAtE 5+ S AFSELICL

o Of|Al:

* “Tom and Jerry are friends.”

* "“The teacher and the student have left.”
e “or”, "nor"2 AAE F0|: FO{7t “or"O|Lt “nor” 2 AZE|H, SAtE 7IH2 FO{0f| LX|EHLICE
o Of|Al:
e “Neither the teacher nor the students are in the classroom.”

e “Neither the students nor the teacher is in the classroom.”
3. BEF0{Q} SAF X

“Each”, “Every”, "Either”, "Neither": 0|E B &= Bt O E FZEH B SAIE ALEE
L|C}.

o OfAl:
“Each of the students has a book.”

“Every student is required to attend.”

“Either choice is acceptable.”

“Neither answer is correct.”

4. "There is/are” 112

e “There is": Tt 00| AP EIL|CE.

o OAl: “There is a book on the table.”

133/353



e “"There are”: 54 0| AFZEIL|CE.

o OJAl: “There are books on the table.”

5. 2113 Fol2t SA x|

o =TE Sd: RR A= S7E S5YS 7KL ACH, 0| B2 SAte| FEHE F2l5H0F LICt.

® "“The child plays.”
e "“The children play.”

o
ofn

AL} S

FO0|2 ALt uj
o STALLL BYATZE FO{ 2 AMBE[H Th SAIE ALSRILICEH
o OflA:
e "“Running is good exercise.”
e "“To read is enjoyable.”
OllAle} =2 Afet

1. B¢ O] + Hhe SA

o 2% "The dog barks at strangers.”

e “The dog"& Tt F0{0|11, “barks” & TH SALICE

2. B4 F0| + B4 5

o 2% "The dogs bark at strangers.”

e “The dogs"& = 00|11, "bark”& =4 SAILICE

3.8

i

=0] + 24 S

e 2% “The teacher and the student are discussing the project.”
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¢ "The teacher and the student”= S¢&f 00|11, "are”" = S5 SAIL|CY.

ol

4. "or"2 AZE 0| + JHNH2 F0{0) YISt SAL

o 2 "Either the teacher or the students are responsible.”
e "The students”7t 7Dt F0{0|11, “are”" = 5S4 SAIILICE.

o 2 “Either the students or the teacher is responsible.”

* "The teacher”7t 7M1t F0{0|1, "is"= Et4= SAIILICEH
Z2E
GEHOIM F0{t =0{9| = EX| @22 B2l FOLt SAte| 7} EX|5HOF eiCh= #AQILICE. =

x|
07t B2 T SAIT s AMESH, F0{7F S8 e SAE S-S AFSRILICE 0%t

JEflof 2| w2t HEot SAH HEHE MEiSHE AYLICE Of
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[17] F0{e| =& }etsty| flsiA] HtEA| 7|5H50{0fF & =3
Eddie: Z0{0| £2 HCi2 Trotsty| Qs BIEA| 27|HS0{0F & 0| S iz,

ChatGPT: F0{2| =5 H|ti= mtefstr| lsiM= R 7HX| EEs Ao HAHSS 7|5
s

QBILICL O|2{5t HEIE2 £ BEHEOR &
=0 = =

—

01| ~E Hets| mfetst
1. Zgt HAL (Collective Nouns)

2 YAh= HaEoZ HO|X|2H Teh M|

HME LIEIE M Tt LE = AFEE £ AFLICH Ol=
GooM = tiX 2 B2, = FooME S+2 ASELID.

o OfAl:
* "team”, "family”, “group”, “committee”, “audience”
e E&:
e Tt “The team is winning.” (0|2 H0])
e 2% “The team are celebrating their victory.” (&= YJ0)

2. 27 ™A} (Uncountable Nouns)

=7t GAts oY T2 FEED T SALE AFERLICH

o OAl:

e "“information”,

n 1 " n"

advice”, "furniture”, “luggage”, “money”

XF.

[ ] S,

Ho

e "The information is accurate.”

* "“Her advice was helpful.”

S*’

5§t F0{ (Compound Subjects)

=
=

oo

"and”2 HZE F 7l 0|2 FOZ FHE|N, QMO = S SAE AFSFLIC.

1

o

rr
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o Of|AL:
* “Tom and Jerry”, “The teacher and the student”
o &
* “Tom and Jerry are friends.”

e "The teacher and the student have left.”

4. "Either/Or" X “"Neither/Nor"2 ZEl F0f

Ol2{st H5d

S2 72 FO0f| et SAre| =7t 2FELCt

o OfAL:
e "Either the teacher or the students”, “Neither the students nor the teacher”
o 23

¢ "“Either the teacher or the students are responsible.”

* “Neither the students nor the teacher is present.”

5. "Each”, "Every"”, “Either”, “Neither”

|SE[] th SAIE AFSRILICE

Ol2{gt HSIS2 the FO= =

i

o OfAL:
* "“Each student”, “Every book”, “Either choice”, “Neither option”
o 23

e “Each student has a book.”
e "Every book is on the shelf.”
¢ "“Either choice is acceptable.”

* “Neither option is good.”

6. "One of” + B4 WA}
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o Of|Al:
® "One of the students”

b3

[ S

Ho

* “One of the students is missing.”

7. "There is/are"” 9=

O] FE20M= "there” 7t 017t OfL[EL SAF F{Ol| 2= BA2| £=0f w2t SALS| FEH7} ZFELICH.

o Of|A]:
e "Thereis”, “There are”
o 2
e “There is a book on the table.”

e “There are books on the table.”

8. llSomell’ "AII"’ llNonell’ llAnyII’ llMoreIl’ "Most"

Ol2{gt EHS2 YALS| 0] 2} Th L= H4 SAIE AR ELICH
o OAl:
e “Some of the cake”, “Some of the cakes”, “All of the information”, “All of the

students”

o 23

“Some of the cake is missing.”

“Some of the cakes are missing.”

“All of the information is correct.”

“All of the students are here.”

9. 211=l 548 YA (Irregular Plural Nouns)

R YAl 273 SES 711 A2, 0 B2 SAtS| FEIE 2|30 gLt

138/353



o Of|A]:

o “child” (&%) / “children” (%), “man” / “men”, "woman” / “women”,

n "

mouse” /

“mice”, “tooth” / "teeth”

3

Ho

e "“The child plays.”
e "“The children play.”

SHALE BT FOZ ALZE|H o SAHE AFSRILIC.

~

e "“Running is good exercise.”

e "“To read is enjoyable.”
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also BEIE7t...

139/353



Chapter VI. =41 2H7{|2| m}jet

Eddie: 2E24-9 £=4/0{9| ZAE ET2| LIS T Yetth= ZHOM XtAMISH 253,

= Qa4 289 7|2 MUHE O|F= 4222, 289 7|2X¢l 20| MFEILILE 2 28 24

ZF0] (Subject): 2&0l|A SZE +™FAHL HEHE LIEH = FHIILIC
o OAl: “The cat sleeps.”0lA “The cat”0| FO{L|Ct.
o A (Verb): F0{9| SEO|Lt HEHE LIEFHLICY.
o OAl: “The cat sleeps.”0llA “sleeps”O| SAIRILICE.
e ZXM0{ (Object): %] CHAS LIEFRLICE
 OAl: “She reads a book.”0llA “a book”0| Z&{0{]L|Ct.
e H0{ (Complement): FO|LI SX0E 25 HAYHRLICE

e OAl: “She is a teacher.”0IM “a teacher”0| =2 HO{QIL|C}.

N

. 40| (Modifiers)

L]
>~

HEAL (Adjectives): HALLF LHEALE 415101 11 B, &, JE SS 2Lt

o
e O|Al: “The red caris fast.”0lM “red”= “car" & $£Al5H= SEAMRILICE
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o FAl (Adverbs): SAH, HEAL CHE RAFE= 8 THIE #4510 S, A2, E4, E= S 4
Yt

o OfAl: “She runs quickly.”0llA “quickly”= “runs”& $=Al5t= SAILICH.

Yl

FOo= 2T FHIE LIELHD, AL AEAT7L FOE +AI5104 F0{0f Tt 7t

{HE N3

0.

7|2 2% “The cat sleeps.”
o A0 £} "The small, fluffy cat sleeps.”

o 07|M “small”2t “fluffy” = F0 “cat”E $Al5H= Y EAIRILICE

2. SAet +=40]

SAtE F019| SHOILE SEHE LIEHM, BARLE EAF7E SAIE $A4I510] SEQ| Y, AlZt, E4,
e S YL
o OflAl

712 2% “She runs.”
A0 7} “She runs quickly.”
o 0{7|M "quickly”& SAt “runs” & $AlsHs HALRILICH

1

SH0= SHO| Y-S HEHLM, AEALT FEATZ SHAE 415101 SHO{Of tist F7t HEE
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o 7|2 2%k “She reads a book.”

e 07|M "interesting” 2 SX0{ "book" & Alot= FEAMLICE
HOlE FOLI S0 E ES HYsHH, FEAILE FEAI, BALLE BAIRIL B E
=
=

o 7|2 2% "She is a teacher.”

o A0 7} “She is a very good teacher.”

e 0171 “very good"2 % HOf “teacher’S 43t BBARRILICE

A= HE AL Aol 2IXI5I0] 1 HALE AgfLCt.
o OAl: “A beautiful garden.”
o ASAIHOZ At E U= 0| F{0i| RIXIRfLCt.

e OlAl: “The garden is beautiful.”

Hape] g

o RAL= SAL FEA}, CHE RAF LOILE 2T M 9F EE= M F{of| fIX|E 4= ASLICH

o Of|Al:
o SAE =4
o HEBME fAME M| "He is very tall.”
X =
=

sAleh imlf: “Unfortunately, he failed the test.”
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OflAl 1: Z=0{2}t A AL

7|12 2% “The cat sleeps.”

40| £} “The lazy cat sleeps.”

e "lazy"&= FO “cat"S A5k FSALICE
OflA] 2: SAte} BAL
e 7|12 &% "She sings.”
o 20 £7}: “She sings beautifully.”
o "beautifully”= SAt “sings” & $AISH= BARILICE
OflAl 3: SZ{0{2t &AL
e 7|2 2% "He bought a car.”
o 40| £7}: “He bought a new car.”

e "new”"E Z2X0] “car’E $£AlStE HEARILICE.

OlA] 4: =2 Hojet PEAlT

7|12 2% “The cake is delicious.”

40| £} “The cake is very delicious.”

o "very"= Y&Al “delicious”E $AlsHE EAILICE
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[2] $40fe| 37

Eddie: £4|0{2] ZRE Tho] the|Q] £A{0{Qt 7 BHe(2] £=A0{= 212} LIF0{M 7| St 3H 2Es
.

ChatGPT: £=4{01= 20| THE HOE FHFHLL S HY50] QJ0|E 5| 2tes A4S
SfLICE 40f= To THelo] 40fQt 7 EtR{2] #4002 LiE

7|52 AtMls| 2EstASLICE

SLICt. of2HollM ZZte| 7t

?9

s

of

rs

212] £210] (Single-Word Modifiers)

rn
2
rn
J0
1o
4>

AoE T2 YA BEALZ M EILICH 22| 7|2 Ci31t &Lt
1. &8A} (Adjectives)
AEA IS YAIL CHHALE RHF0 O E4, HEf, % 52 dYeLICt

e Jls:

o YA A HAL 0|l 2|X|510] 1 HALSE FO{SLICE

o HOZ ME: 4 HOjLt S5 HO{Z AZE|0] FOLE X0 E S FHELCL
o OfIA:

o A AL "3 red apple” (EZH At

o FZA HO: "The apple is red.” (3 Atzt= EZLH
HAl (Adverbs)

BAt= SAL &AL

CHE BAf = 28 HAIE 0T S, A2, 82, 8k S= 288Ut

Al SAF OILE Fof RIX|5H0 SEf2| W, AlZE, S SS YRt

o YA A AL 20| RIXISH0] O FEAt2| 2|0|E HEtRfLICt.
B 4 THE FAL 2ol 2IX(5H0{ 11 2Atel ofO|

A

T

=
=
2ol o HO|LE M F{of] /IXISHo] A EHE

-+
=2
1ok
-
n
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o Of|A]:

o ZAt £=4l: “She runs quickly.” (A= BEH Z2ICH

o HEAL 4l "He is very tall.” (3= 042 7|7t —_—II:|-)

o C}Z BEA} 4l “She sings quite beautifully.” (A= B OFSEZ| =2fEtch)

o 2F MH| 4l “Fortunately, he passed the exam.” (CH&5|, = AIR0f &H2HCH

T tt2le] 210 (Phrase Modifiers)

40l= F 7l O|¢2f {2 O|RO0{H A2, AT, FEALT, AL, TX[AT SO| =
S

AT E BALE Z&510| YAME FHFE= AL S LIt F0|, S50, 202 MEE 5= AFLIC.

o 0|, S0, HOE A: ET2| 0, EX0], HOZ AL 222 =2 MES Oo|ELICL
o OfA]:

e Z0{: “The big red balloon floated away.” (2 7} ZM0| [SRITH

e Z2H0{: “She saw a man with a hat.” (JIH= 2XIE £ HXIE

e H0{: “The winner is a student from our class.” (2&Xt= 2| gt st40|CH

2. @87t (Adjective Phrases)
HEAMTE HEAR O £AE O|R0{N Y2, BALLF CHHALE FHELICE,

e Jls:

o YA} 4] HAL AO[LL FOf] 2IXI5t0 T HAIE FRH{FLICH.

o HOZ ME: 7 HojLt 2XZ HO{Z AIRE|0] FO|Lt S0 HE MYt
o Of|Al:

o AL LAl “The house on the hill is beautiful.” (215 €| Zl0| OFSEICH

o FZ HO: "The house is very spacious and modern.” (3 &2 0§ 111 SCAO|C})
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3. B2 Al (Adverb Phrases)

BARE BARRE O 402 O|R0K UM, SAL FEAL LE BAf, = 22 THIE PHELIC

o M A SAF AL Fol| 2IXISH0 SEQ| W, AlZt, B4 S5 SFFLICH

— O o

o YEA 4 A 0f| RAXISI0] O FEALS| 2J0|E FeteiLCt.
= 4] CHE 2AF 2H0f| ?|XI5H01 2 #Ate| ojn|

A

L

=
- =
A EO| ™ AO|Lt T Fof !IX|5H0{ FH 2ES

-
=2
iz}
L
=l

Al
o HEAI 24l "He is almost completely sure.” (3= 72| 2tH35| &4lstT
=

Bl 24l “She sang quite beautifully.” (A= 2 OFS & =aigiC
A =4

4. MX|Al+t (Prepositional Phrases)

h

: “In the end, he decided to stay.” (2=, J&= H{=7|2 AF3C

HXAF = TRIARE O SHOZ O|R0N o, A, SA, FEA S FHELIL.

e Il
o YAl AL AL QHO[Lt F[of RIXISt0] T HALS FHEL|CE
o AL 24| SAL AO[LE F|of] YIX|SH0] SEC| B, Al7E, A S dYFLICH
o Al 2 FEAL 2O[Lt Fof] 2[XISt0 O F&AIS| o|0|E ZstetL|Ct

o OfA]
o AL Al “The book on the table is mine.” (El|0|2 /2| Zi2 L} Zi0|C}H
o AL £=Al: “She sat under the tree.” (= LIS Of2H0l| SRACH
o HEAL $Al “He is interested in music.” (1= 22H0f 2tA0] QIChH

-l
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SHeAl

ABARL BALZ FHE[0] AL CHEAL, SAL 2 =
o, F8ALT, BARS, FXA S0| Zete|n, 282 0, X0

S NO{ELICE 41012 HES| ArE35HH 232 2|02 U< SF6t AXHAHe

PO 25 S0l 2 ol|S BRap Blos FR3 o

, FARE S syntaxOflM ARE El= 2[0] EHRIE +410{0] =
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[3] 7 7HX| =4 &

Eddie: Yo{9| RAt= 41018 H|Sot= Yat 22510 4107t CHE A0 ZRE F7t YEE

M= SES 7HssHA siiF=0, 0l ZetshA A2-0IM 5183h= & 7HA| =4 Lol 2tsiAM

2EHF.

ChatGPT: S0{0l|M =40l= 22| CtE 220 F7HAel HEE MSste A4S gLICh RA=s
X

Ol2{st 4|0 HEE f&sH= T2 QA B SILIE, SAL Y&AL CHE BAHEE M 282 12 +
USLICH SEHOM A E F 7HK] £ WHOZ J|SEIL|CE **&|X Al (Direct
Modification)**2} **Zt8 £=Al (Indirect Modification)**QIL|C}. O] £ 7tX| EHHS KiM|5| M5
&Lt

1. Z1™ £A! (Direct Modification)

Y A2 407 HEZ T O[Lt 7o = HOE PHFE AS Q0[ELITh fAL= SAL E&
Al Bt BAL = T 2EE HE 72 &+ AsLICH

a. SME A5 = BAL
HAtE SAL QO|LL F Ol QIX|5H0{ SEfo| B A7t A4 M S5 MWL,
o OAl:

e “She sings beautifully.” (J4= OFSE7| 2isic) - S S MY

=O
£ W2 72 ZEi) - YHs 29

e "“He quickly ran to the store.” (2
e "They arrived yesterday.” (152 O{H| =&ICH - A|ZHS MY
e “She will meet us there.” (A= 22|12 H7|A 2 Zdo|Ch - HAE MY

fIXI5H0] O E8Ate| o|o|E FetetLitt.

149/353



o Of|AL:
e "Heisvery tall.” (3= 0§ 7|7t 3LY)

e “She is extremely intelligent.” (A4 & OHL S£53ICH

c. C}

r

e

M
rir

Aalsts S}

HAt= CH2 2A}F QHoj| 9IXI5H0 O §Atel o|o|E ZalatL|Ct.
o Of|A]:

* “She sings quite beautifully.” (4= ¥ OFSE| =2i5tCh)

e “He ran very quickly.” (3= O W= ZFICH

HAts 282 W oLt M 7ol ?[X|5t0] FX| EFS FHELICH

e "Unfortunately, he missed the bus.” (E&5|x, O
i

= H
e “He missed the bus, unfortunately.” (1= HA S =3ICt

N

™ A (Indirect Modification)

Ef =7t YEHE HMS20L 0|F Sdll &l =40 E delsts AS

=]
, Bt =207t EE CHE 21018 PHE2EMN, EH0IM O ZR28 YEE MN3dh= LA

ololgtct
Qjuict
SAL9] ZHY 24

BEAZL SEALE 45101, FEAZETHE HALLF CHEALE 418 O #X|F Q! o|0|E TERILICE
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o Of|A]:

e “She is quite intelligent.” (A& B £=E51CH

o 0{7|M “quite” = “intelligent”& #AI8HH, “intelligent” &

"i— x llshellO“ I:H 2|<— |'IO-IE§

A2 LIt

b. A7} CHE SALE 7HY 44

HAZFTHE RAIE £A510], BAIZE SAL A8AF = THE BAE A8 M O FX|FQl 2n|E H

SretLich
o Of|AL:
e “She sings extremely beautifully.” (J4= 0§ OtSEZ| =ai$tCh
o 07|X “extremely”= "beautifully”E A5, “beautifully”= SAt “sings”"& AEL

Ct.

SALRE| 2K 44
a. BAITTL SALS 2 24

Abofl oSl =7HE QI HEE MISsHH, AT Lo HAL Sy Q48 HS FX|eketL|ct.

BARRE &
o Of|Al:
e “She ran with incredible speed.” (AH= AL ST 2 EiChH
BAMAZ, “ran”E $ABILICE “incredible” 2

e 0{7|M “with incredible speed”"&=

"speed” & $AI510{ “speed” 2| 2|0|E ZE}RILIC

b. EAIT HEALE 2 44

FARTE A0 thish F7HEQl YEE S5, RAR Lo HAL iy Q48 HS FX|eketL|ct.

L OO

o Of|A]:

e "He is happy beyond measure.” (1= 3i0}2! &~ g10| &i55iCf)
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e 0{7|M “beyond measure”"= RAITE, "happy” & ALt "beyond”= “measure”

E 415101 “measure” 2| 2|0|E Z35tEiLICE
=

QoM =410z 22| CHE BE0i| F7HXQl MEE H|S5t0] o|0|E E2517| SEs dehs i
C} Al0je 71K £ g oz 7|58l & 4! (Direct Modification)**2t Zt
(Indirect Modification). 2% 4|2 £=4{0{7} Ht= 1 O[Lt 7|0 L= EHO{E FO{F
BA= SAL &AL, CHE BAL = T 222 28 72 £ ALt 248 =42 =407 THE

= =
A0 28E 27t HEHE MSE0t 0|2 Sall Al 40 S Zalsts AS 20[EL|T. FAR BAS
= = 0

ol
ol

Al THE BAL A S2 1EE2

=M™ ®x| 22 £2A5H= 2AF 53t 20| biased data set0fl 2|3iA training &l 2112 HIZ.
2E PHF= £24/0= GO0l EXSHK| 52, BFAIEZM =010 SAE F4E1F1, 202 SA=
= &0 )

X 2 FAof| F7HHQ HEE =L

_|
4

Zt

rr
2

o
=
2

2= IS
A7 THEH2 2 XFE 4= gl= 407t EXSt= A0 = oA OfTH Q102 ZelTf?
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£ gekop/ MEsts ol =22 LI +A07F HES fIx[of] A2
A

e OfAl: “She only drinks water.”
e 017|M “only”7} “drinks” & =AI5tH, J147t 2% S0t ORACH= 2[0|7f ElL(CE
e HIHO|, “She drinks only water.”2t11 5tH, 1147} OA|= 20| 2#0|2t= 2|0|7t ElL|Ct.
o A0 Q|X|0f| w2t of0[7t HEX|EE, 2/0] W2} AF8SIH QHE £ o= AUSLICH

RASH0 E8E EEACZ SHIZA BEUCH HetE A2 &2

—_ = =

o 2HIE 2% “The quick brown fox jumps over the lazy dog.”
o 0{7|M “quick”Z} “brown”2 “fox" S $Al51, “lazy” = “dog” S SAIBHLICE
o HRE 2% "Quick the brown fox jumps over lazy the dog.”

o A0 el A0S AHESHH EHE oz SHIE 288 UE = AUSLI

3. oM2 829 2 EY
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* “She completed the task quickly and efficiently.”
o 07| "quickly”t "efficiently”= SAt “completed” & 4I5HH, 1147} LS OEA =3

XIS s MBI

AN L—

ZE RAGHES EotELICH HEtE T2 97
=
=

o GiAl:
* “She is a talented and hardworking student.”
e 0{7|M “talented”2t “hardworking” 2 = Ct F&AIZ, “student”E LEHE|H| SAIEHLICEH
* “She is a talented student and hardworking.”2t11 5tH, 20| EXF3iK ZZ0| 0{A5

T 4 YL,
5. S4j0fe] ojn| wats}
4101 AIg T2 4/012| 20| TG 5101, SHOIN 4017} £AS FOIER 25| FLICH

o GiAl:
* "He drove the car carefully.”
o 07|A “carefully”& “drove”& AI5101, 27t ZHAEA
e “Carefully he drove the car.”2t11 slii= 2|0|= M E|X|CH LEAOl RS MEH O XA

ARD YEELICE

A
rhu

154/353



HAMQILICE. Ol2ist

5

e, elAtaEe 28dS =017| 9

o

i d!
ol
KO

K
i[d

Kk
ol

HEILICY.

5

—

=)

2l QJAtASO[ 7}

= o}

ol

Eddie: d&2%0| ¢

2 N

fLICE.
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=

=

b2I[0f] LO10F 2 ofn|7t Mtz HE
Al5

HL|Ct.

=

et
AlS
=~

=

f

b "b|ue”E EO—IE ZIC_O.i Hskyug _J'k_

o

A “sky” S

| -

4 2oLt S5 202 AL 2E 5= UAsLICh

EAt, BAhE ZEIA

H.

4
“blue”

[s}
o

A (Adjectives)

CHEar 2Lt
L

O
4

o

Al
3
At

7] 25 ELELICt. Of2Hof| A
A

a. AL ghof| 91x]

o OfAl: “The blue sky” (
b. 20|12 Al

o OfAl: “The sky is blue.” (

A
T

1.



2. 2A} (Adverbs)

a. At =4
HAls SALE +AIE I 28 SAH Fol| 2IXISHK| 2 ZR0| w2t SAF 2ol 2

o OfAl: “She sings beautifully.” (O OtSE A L2HEtCt)

1=

e "beautifully”& SAt “sings” & $ASLICE

U_
02
oo
=
4>
1z

HAtE S&AF &0l| 2IXI5t01 11 20| H=telLct.

e OIA: “He is very tall.” (2 0§ 7|7} 3L

=0
o "very"E BEA "tall"g FABILICE

o "quite”"= BAt "beautifully” & $ARILICE,

BAls 2F2| M A0[Lt T Fof| 2|X|5t0] WX 2&S +=AE £ ASLIC
o OfAl: “Unfortunately, he missed the bus.” (25|, I HAE

e “Unfortunately”= SH| 2% sARILICL
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—
020
oo
>
1o
4>
1z
fim]
0%
2

. YArete] x|

Q

A
NN

= HALRE ZXISHOF 5HH, FAtet 7H7H2 fIX[0f QU0{0F BfL|Ct.

ook
[e][]
rr

A

rr
oot

e O|Al: “The happy children” (858t Ot0|E)

e "happy”= Al “children”& AIRHLIC

o_
ou
02
ojo
>

= AEAE ASHE AN 20| /XIS, Btk S HALO| 2t X Hst HEHE AHESHOF LTt

e OIAl: “Many books” (22 HM5), “A few students” (ZZ &M45)

2. RAe} sACaof

a. SAtete] x|

HALE SAIE $AE ol SAteE 7p7k2 fIX[0]| LO{0F LIt £3], SAt2| o|n|E Hetks| 57| 2|5l

SAL O[LE 7ol PIXIRfLIC.

o OfAl: “He quickly ran to the store.” (3= WEH| 7tH 2 E2{24Ch

e “quickly”"= SAt “ran”& FAILICEH

b. @8Atele] x|

HALE &AL 20l| 2|XI5H0 FEALS| 2|0|E ZatelLTt.

—
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e GAl: “She is extremely intelligent.” (A4 D1 ££3ICH

ni_

e "extremely”= &AL “intelligent” & $AIEILICEH

c. CHE FAtete] x|

HAL= THE FAL 20l 9IX|5104 1 2|0|E Z=telLct.

 OAl: “He ran very quickly.” (1= Oi< HEA| ERACH

o "very"&s BAt “quickly”E ARLICE

HAts 229l W 0Lt T 7o ?IX|5H0 HX| EFE +AE 5= ASLIC

e OfA]: “Certainly, he will attend the meeting.” (&H45|, J& 3[2[of| &A1&t Zi0|Ch

e “Certainly”"= TH| 2&E sARILICL
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Clarity 21%]2] 324

o WEHY: 24101 2FOIN S EOLE 72 TOIFL BE MBBHLICH $400{0] QIRISALS
Ao| HetsHoF SR HAE 20| o|0|S 27 olaHE 4 YUBLICt

o 98 Wxl: HRE A0 AU 2401 2| [0S AT 23S ER{UCY 4 ALt
Tatst £AI0] ALBE 0|23t 2512 Wx|BH It

o B3 S5 BuE 240] A2 2H0| 522 XA 511, 20| Y7| 2 BELICE Ol

+410{ A8} Clarity 21%l2| Frsiel x|

1. 91X 73
=A0j= sA5hs O = 712k 7Pk fIX[of RLO{OF SfLICY.
o HBALRIX|: A= AIGHE AL ol RIXIBLICH
e OAl: “The diligent student studied hard.” (“diligent”& “student”& $4))
o FAL RIZl: RAL= AI5h= SAL &AL BAFEE 28 TRt 717k2 2IX|of| U010k LT
e OIAl: “She quickly finished her homework.” (“quickly”= “finished” & 4=4))
2. Dangling Modifier (O0fE2! $=210]) T|5}7]
D2l =A10l= =4]5h= To7F 280 BesA| LEILE] 2= 298 ZELIC o[2fs +=40= &
ol on|E ESAIZLICY.

o O|A| (BIRE 2F): "Driving down the street, the trees were beautiful.”

o O] 2E2 OIX| LIFS0| 2 2H5t1 U= AXE LT}

3. Misplaced Modifier (R2E fIX[2] $~2]0{) L|5}7|

159/353



EXRE ?Ix|e] +AM0 = A5 Hojet 1R HE| BofH R01M 2J0|E 23AIZ 5= ASLIC.

[ ]
=2
=
[
>0
rn
Ao

&): “She served the soup to the guests in bowls.”
e O] 2E2 OiX| £HS0| O Qhol| Rl= AAH EL|ct.
o =HEl EF: “She served the soup in bowls to the guests.”

e "in bowls"7} “served the soup”2t 7MIHY XA 2|0|7} Hetsi R SLICt.

I
4>
i}
2
1o
0I)|
E
ol

S

[}
=2
=
[
>0
rn
Ao

Z): “She is a very extremely talented singer.”

o "very"2t “extremely”= Z5E 20| MEELICL

o +™E % “She is an extremely talented singer.”

o BlLte| k5t AAlofat AL 510] WaFSIH ESELIC

(9,]

N
g
0x
K

g

job
0z
10
>

A0 E AIEY W EHE ZHE5H /XISH0] stia] HIAIX|7F Bets| ME =5 gfLict.

olAl (=&SH 22): “In order to effectively and efficiently manage the project, we need to
allocate resources appropriately.”

o +™E % "To manage the project effectively, we need to allocate resources properly.”

o SLRE +MNE HHsI0] 2ES ZHESH BHELIC.

Q

A2 A AR FEI2 BEHO| WaH(clarity)2 SXI5H7| fIsi ZLEILICE A0 s2Al5t=
CHO{2t 7P7H2 QUX[O| LO{OF 5104, OHEE] 44 =

0] S5 mlstil, 282 HEsH fAISH0] Eatet HAX|E HEsts 20| SQefL(Ct. o8t #

1

2_
o
izt
M
rin
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5t
=

f

=l A
=T

HA: =2x7t

=
L

O| OHOHE S otA M

=|
&l

| 2 T

training data0l| bias7}
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Eddie: EHOIM 7SI A= +20{2] F FHX| UX[0] 2t HHHF.

ChatGPT: G220 £AI019] fX|= E&2| Wekyut o|0] MEO| ZL8H IS §LICH A=
MO 2 £ASH= THORE 71712 IR0 QL0{0F 504, 1 2| X|of| w2t E2&e| o|O|7t &t £~ JUES
LICE A0 2| 2[X[&= IAH F 7HK|Z LIz & JUSLICE: **SHEHH |X| (Restrictive Position)**2

HISHEA 2|X| (Non-restrictive Position)**QLICt. O] & 7}X| |X|ZE XtM|s| BHsIZISLIC

-
*
*

oFH QX2 40 = YN ExHel 2=, 4 5h= HOfLE 19| 2|0|E Aghst A[eHelL
Ct. Ol2{et A0 = Gl 2F2| 2|07t IA H2X|ZL ofjoisHE 4~ ASLICH BN = AL ¢
OlL} SAL, HEAL, BAte] 7pk2 ?IX|of SLICt

HEALE HE $£ASHE YA H0f| QIX|5H0] T HALS| Q|0|E X |stEtL|C.
o OJAl:

e "The blue caris mine.”

o "blue"E "“car"E HHst0{ EXSH RIE LIEFHL|C

BAl= SAL SEAL, THE 2AF O[Lt F{of] fIXI5H0{ 1 2|0|E X|gtsta FHx||skefL|ct.
o Of|Al:
e “She quickly finished her homework.”

e "quickly”= SAt “finished” & eFE5t0] 1 0| 2| O|RO{HFSS LIEFALICY.

2. H|8FHH 2|X| (Non-restrictive Position)
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HISHEH QX2 =401 ZHOIM F7MHel E =2, +A45H= HOfLE 72| 2|0|E H|gHsHA| gt #ot
Mol ¥S ’SELIct olz{gt +=A0= Qo= 22| 7|= o|0f= #H5HK| 5Lt F= gE=2
=EH, 2 SO[LE B0j| X &~ ASLIC

AEAT = YA Fof| !IXISH0{ 7t HEE MB350, HE= A= EL/C

o Of|A]:
e "“The car, which is blue, is mine.”
e "which is blue”& “car”0f| Cigt 2715l MEE X|Ss5tH, glo{: 289 7|2 2ils &

K| gL Tt

SIS HIBHEE 21X

I

AR E 2% SUOILE E0 XI5t 7t YEE MSsH, =2 dEZ PR E LT

0

o Of|A]:
e “She finished her homework, quickly.”
e "quickly”= SAF “finished”0fl tiet F7F EE WS35, g0 2&2| 7|2 2/0|

K| ELCt,

o
TT

rr

2410f 2Ix|2| TRl of

B gI|
a. WAE 2415t Y8

e OAl: “The old house was sold.”

e "old"E "house”"E t™sI0{ EFSH TS LIEFAL|CE

b. SAt

M
rir

A5t B}
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A
T
SefLch Z2RE fIX/o A= +=40= 2J0|E A=6tAL ES

OIAl: “He carefully examined the evidence.”

o “carefully”= SAt “examined” & 8HY510] 1 SZ0| M5t O|FOH{FZS LIEHLICE

o2

SALE 2415t

rir

2t

OlIAl: “The movie was very interesting.”

o "very"E HEA “interesting” g St&st0{ 1 M= E LIEFHLICE

O|Al: “The book, which is on the table, is mine.”

e “which is on the table”= “book” 0l CHSt F£7t HEHE X|35t0, 222 L2EL|CH

SAE S5t

rir

BAT

OllAl: “She finished her project, without any help.”

e “without any help”i= SAl “finished”0fl Ciigt 271l YEE NS35HH, HE= A= EL/CH

fIxl= 22l 2J0|E a5t 5, QT E HX|5HH, 2Tl SES AL HE
=g =3
=

HZE 2AZ]|: “She almost drove her kids to school every day.”
e 07|M “almost”7t “drove” & #=A15t01, 1147} 72| O OI0|SS st Cfl2{tt & A
HlLC,

& 2IXl: “She drove her kids to school almost every day.”
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o

twof| Hj=2{ch &Ch= 2|0]

d

e “almost”7} “every day”E 215101, 147t 72| OfY Ol0|S2

7t FetsELIC

Z2

FEHOIM =A0{2] fIXI= 22| Fatdut 90| ME| S A= gLt +40{9] #|x|= o
H IX|et H[EHEH 2IX|2 L= o= 20, Z{Ztof fIX|of wf2t 2&2| ofn|7t HatE 4= ASLICt. o
HH fAx[2| +40l= +Hel 2R #4st= HOLE 72| o[0|Z H[gtst FA|gtstH, HIeHEH 2
xof s=A0j= BItHel HE = 7t S NSELICH SHIE =40 /IXIE /AlstH 22| Fehd
1 S =0[1, S FRE A ofsE & fl= 2EE e -+ ASLICH

Eddie: RN Rt A= TX[A0{2t SF4-A0{0f 2HaiA 22 DY

ChatGPT: JZ2H0IM 240/ +45h= T0{Q| 20l 2= HRI24{0](pre-modifiers)2t +A5H=
cholel Fofl @& EX|$ Ji.°‘|(|Oost z E
AL, SAL FEAL, BAL

0|r|
5
i
Mo 3
024
fO
B>
muin
-+
=
4
i
Mo
02
10
10
o
i
Ol
4
ol
=
=]
on
-
Iul

Mx|$210{ (Pre-modifiers)

R SA0f 4415t

o
2
10
=]
f=)
)
Rl
(o]
<)
|

= THO{E RHELICE FX|SAO = T2 ISR AL
2 FEE|N, AL SAL, FEAL S A ELICH

1. ™A

——

oro| g8 Al (Adjectives before Nouns)

HEAE AL 20l| RIXISH0] HAIS| Y, =&, dE S5 2L

o Al
* “The beautiful garden is full of flowers.”
o “beautiful” HAl “garden” 2 $=AIBHL|LCY.
® “She bought a new car.”

"

o "new”= YAt “car
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o OfAl:
e "“He quickly ran to the store.”
e "quickly"= SAl “ran" & $ARLICE
* “She always speaks politely.”

e "always”"= SAl “speaks”E FABILICH

w
02

Al 2te| BA} (Adverbs before Adjectives)

HALE &AL 20l| 2|XI5H0 FEALS| 2|0|E ZatelLLTt.
o OflAl:
* “She is very intelligent.”
o "very"E F8At “intelligent” & $ARILICE

® “The movie was extremely interesting.”

e “extremely”= @&Al “interesting” & FAIBILICEH

4. CI2 BAL 2ke] BAL (Adverbs before Other Adverbs)

FAts CHE 2AF 0 /IXI5t01 1 2|0|E ZafgfLitt.

o GiAl:
* “She sings quite beautifully.”
e "quite”E FAL “beautifully”E $AIBILICE
* “He ran very quickly.”

ni- H ng

o “very"= BAb “quickly” & AgiLICH

SX|+240] (Post-modifiers)

166/353



XM= A5 THo{o| Foff 2IX(5t0] 2 HOE RHELICEH S X440
T2, BAFE, SEME S2= FIE|H, ALL SAL, EEA SE +AELIC

1. WAL §l2] MX|MAL (Prepositional Phrases after Nouns)

HXIATE GAE F ol 2IXI5H0] HALOY| CHEE =71 YEE FMSeLct.

o OfAl:
e “"The book on the table is mine.”
e “on the table”2 YA "book” & AIRILICE
* “She is the manager of the department.”

e "of the department”2 A} “manager”& FAlgfLICt
2. HAL §Io] BAMRLE (Participial Phrases after Nouns)
FALZ2 AL F0i| RIXISt0] HALo]| Cigt 7t HE MSeiLlct.
o Of|AL:
® “The girl running in the park is my sister.”
* “running in the park”2 @Al “girl” & ATt
® "“The cake baked by my mother was delicious.”
e "baked by my mother”& YAl “cake” & AlLICE
3. YAl Fle] B A (Adverbial Clauses after Nouns)
SAE2 YA Flol| /IXI5H0] WA Chist 7t HEE HSELct.
o Of|AL:
* “I met a man who lives in New York.”

e “who lives in New York”2 ™Al "man” & $AIHL|C

* “The house that Jack built is still standing.”
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e "that Jack built”"2 BAl “house” & AIgtLICE

4. SAI 2] ARt (Adverbial Phrases after Verbs)

A= SALF O fIX[5H0 S22 Wi, A2t 4, M S5 dYeiLot.
o O
e "“She finished her homework in a hurry.”
* “inahurry"= SAt “finished” & $AJgiLICt.

* “He spoke with great enthusiasm.”

e "with great enthusiasm”2 SAt “spoke”& AEL|CE.

HxI4&A0j2} Sx|4Al0je] Rlojet ERA

o Al
e "The red apple” (A&At "red”7t A} "apple” 2 FH)
e “She quickly runs” (RAl “quickly”7t SAt “runs"& #&)

* “The apple on the table” (MX|AIT “on the table”0| WAt “apple” & #3)
e “The man who is standing there” (J&AIE “who is standing there”7} WAl “man”&

a)

A
rhu
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GEZHOM HX| =202t X401 22} #45H= THo{e| 20|t Fof| 2IX[5t0] O HOE PO
1 oJ0|E S5 BHELILE XA = F8AIR RAIZ FYE|H, =415 THO{9| 2H0f| #|X|5t0]
SA4H o= RELICL SX|+A0E XA, ZATE, BAHE, Y8AHE S22 LN, A5t
ttole] Foff fIXI5t0] =7t HEE S ELICt. o[2{5h =410 A8 AlE Sl 282l akdat 2[n|
HES ROz o &+ USLICH

SHE: 2H7t € £ U= 2 71X MY B2S w27 EASHER =
training data0ll biasZt 21517 = A2 =2 O|ZE. Heatstof g 4] 27 #2]0]

= A 2H Y.

1
1z
2
I
s P
1z
=1
L2
il
It
i~
gl

169/353



[7]1 & 7IX] 4 27

Eddie: Y2H0IM -5t = F 7HK| 4 2Rl dangling modifier error@t misplaced
modifier error0i| £tsi{A] MHHF.

ChatGPT: G20 = 7tX| =2 4] 23 = dangling modifier error2t misplaced
modifier errorL|Ct. 0|28t QF = 2017} 2 LHoll M H&SH @[x|of /X[ tot 2| 20| 7}

LDSSX|ALE =52 wf RHTLCH 242to] R 7E AtMs| BHSISLICE
1. Dangling Modifier Error (0§EEl 210 27)

Dangling modifier= =407} 2& LH0|M =AI5k= CHe0| H2t5HX| ZAL, +=415H= t&o] ofof|
Bl0{M 2f0|7} RSeliX|= LRYULICL F, #4017t FAS FOI=X| 2YSHK| 50t E&2| 2[0|7t

£S5 4 st
ol A2} 44

o EZElI 2% "Running down the street, the trees were beautiful.”
=82 0| LIRS0| Z5 FOoCiL= X E 2L

O
o +HE 2 “Running down the street, | saw the beautiful trees.”

o "I"ElE FOIE FII510] £7t FIOCHL =X HetskA gt

o HRElI 2F: "After reading the book, the movie was disappointing.”
e O| 2ZI2 OFX| Y57} S 2le Zix 2 HelL|c}.

O
o =HE 2 "After reading the book, | found the movie disappointing.”

o "|"2k= FOE FII5I0] F71 S A=K HetsHA| LT
2. Misplaced Modifier Error (22 El 2IX|2] £2410] 27)

ZE[ BON AL ZRE IR0 o 2F

_
— =
=07t 20 ZEXE /X0 AHM R

1z
2
d
1
1z
_O'E
rr
ju

0f2t L

FYLICE =

Misplaced modifier= &
9| o|0|7} A=E7LL =S
L

2 ColL} 12 A5

o
e
|0
E -
rir
to

1

olAlet €Y
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o ERE E%: "She almost drove her kids to school every day.”
e 047|M “almost”= “drove”E $AI5104, 1147t 2| O OLO|S2
HeiL|Ct.
o H™E E&: “She drove her kids to school almost every day.”
e “almost”E “every day” 20| F£0{ 2|0|7} HetsEILICE,
o EZEI E&: "The man walked his dog in a suit.”

Orx| 7H7F g&2 Y1 s ANME 2L

ol

Fuof| 2t & AME

J

e O| 2%

HI:I

o
—_
o $HE 2F: "The man, in a suit, walked his dog.”

* "in asuit"s “the man” ZMZ O|SA|AH 2|0|E HeatsHA|

ol

HL|CY.

1}

T 7tx| 4 72| x0|H
Dangling Modifier Error

o ZHIHE: +A407t 28 UolM A5t TidS BESHA LIEHHX| 3.

N
a - —
o 47 U FOIS FIIBI7ILE £A0IS THHRISI0] 2415t CHAO| WRBHEE 47,

o ERIF: $4107} 2415t THO9} LIS 2] HOIK Y7L HRE IR0l 0] O/01t AHTE,
o 27 W £A0IS SABHE TO| 2HZ OIS0 2H0| 0[0|S Pk 4.

OlAlet 3 Ei

Dangling Modifier Error GlA|

o HRE 2F: "Hiking the trail, the birds were beautiful.”
o EHH: =7} EBYS 50| st=X| YeatstX| 243,
o $HE 2F: "Hiking the trail, | found the birds beautiful.”

o “I"2H= F018 F71510] 47} SOIYSHER| WS B
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Misplaced Modifier Error Of|A|

o HRE % "He served pancakes to the children on paper plates.”
on paper plates”7t “children” & $4I5t= X HQl.
2% "He served pancakes on paper plates to the children.”

e "“on paper plates”E “pancakes” ZHE 0|SA|7H 2|0|E HESHA &,

YN F-5HD e F 71K 4 2701 dangling modifier error2t misplaced modifier
error= =22 Wk} o|0| M| 528t ZHE €2 £ JAFLICE Dangling modifier error
Aot CHAO| YR oS uf 25, Misplaced modifier erroris 4107t &2

[517] DAL 241012 4415t
=
S

rir
1
1z
2
]

i
m 0
ﬂ

=)
1o
N
S
:”é
g
F||:|
02
o
o
Lok
ol
~
10
=
(T
r
ue
ok
I 1o

rir

training data0il bias?t &5t = A2 2 O|SE. Hetsl{of o 4] 27| 7#2]0] OO 2S5HA 2

e A XY,
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Al
al

Al 23

SLIC}. of2fol| +=

T KEM|

I

(==

[

HA ofl2t

0|

off 2

HL|CY.

07}

| 2gstzllsLct.
Als

b

o

T KA

b

[

o
YA "apple”E =

| -

—

_g_Al_ llredll

Sh= WS o2t
EH*°|-0_|: llappleu

S|

AL BALE

S

SAE T2 BAILFCHYAIS AL
. BA.

o 2% "The red apple is on the table.”

ChatGPT: &0 2

AtRILICE,
GllA] 1:

oE|

<l

+

_g_Al_ llbluellE _D'C_O_I llskyll

S|

[sx
- O

OlAl 2: T2 HO|Z ABEIE ¥
. 24

o 2&: "The sky is blue.”

<0

oH

<l
+

2. 2Ael
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& “She runs quickly.”
A: AlgLCh,

I:IAl_ lquICklylll_ EAl_ "I’un ll%

o HAM.
o ACHAO]: “runs”

o
22

rir

OlA] 2: FAL ABAE =45

& "He is very tall.”

o 22
"= WE8AL "tall" S SAIRILICE

o 2M: EAt“very"E

° éIEH*}o_I ”ta”"

8 245t 32

OlA] 3: RALZ} CHE BAIS 4

rir

e 2% “She sings quite beautifully.”
=AlefL|C},

o EH: BAI "quite”= Al "beautifully”E

M.
o FACHHO]: “beautifully”

o
ze

rir

OlAl 4: B2AZL 2 HAIE 251

2% “Unfortunately, he missed the bus.”
"= 2% A “he missed the bus"E ¢

o 2M: BAL “unfortunately” & 23

o AU 28 TA|

AlgfLct.

3. TR|ALeL =2l &of
XA E HRIARE O SH0| =2 YEH, AL, SAL S

=L o
A5t 42

OllA] 1: XA BALE 5

e 2% “The book on the table is mine.’
M: XA “on the table”= YA "book” 2 $AIEHLICE,

o H
= 1.

A
Al
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Of|A] 2: MX|AFL7L SALE Al E2

e 2%} “She sat under the tree.”
o BM- MX|AIL “under the tree” = SAt “sat”" S $AIGHL|LCY
|

IEH*QI-OII llsatll

I
A
=
-
Al
1
1=
=
0%
2

BAEZ2 F2 GAE fAELCH S 2A-ing)LE 24 2AK-ed)7F AFZELICH.
OlAl 1: 8| 2AZL BALE +415H= E2
o 2% “The girl running in the park is my sister.”

_ 1.

o FACHO]: “girl”

o BM: EAE “running in the park”& HAL “girl"& $AIRHLIC

OllA]| 2: 2} EAI7 WAIE A= E

o 2% "The cake baked by my mother was delicious.”
o BM: BAIRE “baked by my mother”= WAt “cake” S $AIEHL|CE

o FAMLYAMO]: “cake”

(9,]
.QE
oo
>
[}
i
4>
1=
)
0%
2

CIAL 1: HSALHO| WA S5t B2

e 2% “The man who is standing there is my uncle.”

n”

o BM: JSAE “who is standing there” = HAl “man” 2 $=AI8tL|Ct.

M
MCHAO: “man”

1
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3

OlIAl 2:

n

e 2% “The book that you lent me was fascinating.

HAL "book” = £=AIBHL|LCY.

=
—

A “that you lent me”

5
CHAO]: “book”

o BN

<l
<+

]
R

Al
~

<
Hio
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Eddie: Y0 2F0IN 2F 2401 57t YHES HT3ts +4/010 YHS Ta5H01 S5t Wlo|
2H3HA L.

ChatGPT: 20 2804 2Al0f= 23 240| $7 HEE H2sto] 29| o|0|2 ¢S Bekstn
ZH5p) GHELICH 40f0] HEE ZEs10] 282 SiAlsHs WIS £4/019] 9IX/9t &S ofsfst
T, £M0{7} SAJBH CHAHAAIHAONS HErs| Thofst Bl YBLICH £A01E F2 ERAL, FAL,
MHALT, AR, HBARY SO TAEIH, BAL, SAL, FBAL £AF 52 ROIFLICH 432 ol
Bt 2410 HHZS TE5H0] 22 sAsts WHS oot s MYLICt

SE
oo
=
i
olm

2|_|

2
=
4>

=

o - O b |
A= AL CHHEALE AI510{ O &4, M, o2 2 dYfL|Ct
OllAl:

o 2%&: "The red apple is on the table.”
o HAM.
e "red"= FEAIZ, "apple”S 4501 Al MZOf| CHEE 7 EE MSELICEH

o SA) v W7E A= Ef0|2 Ql0f UCt”

"

o 2% “She sings beautifully.
o 24
e "beautifully”= £AIZ, “sings”& 4I5t0{ efish= 0| Cigt 71 HEE HSeiL
Ct.

o Slia]: "= OEEZ afstet.”

177/353



HXATE HRIALRE HALZ O|FO{M HALLE SALO]| CHEE =71 YEE MS LTt

ql*l 1: I:HAI. AAI

o 2&: "The book on the table is mine.”
o EM
® “on the table”2 ®XIATE, "book” 2 415101 24| 2|X|0f CHst F7t HEE M
LICt.

oo

o Slif: “E|0|= flof = ®2 L AolCt”

~

OflAl 2: SAL =4

e 2% “She sat under the tree.”
o EM
e "under the tree”"= ®X|AIRZE, "sat” S $Al610] A2 Q|X|0f| CHSH =7 HEE NSg
LICt.
o S{A: “Jlq= LIF Of2Hoi| SFRUCE"”

LX AN

4. BAE

fjo

E
S

rsx

AL 44

EATRES S 2AH-ing)Lt 2t EAK-ed)E AHE3I0] HALO| CHEH =7t YEE HSefLct.

GlIAl 1: x| 2AL

o 2% "The girl running in the park is my sister.”

o BN

40
>O
mjo
ol

* “running in the park”2 EAITEZ2Z, “girl"S $4I510{ 2147t 2

Chst &7t §EE MZELICt.

2 A=X[0f

30

o Y. "SROM F2 A= 2= L o4SHo|Ct.”
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OflAl 2: A 2At

2% "The cake baked by my mother was delicious.”
=4
e “baked by my mother"2 EAIIERE, “cake”S =
=Alof oigt 7 EE H|

OH

SfLICt

=

slil&f: "22| Aot 72 AH0|2= UAUCE.”

Al510{ 70|27} O{EAH BHSOfH

5. EAEE S8t YAl 2]
HEANE2 F2 ZACHHANwho, whom, whose, which, that)2 A|ZFsHH ALY Cist F7t HEHE
MlS L.
Of|Al
e 2% “The man who is standing there is my uncle.”
o B4
e “who is standing there”2 EAIEE, "man”2 45101 1 X7t F=71IX|of| Cist
27} HEE FZEH|C}
o 8HY: "X7| M = HXh= L AEO0|CE”
+24]0] YE x3510] sfiAfsh= Wiy 9
1. w2of2] gIx|e} gt ufo}:
o AO7H ZEOIA ofC|ol IR U=, O EHO{L} 25 #AISH=X| THteiL(Ct
2. FAriao] gl
o FAOTF A THE (AL, SAL SEAL BAF S)S &gt
3. #40{7} MiSst= F7t HH 0[5
o A0V HISSHE B, JEH, WY, Al 4, HE 52| F7F HEE OlsigfLich
4. A 27 &liA:
o AI0Q A0S ZAIE 121510 WA 2& 2| 2|0[S Z=&5H0] siAdgtL|ct
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VII. Mx|AbLe| mpot

(1] Fx[AE] 7S
Eddie: Hx|AR2| 715 o2k & XAlsHA| M.

ChatGPT: TX[AI= MX|Atet O =

1. A E LIEHY= MX|AISL (Prepositional Phrases Indicating Place)

GllAl:

o 2&: "The catis on the roof.”

o EM:

o XA “on the roof”= &AE LIEHLDY, 0] “The cat”2| *IXIE HHeL|CE
o SM. “11U0|= X|F {0l RUCt”

& “She sat under the tree.”

Ho

o 2N
o HMX|AFE “under the tree”" = A E LIEHLHT, SAF “sat”2| IX|E AHELICE.

o M. "TIl4= LI Of2Hof BERATE.”

2. NZtg LIEl]= MXIMAL (Prepositional Phrases Indicating Time)

GllAl:

o & “We will meet at noon.

"

o 2N
o TX|AMT “at noon”2 AlZHS LIEHAD, SAL “will meet” 2| AIF S HHFLICY.
o M. “R2|= FHR0| 2 Zolct”

o 2% “She has been working here since 2010.”
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HX|IAFR “since 2010”2 AlZ+S LIEHHDY, A} “has been working” 2| A%

o 4. "Il4= 2010HEE 0{7|M L5t QUCt.”

3. WS LIEIL}E= MX|ALR (Prepositional Phrases Indicating Method)

OllAl:

o &% "He solved the problem with ease.”
o B4
o XA “with ease”= YHE LIEINH, SAF “solved” 2| YHS dHELIC
o B4 1 2HES 2 shECt”

— = = AN
o 2% “She wrote the letter with a pen.”
e EM:
o TX[ART “with a pen”2 HHS LIEHLHD, SAF “wrote” 2| =EhS AHELICE

o 8iY: "= Ho=z HX|E XLt

4. Y21 LIELHE MX|AL (Prepositional Phrases Indicating Cause)

OlIAl:

o 2% "She was late because of the traffic.”
o =M.
o MX|AT "because of the traffic”2 Q12 LIEILHT, SAt “was late”2| 0|7
LICt.
o M. "Jl4E= WE MB w20 =RULCt”
o 2&: "He succeeded due to his hard work.”

o BN

o TX|AF “due to his hard work”2 &21E LIEHNM, SAt “succeeded” 2| O|R

o SfiAf: "I T9| =3 HEO| 4SS
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5. 3Mg LIEfLl= MXIALT (Prepositional Phrases Indicating Purpose)

OlIAl:

n

o 2% “She is studying for her exams.

e HAM.

=-.

o TX[ART “for her exams”2 S S LIEHLHH, SAt “is studying”2| S%5 AHefL|Ct.

o dfiY: “Il4= AlelE 2ls S5t ALt
e 2% "He went to the store to buy some groceries.”

o BN

o HX|AIT “to buy some groceries”= FHS LIEHLHD, SAt “went”2| XS SHEL

Ct.

o 3iM: "O= MZES AY| sl 710l 2T

6. Z2E LIEILl= MX|AIE (Prepositional Phrases Indicating Condition)

OlIAl:

1

e 2% “In case of fire, use the emergency exit.”

o B4
o XA “In case of fire"&= R4S LIEHUD, “use the emergency exit”2| ZZ1S
HefLot.

In

o BiA: "SHA7t &l R, HYTE ALESIHAIR.”

e & "He brought an umbrella in case of rain.”

o 24
o MX|AE “in case of rain”2 RS LIEHLD, SAF “brought”2| Z4S YT
o SiM: "= H|7t 2 ARE CHH[EH R4S THE4QICE”

7. £t LIELLlE= MX|AI (Prepositional Phrases Indicating Means)

OlIAl:
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o 2% "He traveled by plane.”
e EM:
o TX[AIT "by plane”= =HtE LIEILD], SAL "traveled” 2| £=Ehs AHefLICH.
o 84 "= H|A7|= OfHZUCL"
e 2% “She sent the package through the mail.”
o B4
o XA “through the mail”2 #=EtS LIEILHH, SAL “sent” 2| =Lt AHeiL|C}

e oM. "Iz 1 AxE QECE HACL”

Z

rhu

XM= EYOIM F2, ARE S, &

=
o
THSLICE TR = TXIALRE BAF B TIBALZ YN, 2T9| Chefet @45 +ARILIN. X

AME Ofstist e XAESHA sliAdstH &2 o|0|S FelshA| mtefet 4~ ASLIC.

Eddie: MX|AITC| 2A10] 7|52 Mudafz.

ChatGPT: FX[AIFLE FXIAIRE O SHO|(FAF E= AN Z Y&, EH0M CHet Je s +
ABILICH F2 AL SAL A S2 +AI510] 4, AlZh P, Aol SS LI FX[AS
=40] 7|SS OlslistH 2&2| 2o|0|E YelstA mtefe =~ ASLICH ChE2 TXIARS =40 7|s
= Ofl2t 24| XtMls| 2 et ALt

1. WAL £=41 (Modifying Nouns)

XM= HAE #4510 71 EE MSsta, BAS| 2|0|E Fa|steti|ct.

GlIAl:

e 2Z “The book on the table is mine.”

A'I

._._
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AAIBH|C},

o HX|AE “on the table”= WAL “book” & $=Al8!
e "book”0| HL|Y| JY=XE AMHOZ HHEHL|C}
o SHM: “H|O|2 [0 Y= 2 L Zdo|Ct.”

o 2&: "The girl with the red hat is my sister.

o HAM.
_ 1.
o HX|AR “with the red hat"= YAl “girl" & $AIRILICE

-“gwmwﬁ5§°7mﬂ§%éu

oi&f: "E7t OXtE &

= .

2. Al =4 (Modifying Verbs)

2t 32 SS FAEkRLCH

HXAT = SAE #4510 S22

OllAl:

n”

2%} “She sat under the tree.
HA.
_— 1
o HX|AFL “under the tree”= TAt "sat"S

"sat”2| ?|X|E HYeLILCY.

slil&f: “1l4= LH2 of2hof Brfct.”

[ ]
2% "He arrived at noon.
o BN

o HX[AIR "at noon"= & AlSH|C}.
A
=0

A “arrived” & $=4!

e "arrived” Q| AlZt Het|Ct,

siA: “ 1= Hoo| SAKCE”

A £4 (Modifying Adjectives)

w
02

HXATE FEALE 41510 AL 2|0|E EF8iL T}

OlIAl:
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e &% “She is proud of her achievements.”
o E4:
o MX|AHT “of her achievements” = &AL “proud” & ARILICH.
e "proud”?| O|RE HHeiL|Ct.
o SliAf: “Ol4= Aol F (0l AR H S =2ICh”

e 2% “The room is full of books.”

o BN
o HX|AR “of books"= &AL “full"& AIRILICEH
o “full"e| LIS HYFLICL

o SfiM: 1O W2 MOZ IS X} QUCL”
4. BAl 4] (Modifying Adverbs)
XM= BAE =4510{ 2A2] 2IU|E 2L CH
Of| Al:
e 2% “She did the work quickly with great skill.”

o BM.

o TX[AIR "with great skill"= BAF “quickly” & $AELICE

e “quickly”e| &S HHet

=

Ct.

= =
o 3iY: "Il4= 0iR S5t 2S Eel| X2 FCE”

e 2% "In spite of the rain, we went for a walk.”

. By

o TX[AIR “In spite of the rain”= ®H| 222 SAIGHLICH
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o ZEQ xS EHFLIC
o M. "H|7} 2 O 22| LHHE 24Tt

e 2% “According to the report, the project was successful.”
o 24
o TX|AFT “According to the report”= ®H 288 fAIELICH
o =T ZHE EHELICH

o M. "HuMoj =M, 1 Z2HE= JSX0|RACE.”

MEIATE] 2410 7] 20

1. GAL 4] FRAT = HALE 245101 F7H EE MSst, Ate| 2o|E FAskgfL(ct

2. M A FIAHE SAE 2415101 SE| W, AlZE 4 S R

3. 8M A TXMFE SEAE 4510 FEALS| 2J0|E EFEILICE

4. BM A FXAHLE BALE 415101 2Ate| o|0[E ES§fLICt.

5. A 2 4 HXARE 2 THE 2415101 22| HiE, =, 0| SS YLt

ZE

XA E ZHOIM AL SAL S8, BAF SE 415101 2&2| o|0|E HS SRst1 Fafsi ot
SLICE TXARE Sall 4, AlZE S, /el S| Tt 2 E F7t2 HSst0] SAtL HAor 2
o HMAHQl 2f0|E o &= OfsE & AUTF FLICE. TX|AFF2| O[2{8t =40 7|5& H=2ts| Ofslst
1 #ESHH, o Fefstn FRHe 2YE HdE + UASLLE

SHIHE: FxIAt7e £40 7|58 FMRIAMRIL ESHE LI, 12|10 F ¢ L20|ME A A0

20N A

— 0
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[2] Hx|Ale| 81t 7
Eddie: Tx|Ale] SHnt ZR0] EafA M.
ChatGPT: RRIAHS WAL, CHEAL, i HAL 20| 2IX/510] 1 HO|ST} k2 2% 245 Al02

SAE LiEL = THORILICH TX|AE F= Fa, A2t g, 2, /el SS LIEf

rC =
— o = —
Go| 2Z0M o St AL S 5tH, 2 AL Yot SFRE E 0lali5HH 28-S Y5

MR Yof 23 oi5tS i,
T8 4 QLT T2 FRIMS| ST ZR0| Tt MelL|C

Hx|ALe| £3

1. fIX|: HXAHs 2E BAILE CHEAL 2F0f| RIXIRILITE. FX[AL 70| 2= HALE LA TX|ALS]
=H0{7t gLt

e OAl: “The book is on the table.”

2. gk XAz 2EHOIM HARLE CHYALRF CHE Q4 F 7t9| ZHAIS LIEF-LICH
o OJAl: “She is at the park.” (B2), “He will arrive before noon.” (A|Z})

3. XA FX|ALRE O SHO|(PAL = THHANZ LEE 8 TX|AL(prepositional phrase)
2t L.

e OAl: “The cat is under the table.”

4. BHSIAL FRIALS SE7} 51X ot SHSIAIILICE OIS SOf, MAIAHS 4Lt Zjof w2t #a}
x| LICH
e OlAL: “on”, “in”, "at” S B 22 HENS QA[FILICE

HE|ALe] 5

HE|ALS Clrst 7|Z0] e SR 4 QUALICH 2 B4, AlZH 9E w20l 52 LiEs

XAtz FEg = AELIC

1. ZAE LIER = MX|AL (Prepositions of Place)

e on: ~2[0j|
e OAl: “The book is on the table.”
e in: ~QH0j|
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e OAl: “She is in the room.”

o at: ~Off, ~OllM (F&5t /XLt F2)

o OJA]: “He is at the door.”

e under: ~Ofzlo]|
o OAl: “The cat is under the table.”

* above: ~%{0]
o OJAl: “The picture is above the fireplace.”

* below: ~Ofz{oi|
e OAl: “The temperature is below freezing.”

* between: ~A0[0]
e O|Al: “The car is parked between the two buildings.”

2. MN|Ztg LIEl} = XA} (Prepositions of Time)

o at: ~0f (Y&t A

o OJAl: “We will meet at 3 PM.”

Zh)

e on: ~0f (&MLt S5 )
e O|Al: “Her birthday is on Monday.”

o in: ~Off (&, F, AZ, AlZte| #Hel)

e O|Al: “We go on vacation in August.”

e before: ~T0f|
e OJIAl: “Finish the report before Friday.”

o after: ~Z0f|
e Of|A]: “Let's have lunch after the meeting.”

¢ during: ~52H0
o Of|Al: “She slept during the movie.”
e since: ~0[|2fZ

e OJAl: “I have lived here since 2010.”

3. Wk LIEl = MX|M (Prepositions of Direction)

e to: ~Z, ~THX|
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e Of|Al: “We are going to the park.”
into: ~QIC=

e OllA]: “She walked into the room.”
through: ~2 Saii

e O|Al: “The river runs through the city.”
toward: ~Z2=

e OAl: “He is walking toward the station.”
across: ~= 7I2&

e OlAl: “They walked across the street.”
along: ~2 M2t

o OAl: “We walked along the beach.”
up: ~2I2

e OlAl: “The cat climbed up the tree.”
down: ~Of2{2

 OA]: “He slid down the hill.”

.2 LIEHLHE MX|AL (Prepositions of Manner)

by: ~2, ~0f 2|5

e Of|Al: “She traveled by plane.”
with: ~2, ~2 7IX|11

e O|Al: “He wrote the letter with a pen.”
like: ~X{&

e OJlAl: “She sings like a professional.”

. Y912 LIELfE= M XAl (Prepositions of Cause/Reason)

because of: ~I{Z0]

e OAl: “The game was canceled because of the rain.”
due to: ~I}Z0]

e OAl: “The delay was due to traffic.”

thanks to: ~= 20|
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e O|Al: “We succeeded thanks to your help.”

HX|AHE BAIL DAt 28 L THE Q4 719| 7S UELl = S8 2 QAYLICH XA

—

A TEELCH TXIALS] CHefet SRt AZ-S OfdlistH 2&S O Feltsty 75t 2de = 2
SLICt
2R, -
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[4] HRIAME] 7|12 2
Eddie: TRIAIRS| 7|2 xR0 BofA a3,

ChatGPT: MX|AITLE 20| 2RI ZQ5H AStS 510, MA|AIRL 1 2HO{2 THELICH HME|A}
S2 LIEpHLICH FEIALRE

=

S3f0| o|0|S YaksiH| Tora 4 AULICE Of2hs FEIARO| 7|

Hx|ALRe| 7|8 7=

MAATE O 5 74X 52 74 242 0|20fELICk

1. HXIAL (Preposition): TANF CHEAL /0]l 2IX[5101 T BAILH ChAIR CHE THOJS Zho] EAIS
LYEHgHLICE

2. BM0{ (Object of the Preposition): XAt F|0Ofl = HAL, CHHEAL, HAL EE= HAPEQIL|
Ct XA A SXOE Q2 §iL|Ct

o HE|A} + 2X0]

o OJAl: “on the table”, "in the room”, “with her”, “about what he said”
HMx|ALL] o
1. ZAE LIEIL = XA
o X MX|AL + HAL
e OAl: “The cat is on the roof.”
° Il_-lilAl-. llonll

o ZHO0{: “the roof”

o Y. "1Y0|= XS flofl AT
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2. MZhs LIEHE HX|AFS

o X MX|AL + HAL
e O|A]: “She will arrive at 3 PM.”
o TX|AL: “at
e ZX0: "3 PM"
o SM: "TIl4E= 2= 3A|0f| ==He ZAolCt”

3. WekS LIER= HRIA
o P TX[AL + AL
o OAl: “They walked toward the park.”
o MX|AL “toward”
e =X0{: "the park”

o 84 "1S2 B T2 HORCL”

= o /|

>|

4. WS LIRS BRIMT

o JE: TX|AF + BAt
e OlAl: “"He solved the problem with ease.”
o TX|AL: "with”
ZH0{: "ease”

o 3. "O= EHE & 2t

5. oIS LIEHlE HX|AFS

o X MXIAL + HARL
e O|A]: “The event was canceled because of the weather.”

e HX|A}L: “because of”
e ZH0{: “the weather”

o M "1 ;A= LM WOl FAE|RACE”
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Hx|Ap 2] g

HR|AtL= 2O A CHYSH odsts 510

o|0|E H< YA st Al HE

1.

YA £4] (Modifying Nouns)

Ol Al: “The book on the table is mine.”

« FXIAFT “on the table”i= At "book” S 4A/5101 2 9IX18 MEHLICE

. Al £4] (Modifying Verbs)

OlAl: “She sat under the tree.”

o XA “under the tree” = &AL “sat”" & +4I5101 92 IX|IE MYFLICH

02

A £4 (Modifying Adjectives)

OflAl: “She is proud of her achievements.”
o HX|AIT “of her achievements”= &AL “proud” & 2415101 X2 AZ{I5H= 0|RE HY

HL|CY.

|1°I'

. BAl 4] (Modifying Adverbs)

OlAl: “He completed the task quickly with great efficiency.”
o HX|AE “with great efficiency” = 2AL “quickly”E 4415101 HE27| 2tz El WS HHF

L|CF.
HH 2% 4 (Modifying Entire Sentences)
OllAl: “In spite of the rain, we went for a walk.”

o TXIAIT “In spite of the rain”& X 22 4510 H|7} Q&= ME0IME MRS 242

J\E-Il:l %I-|_||:_|-

o
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Z2

XM= TXIALRE

1>
ol
2
r
0@
ol

SHOZ &N, 20N AL, SAL, SEAL BAFSE =

HHE MSefLct. XA E Fa

1 FHAHR YEE MESHE
N

o FetstA siiMste

Alzt, ek, &, §el SS LIEHD, 2&2f 20| HelshHA s

L o=

o
et AsS gLICE FXAL| 7|2 =0t A S OlslistH E8=
o

XAl (Preposition): X|At= AL, CHHAL EE= AR 0] 2IXI5H0 1 HALL CHHARL 2
S| LHE Q45 AfO[Q] EHA|S LIEFRILICY.

>||'>|

2. ZX0] (Object of the Preposition): TX|At F{0fl 2= HAL, CHHAL, HAFT L= HAPEQIL|
Ch XA g4 S80S U= BHLICh

o HX|A + 2]

Ofl Al

on the table
° xl_-lilAl_. llonll
e ZHO0{: "the table”

in the room

o HX|AL “in”

e EX0{: “the room”
with her

o TX|AL: “with”

o ZXO: "her”

about what he said
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e HX|AL: “about”

e Z2XO0{: “what he said”

P

.I

r

rio

2l S= LIEFALICY.

EN™: o|=5t CHEt2 oL oL}, YHtM o 2ot CHEts
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[5] FX|Af2] 2
Eddie: HXIAITQ| WIS o= ol BaiM L.

ChatGPT: TX[AIS] He|E LOoIL= A2 22 =445t Olslish= Ol S8 AP LIt TX[AL
F= XA O SHO = Y&, HXAZESH0{9F &H 2F UollA stite| Bl = AgefLCt,

HXIAL| HRE Fets| mefstr| flsiA= kg BHIE WE + AsLIth

MAALTS] Ul LopLls W
1. HXALE Agstet

M ZEOM TXIALS AESHOF BfL|Ct. XAt LEE O 2 WAL, TPAL EE= A 0 2IX|S}
O:I :|"'_|-7:”§ L_I_E|_|_I=||-|L_|E|_ OEI I. -| I .Iil*l_o"l_ ll ll lllnll’ Ilatll’ llbyll, ”With", "fOI’", llaboutll, lltoll
S0| ALt
e OfAl: “The cat is on the roof.”
2. x| 2] SXo|E el
HRIAME Z2 2, O 7o 2= SHNE AELICE SX0|= AL YA, AR = GAREO| 2
e OIM: “The cat is on the roof.”

° leilkl_' llonll

e =XH0{: “the roof”

3. Hx|Atet SHo| Zho| HLIE Ttetstat

HRARE O SHOE Zafsh= 220 TRIALFL| HIYLICH MRIAT = TR|AtRE T FOf FAf £

= A, AR ZetetLct.

e O|Al: “The cat is on the roof.”
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e M™X|AFE: “on the roof”

4. Hx|Are] BAIE ghelstet

=1 L

fol

HX|AtT2] BAE

J

FISEY| ?lsliM= TXIALRE O SHO0{7F O{E[A] AEE[D
SHOF BfLICE Ol FX|AL F2f EHO{7F TX|AtS] ZX0{QIX|, OIL|H CHE Q4
EEI=g

o OAl: “The book on the table is mine.”
° Idil*l_. llonll
e Z=XO0{: "the table”

HX|AF: “on the table”

OIA|E Set MRIAL Eel Zhef

o 2 “She sat under the tree.”

o MX|AL: “under”
e =X0{: “the tree”

o MX|AIL: “under the tree”

GllA] 2

e 2% "He arrived at 3 PM.”
° Idil*l_. lla_tll
o EX0: "3 PM”

o HX|AM: “at 3 PM”

OlAl 3

o 2&: "They walked toward the park.”
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o MX|A: “toward”
e =X0{: “the park”
o HMX|ARSE: “toward the park”

GlAl 4

e 2% "The book is on the table.”
° Idil*l_. llonll
e ZXO0{: "the table”

o M™X|AFE: “on the table”
GlAl 5

e 2% “She is proud of her achievements.”
° Idil*l_. llofll
e ZH0{: "her achievements”

o MX|AFE: “of her achievements”
HX|AL W] ot &
1. HX|AEE] AJESIE): MXAFLE ™XIALRZ AR CH MXIAFE 3he 20| & | S| L|CL

= [
2. HRIA Fl2] SA/CHBAL AE: TX|A} £ 2= AL CHBALS MR, Ol= TR|AF2| ES

LIEFAL|CE

FEH AN 8Ol FAALS 1 SH0{7} siLto| TR ABSIEE XN ABHS SHOIBHICH
4. FHE T UI517]: MAALT Lol T2 MAARR7L SHEIK| QTS Folsti2.

HR|AFL| HRIE LOILHZ| 3HA
HX|AL 2 1totst

=
= —
Hetstr ofalie = LTt of2fet 1hgE Sall 282l st 240| HS HetsEL

r|r
© ﬂ
>
i
1>
U
_o't
|:|
|
4n
|10
Jio
il
<
i
plal
|0
=2

rir
N
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|:o|
—

N

=7 &elsteh=

=2 OfLIACLt. . TX[AS| HAHE 20| HEHSHOF 5H= 0|R=7?

ot &

2HA: o=

7t?
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[6] MM SHTE
Eddie: TX|ALT otofl EE THE HX|AML7F ZRHE(O] = ST AR 2tsiA Sl

ChatGPT: TX[AI etof I CHE MX|A7F 28t El S F2= 2Y0IM H| X E4st HE A
15h= O AFSEILICE Ol218 2= 23] Hakdat
X

}

7

C
=
al Z\

1z
olr
rlo

=39| o|0|E FetstA metsts=

HI
rr

S XM A=
S HXAMTE 7|2 XA otof| &£ CHE MX|AF 7L Z8tEl Qe 2, HE O3t 20| M EILICE
MXIMT (Main Prepositional Phrase): 7|2 MX[Ate} O SHOZ O|R0{EL|

ZIL|C
MX|AFt (Embedded Prepositional Phrase): F MX|AIRS| S0 AE S 5H= HARE o
el HIR|AFRQILICE

4 ¥

=2
Hl
gob

OlAE St S8 HXIA Of5H

GllA] 1

e 2% "The cat is on the roof of the house near the park.”

BHAM.

o =41

o = TX[AIL: “on the roof of the house near the park”

HX|AL: “on”

FZH0{: “the roof of the house near the park”
o £ HX[AIL: “of the house near the park”

o HX|AL: "of”

o =ZX0{: “the house near the park”
o I CIE 2 TX|A: “near the park”

o HXIAL: "near”

e =X0]: "the park”

OflAl 2
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o 2% "He sat in the chair by the window in the corner.

o HAM.
o X MX|ARR: “in the chair by the window in the corner”

xl_-lilAl_. llinll
SX0]: “the chair by the window in the corner”

o B HMX|AIF: “by the window in the corner

° xl_-lilAl': ubyu
e Z2X0{: "the window in the corner
e [ECI2 2 MX|ALR: “in the corner

o HMX|AL: “in
e Z=XHO0{: "the corner”

S HR|AR 24 T
1. A tinf XA A8 EF0IM X HE HXALE F0t FX[ALRE O X0 AEeiL|CE
e O|Al: “The cat is on the roof of the house near the park.”
e MX[AL “on”
e SX0]: “the roof”
2. 3 MM Mx|APe] 0] 24 K M XA =X 0] Qtof| EE CHE TXIAF7L UI=X] el
gLt
e OlAl: “the roof of the house near the park”
o MX|AL “of”
e ZX0{: "the house”
3. B MM 2 B XA E AEStn, O =X0] o] B CHE FX[ANLZL J=X] =elgtL|Ct.
e Of|Al: “the house near the park”
o HX|AL: “near”
SFH0{: “the park”
Zto| £tA 2t HR|E O|aHRIL(CY.

MRIARE mhef: 20 2= HXATE mefstod, 229

4. BE T

FILoAl

202/353



OlAl 3

e 2 "The key to the box on the table is missing.”

o HAM.

.

o = MX|AIE: “to the box on the table”

o MX[AL: "to”
e Z2X0: “the box on the table”

o E HMX|AIFL: “on the table”
xl_.lilAl_: llonll

2X™0: “the table”

GlAl 4

o 2% “She walked through the hall to the door at the end of the corridor.”
o HAM.

.

o F H™X[AF: “through the hall to the door at the end of the corridor”
HX[AL: “through”
S

(hil
a2
=

X0{: “the hall to the door at the end of the corridor”
o E MX|AIFL: “to the door at the end of the corridor”

o MX[AL: “to”

e FH0: “the door at the end of the corridor”
e [ CH2 E MX|IAtE: “at the end of the corridor”

o MX[AL: “at

e ZH0{: “the end of the corridor”

o [ 22 & MX|A: “of the corridor”

X|AF: “of”

o M™X
e Z=HO0{: “the corridor”

A
rhu
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[7] STAI/BAFEO] ZotEl HX|AL

Eddie: HXIAZF SYARPLE BAPDL 25101 BHS0{XI FHXIALRO| BaIA OIS SOIM MeaH3,
ChatGPT: HAAFRE HAIAIL 1 SH0|2 T4I|0, 0] SHOIS A, CHHAL, TAIT, HAFE &=
S SYATIHE 4 UBLICEL MRA SHARLE YA 285101 BHSOIR|= HAIMTE 230

M CHst HEE MSotal, 222l o|0|§ S251A BHSLICE of2ol| ol E S0 HHstSLICE
HX|AL + SHAIR (Preposition + Gerund Phrase)
OlAl 1: SYAILE Eghst MX|AH

e E&: “She is interested in learning new languages.”

BHAM.

o =41

° Il_-lxlAl-. llinll

o SHAI: “learning new languages”

i

o SHAL “learning”
e =X0{: “new languages”
o H™X|AIRL: “in learning new languages”

o 3iY: "Il4= M2 2 A0S HiR= O| 20| RArt.”

OlA] 2: SYAIFE Zabst HX|AR

o 2% "He is good at solving puzzles.”
e 24
o HX|AL "at
o SHAL: “solving puzzles”
e SYAL “solving”
o ZH0: "puzzles”
o HMX|AFSL: “at solving puzzles”

o SIM. "I = I{ES F= 0| s=5ICE”

MX|AL + YA (Preposition + Noun Clause)
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Ol Al 1: BAFEE =ebst Mx|AM

e 2 “She is concerned about whether he will arrive on time.”

e HAM.

=-.

e TX|AL: "about”

o YAE: “whether he will arrive on time”
o HEZAL “whether”
e FOf: "he”
o SAk: “will arrive”
o EAI: “on time”

o TX|AtF: “about whether he will arrive on time”

o M. "Ilq= 7t WAzt =2FeX|of tisi A& st ALt

Ol Al 2: HAFEE =elst Mx|AM

e 2% "l am curious about what she thinks.”
o =4

o TX|AL: "about”

o HAME: “what she thinks”
o HZAL “what”
e F0f: “she”
e SAL “thinks”

o HMX|AF: “about what she thinks”

o Y. "Lt= T147t RAS W2sH=X] S35t

HXIAL + SR YAES Zatet TX|AE of|A]

OllA] 3: S8t MX|Al

e 2% "He is committed to improving his skills.”

o BN
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o SHAL: “improving his skills”
o SYAL “improving”
=X04: “his skills”
o HX[AIL: “to improving his skills”

o SliAf: "0 XpAO| 7|&S SAIF|= ol HEst Al
OflAl 4: S8 MX[AML

o 2% "They are unsure about when the meeting will start.”

o HAM.

rae K
o TX[AL “about”
o YAA: “when the meeting will start”
o TZKAL “when”
o F0{: “the meeting”
o SAL “will start”

o MX|AE: “about when the meeting will start”

o M. "IS2 3|97t AH| AREX| ELISHA| RS

Z2

HX|AHe SYALE BARE D Z285t0] MXAE ddE o= A2, of2{et XA = 2Z0M &
Qot AL S BILICE HXIAtRL SHALT £ AEO| Z2E5t0 ST HXMF= 22| QUIE H
= TAH0| 1 BR5HA THELICE. o[2{g = F Olslist &EstH EgS O Halstyl FelsiA =y
& 5 AL

THIE: AL + SHojete M2 0K30 EX| ¥oM, 5§ XAt 80 0HSof EX| %48
HX|AFEl= HE 802 25t A0| Ol5HE &7l 2=0F= Lyoleta H2E
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[8] Hx[AMS| & 7HA] 4] 715

r>|
Pall
>
-+
1o
o
rm
4
N
A
>
1=
N
0
=2

Eddie: HAAITE BEAH= B2 BAIZE 7|58 4 led,
2HEHA L.

ChatGPT: HXAIFE ZHOIA HAL SAL, %i%*h FAL S2 Altts 9eE o + ASLICH TR
AFE ZHOM A AL S & WE F= YAIE 4510, BAHHES & M= T2 SAL, SEAL
Al

o
==
CH2 BA}, £ 23 FAIS SARLICH MRAFL H8AY 7|5

Hx|A2] A 7|5 (Adjectival Function)

Ok

XAt HEAL A S & W= F2 BALL CHEAME 45101 71 YEE MSst, BAte| ofn|
= Lt

CHEAL BEZ Fof| @{XIZLICY.

Ol Al 1: AL =4

40

e 22X “The book on the table is mine.”
o BEM.
e HMX|AT “on the table” = YAl “book” & $AIEHLICH

e "on the table”= 22| {|X|E AHetL|Ct.

o Slif: “E|0|= flof A= M2 L AolCt”

OflA] 2: CHEHA} 54|

e 2% “Anyone with experience can apply for the job.”
o 24
o TX[AM “with experience”= CHHAL “anyone”& =AlgiL|Ct.
e "with experience”= A™0| U= AtRS AT
o Sfiaf: A0l U= FF=ER 2 LRi2|of KR 4= ALt

A —

ME|ARL] BAMH 7|5 (Adverbial Function)
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HXAF7E BAF G S o s F2 SAL 8L THE BAL £ 8 TR E 41510
Y4, O, = 39| F7t HEE MSELICt

n”

o 2 “She sat under the tree.
o BN
o MX|AFT “under the tree” & SA “sat” & $ARILIC

e "under the tree”" = 2 {UXIE AYetL|Ct

o 3{A: "Jlq= LIF Of2Hof| 2ERATE.”

OAl 2: H8AF 44

e 2% "He is proud of his achievements.”

o =M.
o HX|A “of his achievements”& @&At “proud” & $AIFILICE
e "“of his achievements”= 17} £310f| CHs XpztA2{5t=X] HHEHLICT

o M. "I= XpAO| Yo AEREAE =20

OfA] 3: CH2 LA} =4

e 2% “She did the work quickly with great efficiency.”
o BN
o TX|AF “with great efficiency”= 8£AF “quickly” & $AlgfLICH
e "with great efficiency”= L& WEH X2|et WHS HHLLICE

o 3M: "I4=01R 2EXHCZ LS We| XMLt

OlAl 4: 2T HH| 4

e 2% "In spite of the rain, we went for a walk.”

A‘l

.-|-

o XA “In spite of the rain” &= &% MA|E fAELICH
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JYOME LS 2SS YL

rr

e "“In spite of the rain"&= H|7t 2
o M. "H|7| 2E Mk R2|= =S 2"

ook
=5

MM HEA 715

o 7|S: GAILL CHHALE £AI510 I+ FHE HFsta, 1 9|0|§ A|sketL|Ct.
o x| EF AISh= YAILL CHHAL HEZ Fof| {IRIBHLICE
o OfAl:

e “The book on the table is mine.” (%)

e “Anyone with experience can apply for the job.” (54)
HxAtel 2ME 71s

o Jls: A, AEAL LHE BAL = 27 X%
HE HSefLlch

o 2| 2TOIM Crst 2IX[0f 2 == 2D, $AI5H= A 7PIH2 |X|0 s YLI|Ct
o OfAl:

e “She sat under the tree.” (&)

e "He is proud of his achievements.” (0|3%)

e “She did the work quickly with great efficiency.” (')

* "In spite of the rain, we went for a walk.” (Z7)
0|2t Z0|, TXA = 20N St 4] gt
E H3st=ol =2

1 FEHA siMst AP 4~ ASLICH

L
Il
ra
Rl
Rl
-+
10
02
oo
Rl

=
—
o=
= =
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[9] 2tHst =0] et HX|AL2| fIX|

rr
Q
ol
mjo
x
2
ol
ot}

Eddie: 282 2tFet 20 =7t XML 2 L fIX]0f DfX|

ChatGPT: 82| 28t 20| &= HXA] f|X|2t 1 7|50 528 Jgks D|ELICt 2bHst

=0 Fx= FOF SAL MZ2E FHO Hojz FdE B8 42, 29| 7|2 2|0|E MERLC

HXAE Ol2fet 7|2 720 71 YEE HS5t0 283 HS #AH0| 1 Healst ZHEL(Ch HX|
Aol 2 L IXl= et 20 xoF BESH| 2o o, Cigit 22 WAICZ Heks 0

ZLck

1. Hx[A2] fIx|2t SAtete] 2tA|

HXIALZE SAL 20f| @IX|6HH, HE HH| 2&E A5 282 Hid 2 E MSe

e OIAl: “In the morning, she goes for a run.”

o HFX|AT “In the morning” 2 HX| 28-S +AI510{ S20| AIH| LO{LI=X] LT

SAL ol £1x]

HXIAZE SAL FOf| RIXISHH, 28 S22 &, &4, AlZL Olf 52 2FeiL Tt

e OJ|Al: “She sat on the bench.”

o TX[AIT “on the bench”= SAt “sat”& 415101 SZ0| YOt A5 BHFLICE

2. Mx|A2] fix|et SXojete] 2HA|

2 x0f 5o 9%

HXIAZE =S X0 Foff /IXI5HA, ool Chet 71 YEE HSst0] SHAE FX|eHetLct.

e O|A]: “He gave the book to his friend.”
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o XA “to his friend” 2 SX 0 “the book” 2| £AIXE FH|SHELICE.
3. Mx|AFre| gix|e} Hojete| 27|
Z 50o{ Fof fIx|

MX|IA2E =2 Bof Foff fIXI5HH, 2 2ojol| Ceh 71 YEE MI5H0] F019| JEiLt E42 4

B,

od

e O[A]: “She is proud of her achievements.”

AX|AF “of her achievements”2 4 E0| “proud”& 415101 =012 AEH0]| S O|F

252 o] Sof 2Ix|

A 20f Fofl /IX|5HH, =52 20j0f| CHEr 71 YEE MI5H0] K019 HEfLt

Am

x
A-I% AE-II:I=|5H_||:

t.
e O|Al: “They elected him president of the student council.”
o TX[ART “of the student council”2 X2 H0{ “president”E $=4I5t01 ZX0{ "him" 2]

SEIE FX|stetLCt

4. Mx|Ar2| flxlet 2 =0 TY

=thet 28 Ax20M = HRIAFL] /IXI7F 2E2| QJU|E FaksHA ME st ol SQELICE HXIALT
o

o
7t =t Ix(of YUK o, 27| 90|t E5E 4+ UBLIC

e OfAl: “The report on the table that she wrote in the morning is very detailed.”

e 0{7|M "on the table”2 “the report”E, "in the morning”2 “that she wrote"& $=4I3}

L{Ct.
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XML 2T U fIX= 2Fe =0 20| ofs I deFs HELITH XA =

YN,
o iz
Sto] TA| EFE AL, SAF ol ?IxI5t0 SE2 tc'!t.':.*, a, M SS 28E = ASLICH E

Eddie: 2tHet 0 1= Qtofl XA} 7|0{S0] 7H| @= OIRE EFaHF.

ChatGPT: 285t £0f Lz QHol| TX|ALT} 7|01S0{7HK| 8= Olf= 22| Hehda 125 2

S FAISH| QISIMYLICH 2HHEE 20 = FO{QL SAH, 22[10 TR 4@ FHO{et 20{= 7

dE|H, 0|2 Q4= E¥9| 7|2 2J0|E MESI= My 74 QA SLCH HX|AF = 0] 7|2 2fo|of
H

Forel HHE MISHA[T 7|2 7= KRS EolistA| =S IXI7F ZFE LIt CHE2 0[2{gt O]

o HRE 0f|Al: “The cat on the roof is sitting.”

e 07|M “on the roof"= F0{ “The cat”2t SA}F “is sitting” AO[0]| 77|{SX| t&LICt
o ZHIE OlAl: “The cat is sitting on the roof.”

o O} SALALO[Of 7|OISX| 410, SAF FOf| @X[5t0{ 2&0| HetstA MHELICE

2. SAet SHo] Afojo] 2y FA|
SAteE X0 S O iy S HELE= 2AE RXISHOF &LICH FX|ASZE O Afoloff 7]0{=H

o|0|7} 22tAE ) E = gLt
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o EZEl OA: “She gave to her friend the book.”
e 07|M “to her friend" & SAF “gave”2t FH0] “the book” AtO|0f| 77|0{S0{ EZ0| O A4
L[Ct.
o ZHIE OMl: “She gave the book to her friend.”
o XM= SAte 2H 0| Fof| fIX(5H0{ &0 AIAAEA| eelL|Ch.

il

w

soje} S5 Hojeje] Yz X

4S YRl 20{9F FO{Lt SH0] Ato[ol| MX|AtZL 7[0S H

ERE 0|Al: “He elected of the student council president.”
e 0{7|M “of the student council”E F&Z HO0{| “president”2t Z&0] “him" ALO[0f| 77|0{S
O 2Z0| o AgfL|Ct.
o ZHIE 0f|Al: “He elected him president of the student council.”

o HXAE FHHA EOf Foff /IX[50] 2E0| FetstA M ELIC

4. Mx|MFe] #IMY R HS 7ls

XA E F2 B7HEQ EE HSsts Aes elLIth. F0|, SAL, SX0{, 20 S2| iy 240
FotHQl HHE MIst0 2HE HS SRS 2hELITE J8{Lt, of R7HAel HHEIF Y @452
=olA7|H 282l 550| 7] 90|17} E2tAE 4 LTt

e OfAl: “The report on the table is mine.”
o MX|A “on the table”2 WAL “report”0f| tigt £715Ql GEE HZ35HX|T, =0 “The

report” 2t SAF “is” ALO[Of| 77|0{SX| SiELICt.

my

g

ra
>

A= 2F0IM 271 GHE HME3t0] 22| 20| S55tA ZhELITE d2{Lt, ™X|ALZ}

£0] 7 90| MIOISX| O 0|9 2FO| YET ARE YRS YIS MU

rio
ra
il
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AES AO|Of| MX|AIRLZ} 77| {EH 2EtO|
F2 SAHE, BX0f §, £= 2E0| Bof| 2/

Aot 2H0f, 50| S s 2
MRS 5
= HiXIELICH

C. 012t SAL S
1 ol0|7t 2YEEHE 4 QUSLICE M2t
5101 B71X0l HEHE H|ZSIHM T 2Eto| 7|2 1XE dhsli5iA|
7| TloHA-I tH st %01 S~ | | -l-lxloH:_l-'— AI-AIO' §_|6|'71|

EH|H: etrist &0 1xE MK &
243. training data bias.

training E[0] QUX| o2
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Eddie: TX|AF2| 2F L /IXIE 7|E22 +AHAOE = WS YA,

ChatGPT: HX|AIL] 22 L RIXIE 7

FH
|0
HU
N
1z
m
0
<2
un
Pl
rr
On:
s
rio
ra
Pall
>
-
N
A
al
=2
x
=

S0l 0|0l ket ZRRTILICE HEINTE AL AL HBAL BAF S Chet 23 248 44
& 4 QUBLICE HRINTO| SIS SAFORM 1 24101 HEt5| THofet 4 YBLICE 0
X

AXIAFL| RIXIE 7|E2 = S+AHYUE S YHUSE YLD

I_

x

1. QA Flofl fixIgt T X|AF

HXIAZE GALBEZ Fof| 2IX(5HH, 2& O AE AR Ol= SEAH 7|53 St FXIA

LT},

OlIAl:

"

Z “The book on the table is mine.

Ho

o 24
o HX|AIF “on the table”2 WAL “book” HIZ F{0f| QIX|ELICE.
o A0 “book”
o 3iA: "E|0|= flof| A= M2 L ZO|Ct.”
e 2% “The girl with the red hat is my sister.”

* =

=4
o XA “with the red hat”2 BAL “girl” HtZ {0l Y|X|EHL|Ct,
o FACHAO]: “girl”

o oM. "7t IXIE & A= L 013 4O|CE”

2. SAF Fof| fIxIgt MX|AF

HX|AL7 SAL HEZ {0l IXI5HH, 28 3 SAE A8 0= RAA 7|52 ste HXIATY

L|CF.

OllAl:
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3. A8 Flofl fIxIsE FRIAMSL
HXAT7E FEAL HEZ FOff /IXISHH, & O FEAIE SABfLICE Ol J8A2| 20|E B
oAets et

2% "She sat under the tree.”
o EAM.
o HX|AIF “under the tree”= SAl “sat” HIZ 0| IX[EHLICE.
o AILYAO]: s
o S|M: "Il4= LIF Of2{of| FQUCE”
2% "He arrived at 3 PM.”
o EAM.
HX|AFT “at 3 PM"2 SAt “arrived” HEZ F0f| | XIEHL|Ct.
o ALYAO]: “arrived”

o M. "= @F 3A|0f| =RIRALCE”

Z%" “She is proud of her achievements.”
e EM:
o MX|AE “of her achievements” = @&At “proud” HtE F0f| {IX|L|Ct.
o A0 “proud”
o oM. “Il4= Kp4lof HF[of| XHRAS =2Ict”
2% "The room is full of books.”
e EM:
HX[AE “of books”= @&A}L “full” HEZ F{01| @IX[&fLICE.
o A[CHEOL: “full”
"1

e MOR JIS X YLk

4. 2% 2O|L} Fof fiIx|gt HX|AF
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e 2% "In spite of the rain, we went for a walk.”

o =M.

o TX|AFT “In spite of the rain”2 2% M rof| 2|X|EHLICH.
AlCjaof: 27 THA|

o M. "HI7I Q= Ol 22|= LS ZiCt”

x
—
A
* T

o 2&: "We went for a walk despite the rain.

o 2N
o MX|At “despite the rain”2 =& M Fol| {|X|ZHL(C.
CHatol: =& T

bo|
I_
o 4
HA: "2l H|7t QEMHIE E75t0 AEg Zict”

°
][]

ook
5

HXAE 2 Ul 9IRS 7|ZE22 +AHY E e T2 T3 25U th

1. GAL FlOf| fIX]: DXIALIEHAL FOf] |X|SHH, T HALS =ARHL|CH

2. M Foll fIR]: TX|IALZE SAE O QIXISHH, O SALS ARLICE

3. S2A} 50f| Qx| MX|IAFR7} A 0 QXI5 O HRAIE AAISH|CH

4. S5 oto|L} S0l $IX|: MXIAFR7} =& Q0|Lt T|01| olx[5lEl, R MAH|Z AAlIS

Oz{¢t 7|=S Sall XA MO E Fets| utepstH, 82| 2|0|S etstA ofslsty =
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ChatGPT: BXIAR7H 23 o ol QIX/FS

5to] 289l g, =, Ol&, AlZh, B4 S &Y

z
=
_O'L
rr
Q
9'|_l
mjo
o
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il
rr
>
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>
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Mo
4kl
2
HQ

off 21X o 7tset =AChe01eF 2 o A[SILIC.

e OIAl: “In case of an emergency, follow the exit signs.”

o EM: MX|AIT “In case of an emergency”= & THE sAI5104 715 oMo =S
AyeiLct.
o FALYO: T T

| —
o M "H|Y Alofl= EF HX|TE HGEMK.”

o Of|lA]: “Despite the rain, we decided to go hiking.”

o BN MX|AIT "Despite the rain" 2% M 2445101 H|7} 0L ABME ZHS MY
BiLict.
o ATyl 23 T

Al
Al
. "HI7t = HlE 27513 R2|= 510|2E 7|2 ZERSLICH”

ol

i
nx
o2

o Of|A]: “Because of the traffic, we were late.”
o 24 TX|AIT “Because of the traffic”= @& TN #4510 227t =2 0|/E AU
L|CF.
o FAICiAO]: EZ X
e M. "L E MF0 22|= =ASLICE”

e OJAl: “Due to the storm, the flight was delayed.”

o EM: TX|AIT “"Due to the storm”= 2% MH|E 215101 H[A7|7} X|HEl O|RE EHAL

Al
o 3M: "=F WFEofl HIAT|7t X A=RSLICE”
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Zh

(=]

M

o

AMoi
=0

e O|Al: “In the morning, | like to read the newspaper.”

2M: MX|IAE “In the morning” & 2% M|

o OAl: “After the meeting, we went out for lunch.”

o

II-_J}_%

=M XA “After the meeting” = 28 HHE

S Hes Uis

Lll:'l-."

o Of|lAl: “At the park, children are playing happily.”

= S}
— o

= AAI

x|_-IX'”E T

=4 XA “At the park”&
AMCHALO]: 2

Z2A0jA ofolS

SEND|

. - O A=3HA =1

e Of|Al: “On the top floor, there is a beautiful view.”

Eddie: X|AT7L 2 W FOf| /K]

"i— I:le-
— o

M FX|AL “On the top floor HHE =

=]
[

AS I 7tseh AT

A
T
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ChatGPT: TxIA7L 28 M Fo| MRS W, T2 SAL, 8AL BAF E= EF TRE #45t=

S LICh ®X[ALe| fIX[of w2t 2&2| 2|07t HElE 4 JALBZ, FX|AFIF 2 W Fofl A
mof A &0 E Olstish= A0 SQefLICt. Of2fl= MX|A7F 2 T Fof| 2XIUE o 7tsst

4> mo 12

Aoigoie 1 ol AIS-LIC

1. SAt (Verb)

X7 2 W Fol /IXISHH, =2 SAE 415101 SE2| &Y, B4, AlZh Olf S& 2Y&L

Ct.

GlIAl:

o 2&: “She sings beautifully in the choir.”
o BAM: MX|AIR “in the choir"& SAt “sings” & 415101 O{C|0|A =2iSt=X|E HHBILICH.
o FACHAO]: “sings”
o Sl|&: "Il4= SIETH0|M OFSEA afgL|ct.”

o 2& “He arrived late because of the traffic.”

o BM: MX|AFE “because of the traffic”= SAF “arrived” & $£AI510 &f =7 E2RH=XE
ATt
o ACHAO|: “arrived”

°
Ol
——

M "= WE W20 =2 =EREL

2. @8 (Adjective)

HXAZE 2 W F ol /IXISHH, 2 IEAE +4I510{ EAt| 2J0|E ESFLIC.

Ofl Al:
o 2%&: “She is happy with her new job.”
o EA: TXIAT “with her new job"= FEAL "happy” & 415101 JL47} of =FEHXIE 4

SfLiCt.

%:;
+ 24h801: “happy”
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o SfiA: "Ol4= M Yol 2HESRfLICE”

e 2% "He is afraid of the dark.”

o 24 TX|AIT “of the dark”"= @E&AL "afraid" & 45101 RAUS FHASI=AIE 2HEL

e

o AMCYAO]: “afraid”

Al
o 3iY: "I= 0{ES FAASLICL”

3. BA} (Adverb)

HXALZE 2 W F ol /IX[5HH, == CHE AL 2415101 £Ate| 2|0|§ EEefLct.

OllAl:

e 2% “She completed the task quickly with great precision.”

o EM: HX|ALT “with great precision”= FAF “quickly” & 415101 O Ao = Ea| 2

YRS MEFLICH

T2 &0f: “quickly”
o M. "Il4= 01 HESHA = oHH|E t2SLIC”

4. 2% MA| (Entire Sentence)
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OlIAl:

o 2&: "We decided to stay home because of the storm.”

. - MX|AFE “because of the storm”= 2% FMAIE £
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o 2% "The team won the game against all odds.”
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o EM: HXIALT "against all odds"= 2 THE =2415t01 EO| oA Aol 0]

HE JES 07| AUl SEIRHSLICE”

ook
=5

HRAZF 2 W Fol| ?|XISHH, =2 LIS 22 Q45 +4E +

1. SAL S Y, 2, Al 0|7 S= 8L o

e OllAl: “She sings beautifully in the choir.” (SA} “sings" & 4]
2. &AL d8Ate| 20| EEeiLCt.
o OAl: “She is happy with her new job.” (R8At "happy” & +4)

3. FAL: CHE FAQ| 20|18 258 T}

* O|Al: “She completed the task quickly with great precision.” (A} “quickly

4. 2% HA|: i, =7, 0|, 22t SS SFELIC,.

e O|A]: “We decided to stay home because of the storm.” (2% ™

Olet Z2 =S Sall TRIAtT2| ?IX|9F S0 E FabstA metstH, 289 2l0|S
stistal siAet o~ ASLICH

(=B = o
5t 0| X 20 SIXI3H 2401 0|2 2AIHA0(R 74 25 91, 2
0|2 7H 4% QUS. 0X5| 28 MH|S SABICH= A2l WiX| 21 5t
o3t bias. 2-A10] BESA chatGPTE| B ZEsle 20| B
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[11] FX|Aft HEARL 112
Eddie: HRIAIS HEAIE REsIE WS 227,

ChatGPT: HXAIRL &A= 20IM 212 CHE Y S 510, 0| 112 5t= WS OlalstH 28
= M5t Y5t ol 20| ZLinh MR BEAE AE5ts FR 7IE2 250| d8st= 2
4ot Flit=s AARYLIC Of2= TXIARE HEASE F=25h= Yol cist A iL(ct

HX|A} (Preposition)

7Is:

HX[AE HAL, SHEA EE= HARE 20l 2IXISH0] 2 BALLL CHEALRE 22| THE Q45 A0|Q] 7|
E LIEMRLICE MXA=E F2 T2, Al 3, 3, §el SS LIE-LT

sl ax:

HX|AL Floll= BAL, AL, HARL EE= SYAK-ing FE)ZE SLICH TX|AF 70| Z(F0 + SAHO|
= = AaHch

OlIAl:

* in: “The cat is in the box.”

e at: “| will meet you at the park.”

* on: “She placed the book on the table.”

* by: “The project was completed by the team.”
e with: “She is talking with her friend.”

H& A} (Conjunction)

7Is:
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Ho H(F + SAHS AASHALE, THo{et B0, 719F 71, E= Aot
Q4 7ol = 24, Olf7, =, th= S)2 LIEFLIC.

I 1 1

it
ikl
e
N
>
.

flul2 = Ax:
&AL FOlE "(FEN + SAHO| SLICH HEAHE FOQF SAP} = 25 21X E
Gl Al:

* and: “She likes apples and oranges.”

* but: “He is tall, but he cannot play basketball.”

* because: “She stayed home because it was raining.”
¢ although: “"He went for a run although he was tired.”

e if: "I will go if it stops raining.”
MRIM} HA 72w

1. f2Es 2AE siolsla):
o HX|AL: 7Ol BAL, CHEAL, BALS, e SYAZLESLL.

e Of|A]: “She is interested in learning new things.”
e "in" FOf| “learning” (SHA}
o HHAL 0 F0{2t AL 2= HO| FLICH
e Of|A]: “She stayed home because it was raining.”
e "because” FOf| “it was raining” (&)
2. dA@sl= 24 F slelsltEt:
o MX[AL F2 YAHE CHE 2F Q49 AT}
e OAl: “The keys are on the table.”
o HEAL FE S COHE EoF ¢ZgiLo)
e OAl: “I went to the store and bought some milk.”
3. 5% EI'O-lE Altﬁ—l.EI.
HR|AF: HR|AZ2EE AL E[= HO{7F ASLICE.

e OAl: “during”, “until”, “without”, “throughout”
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e "“We worked during the night.”
o HHAL HEAZT AEE|= HO7L ASLICH

" "

e O|A]: “although”, “because”, “since”, “unless”

e "| stayed inside because it was raining.”

AR BE 2

HX|AF ol Al

o 2% "Heis good at math.”

o 24 “at” FO At “math”7t SLICH (HX|A
o 2% "They arrived before the meeting.”
o BM: "before” F|0|| WAF “the meeting” 0| SLIC. (HX|AH

HEAL oAl

o 2% “She went to bed early because she was tired.”

o BM: “because” FO| E “she was tired” 7t SLI|Ct. (H&SAH

Ho

& "I will go if it stops raining.”

o 2. "if" £[0 & "it stops raining” 0| SLICt. (F&Ah

HXAteE HEAHE EYOIM 22t THE AE S BLICE EXIAts BAL
PSS

o =
AZELICE TR|AF Foll= BAL CHEAL, A EE= SBAZE D, YEA F0f= F0{2F SA
=0 =3
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[12] HX|ALRL SAL2| T
Eddie: MX|AIQ EAIE ARG HHEHES AP F|

ChatGPT: MX|AIQ} BA= 2XI0j|A] ZH2t CH2 odst
Mot siMst= ol = Ch. ®x|AF}

=
Fxet 2Ho|M2f 7|SLIC Of2fl= ©

0
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HX|A} (Preposition)
7|s:

HX[AE HAL, SHEA EE= HARE 20l 2IXISH0] 2 BALLL CHEALRE 22| THE Q45 A0|Q] 7|
Higd 9

E LIEPALICH TXAL= T2 Fa, Al e 3

It

C o
Jol 52

, 2191 52 LEPALICE
flmEs 2

HXIAL FOll= ehef BAL, CHEAL BALT EE= SBAN-ing YEN)7F SLICE FX|A Fof| Z(F0 + SAL

o] & =& BlaLth

OlIAl:

* in: “The cat is in the box.”

e at: “| will meet you at the park.”

* on: “She placed the book on the table.”

* by: “The project was completed by the team.”
e with: “She is talking with her friend.”

HAl (Adverb)

7Is:
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CLEDEES

AtE BHEOZ M0|0{ F{of] AL HBALSE 2= SHX| piaLIC BAts EZ00M XARE 0I5

4

=
T A2, AL, FEAL BAFE= B8 THE ARLIC

il

OlIAl:

e quickly: “She runs quickly.”

e yesterday: “| saw him yesterday.”
* here: “"Come here.”

e very: “She is very smart.”

e often: "He often goes to the gym.”

FX|ARQ} SAH T W

—

1. Fl2E 248 gelstat:
o WX[AL: FOfl FAL,

CHEAL, YA, EE= SHAR SLIC
e Of|A]: “She is interested in learning new things.”
e "in" FOf| “learning” (SHA}
o FAL 7O HAL} CHEALS HQ2 S| 55201, o= ML},
o OfAl: “She arrived late.”
e "late”" = EIEOE M0 SAL “arrived”E $AIRILICE
2. 28U 7IsS gelsit:
o HX|AL: HAIRE CHE 2E Q40 AZSL|CL
e OAl: “The keys are on the table.”
o FAL SAL AEAL CHE BAFEE 2% MH|IE ARILICH
e GAl: “She sings beautifully.”
3. §d ol 483zt
Hx

[AF: ERIAZ O AR E|= EHO7F JAELICEH
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e OA]: “during”, “until”, “without”, “throughout”

e "“We worked during the night.”
o RAL BALZDE AMEE[= THO7t ASLICH

o Of|Al: “quickly”, “yesterday”, “here”, “very”, “often”

* “He runs quickly.”

OAZ B= A2

HX|AF oAl

o 2% "He is good at math.”
o B "at” F[Ol AL “math” 7t SLICE (TR}

o 2% "They arrived before the meeting.”

o 2M: "before” |0 AT “the meeting” 0| FLIC}. (XA}
AL Ol A
e 2% “She runs quickly.”
o BM. “qu|ck|y"'_ SAt "runs”E $AIEILICEH (BA
e 2% | saw him yesterday.”
o 2M: "yesterday”E= SAl “saw”"E $AFLICE (FAD
22 tHo{7} Hx|Atet BALZ ME8El= F
e HMX|A}L: “He ran around the park.”
o BAM: "around” F|0I| BAL “the park”7t SLICt (HX[AD
o BA}L: “He looked around.”

o BM- "3round” O WAZ} QL al, SAt “looked” E ALY ('I?I'Al-)

Z2
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XML RAE F25t= FR 7|&E2 250| Fliz2s 249 &M 7|sLICt TX[AH= F o
=

=
T
GAL, CHIAY, BALT = SHAZE OO, BAIRE T2 23 240t AAZBILIC RAL HHEOE 4

0|0, SAL, HBAL T2 BAHES 23 HAE £ABILICE Ol2f3t 72 71ZES S5 HEIMSL HAS
eS| Algsin, 2N O FEP 2AE 4 YL

Eddie: O{o|M EAl= 2E TX|MZE AL E= HOE LEF .

ChatGPT: GO0l RAIZE, FXAMZE AFRE £ Ql= THO{S0| ASLICE O[2f8t HOS2 2H
oflMef fIXI2t Flit2= Q40 w2t SARRIX] MXIARIX| A2 ELICt Of2= FAIRE MXIAIZ 25 A

o HA}:
e OAl: “He looked around.”
e "around” £ At “looked" & $£AI510{ EALE AL E[QISLICE
o SiM: "I= FHE SE{EUCL”
o HX[A}:
e OAl: “He ran around the park.”
e "around”= BALT “the park”2t &H HXIAFE O|F0] X|ALZ A= ASLICE
o SiY: "= Z¥ F2IE L

—— o=

2. Before

o HA}:
e O|A]: “She had seen the movie before.”
e "before”"= SAIT “had seen” & $£AI510{ EAIZ A E[}SLICE
o SHM. "I Hof| O YSHE = Ho| QUL
o HX[A}:

e O|Al: “He arrived before the meeting.”
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e "before”= A “the meeting” 2t &7H XA E O|F0{ HX|AIZ ALSE|RASLICE

o M. "O= 39| Hof| =AIACE”

. After

AL
e OAl: “She arrived shortly after.”
o "after"= SAl "arrived” & $AI510] 2AIE AFSE[JSLICE
o SHM: “Il4= = TEIEHICL”
HX|AL:
e O|Al: “We went out after the meeting.”
e “after"= YA “the meeting” 2t &7 MX[AFRE O|FH HXALZE ALEE[J}SLICE

o Y. "R2|= 39| FOf LIX{TE”

. Inside

BAL:
o OAl: “She stayed inside during the storm.”
e "inside"E Al “stayed”E 25101 RAIZ AL E|USLICE
o gjj&: "Il= 2R S 2tof| HERIC)”
HR|AL:
e OlAl: “The cat is inside the house.”
e “inside”& WAl “the house” 2t &7H MX|AFRE O|FH HX[IALZE AFEE[}ASLICE
o SfiM: “1f0|= T 2toj RULCH”

—

. Outside

AL
e O|A]: “He waited outside.”
e “outside”E SAl “waited”E $AI510] EALZ ALEE|USLICE
o SHM. "= 8ol 7|CHRICE "

— L T

HX|AL:
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e OJAl: “She stood outside the door.”
e “outside”= HAE “the door” 2t SH| MX|AFTRE O|FR0{ TXIAE AZE|RSLICE

o 3iM: "Il4= Z HHoll M AAUCL”

6. Up

. EAL
e OAl: “He stood up.”
* "up”"= SAt “stood"E FAIGI0 RALZ AZEIASLICH
o A “T= LML
o MX|AL:
e Ol|Al: “She walked up the hill.”
e "up”"= YA “the hill"2t &7H HXIAIFEE O|F0{ TX|AtZE ALEEIUSLICE

o M. "Ol4= AHS 20 SR

7. Down

o HA}:
e OflA]: “He sat down.”
e “down"E SAI “sat"E $AISI0 BAIZ ARE[ISLICE
o SHM: "= QUL
o HX[A}:
e 0|A]: “She walked down the street.”
e “down"E YA “the street”2t B MX|AIRE O|F 0 MX|IAZ AFEE|R}SLICE

o M. "J4E= H2IE 2 LH2{ZtCt”
8. Over
o HA}L
e OAl: “She looked over and smiled.”

o "over"E TAl "looked”E $Al510] BAIZ ALZE|JRSLICE.

o 84 "Il4= 1WHE =2 UL
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o MX|A}:
e O|Al: “The plane flew over the mountains.”
o "over"E YA “the mountains” 2t SVH| XA E O|FH MXIAZ AL E|ASLICE.

o SIA: “HE7|7} A 912 O
9. Under

o HA}:
e OAl: “The dog dug under.”
e “under’& At "dug”E $AI510] RAIZ AL E|RUSLIC
o 4. "Il Of2l= T S}dCt”
o MX|AL:
e OAl: “The cat is hiding under the bed.”
e "under”& A “the bed" 2t & XA E O|F0] MX|ALZ ALEE|/UELICE.

o 3A: "0l = FcH of2fof] &1 ULt
ZE
HR[ARE BAIZ 25 AMEE[= THOE2 EF0M| !IXI2t FlIE= 240 K2t O 0| ZEtEL

C
=
Ct TXIAIZ AFSE M= FlOfl BAL, CHEAL AR E= SEAPE D, BARZ MEE I HEC=

o
0| SAf, FEAL THE AL = 28 TAHIE +AELICE ol2{et 122 OlsietH 2& S H Eet

-

StA| 2445kl OfsE -+~ [USLICt.

Eddie: EAts 22 MXAMEE ABE[= THOE o{EAH 2125HK]?

rr

ChatGPT: BAIZE, MXAMZE ALSE TOSS A== Y2 1 T 2F0iAM o
=)

A Ol
= T XA
ofstg sh=x|, 2|1 Fl2s 47t LoiQIX|of wet ZFELCt of

e 2 FARE MXALE FEstsE
Yol ciet XA el AYEL(Ct.
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HXIARE GAL, HEAL AT B2 SHAK-ing SEH) 20 IXI5H0{ T HARL CHHEAR}

QAS AMO|Q| ZAHE LIEFALICY.

o FlMEE FX: TX|AL FlOl= e AL CHHAL A, B SHAIE FLIC.
o GiAl:
® "“The book is on the table.”
e “on"2 MX|ALO|12, FH Ol “the table” (HAFR)7} SLICT.
* “She is interested in learning new things.”

e "in"2 MX|AtO|1, F|Ol| “learning” (SHAHZ} SLICE.

e
SAts 2 SAL WAL CIE HAL £ 28 HAIS 440510 1 /0|2 BEELICH HA}
2 ALRE 4 o0, S0 WAL A 9| ShaLct

o FlEE FX: A FOl= AL BAFI 2X| 520, 2H0M AREA OIS
o OfIA:
* “She ran quickly.”
e "quickly”= SAL “ran”& A5tk EAIULICEH
* “He looked around.”

e "around”2 SAl “looked” & $=AlSt= EAFRIL|CE

HX|A}

o F[Of WAL, CHHAL, HAR EE= SHAZE SL|C
o OAl: “He sat on the chair.”
e “on”"2 MX|ALO|Z, FOl “the chair” (FAL)7F SLICH
® "“The keys are under the mat.”

e "under’= TXIALO|2, FOf| “the mat” (FA)Zt SLICE
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e

o SO WALLL HAIIE QK| 510, SAL, &AL, CHE BAF EE 2% THIE AL O
o OAl: “He fell down.”
e “down”"2 SAl "fell”E Alot= RFAILICH
e "“She looked outside.”

e "outside”E= SAl “looked”"E

1
>
_O'h
rir
4
Rl

o
-
n

IAE B 72
Z2 Bo{7} Tx|ALel RAR AElE= B

e Around:
e HZX|AL: “He ran around the park.”
e "around” FlOfl HALE “the park”7t ZLICt.
e BA}l: “He looked around.”
e "around” F{0f] A7 QX[ 9211, SAL “looked” & F=ARfLICE.
e Before:
o HMX|AL: “She arrived before the meeting.”
e "before” 0| AT “the meeting” 7} &LIC}.
e B}l “She had seen the movie before.”
e "before” 0| BAILZ} X| 411, SAIT “had seen”& ARILICH
o After:
o HMX|AL: “We went out after the meeting.”
o "after” F|0l AT “the meeting” 7}t SLICE.
e HA}L: “She arrived shortly after.”

o "after” F|O| WAIRLZt @X| %10, SAL “arrived” S $AISHLICE

ook
a5

HXAtL BAE FE6ts £ 7|E2 T3 25U
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1. FlU2E= 4 stol:

o HRIA: FlO| BA CHEAL TALT £ 5

YA FLIC

o SAL F{Of BARLE HARRIL K| 220, SAL, FEAL, CHE BAF = 27 MH|IE sARLICH
2. 2F0re] gt gtel

o MX[AL HAITE CHE 28 49 AZgiLCt

o FAL SAL AEAL CHE BA = 22 WHE SARILICH
O|2{st 7|E2 Sl AR WXIAE F&S| F26t1, =S O YelstA 24 = AGLICH
SHIE: & ¢inf Z20t 22 A= 5HX| 2X|2, phrasal verb0llM verb2t ZESH Bt 2H6t
=2 oS £2 OtL[2t, 0|52 7|35 0{0F 8tit= AZ7HK|= SHA| R3h= 20| &7
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VIII. 2Pt £0{12| met

[1] 2Fst =0{+12| AE =X

Eddie: 28 L1282 Tst sAl 10l ka3t £0) TAS WH5I0] to BHALT, SHAITR B2
SAITZ BHEO0| AFB3HE OIRE MHsH3.

ChatGPT: 268t 20| 1z 230| Zojet SAL, 12|11 HL0| K2t SH0{9} HojZ 7AE 7|
Mol 2% TZQULICE 0] TXES WHEI0] to SHAIT, SBAIT = 2ATR ALRSHE 0lRE TS
I 2Lk

o to BEAT, EWALR, BAIRE AI251H 2R0| O CIstT Q9151 LAE 4 YSL|C}H 0|=
2AS O ZHslD 2X6| OHS0| 0, B30 Z HElL|Ct
o OfAl

o 2tXSH=0{ 1X: “She wants to learn.”
o to BFA: “Her goal is to learn.”

o SYAFL: “Learning is her goal.”

0

e FAtT: “Interested in learning, she attends many classes.”

N
Ho

3 219

g

A Yetg}

o to SEAT, ST, AR 27 7i0| TS Y| st o £20] ELICH 0l 2710l |
HE HZ5tAHLE, 0|, AlZH =, X 58 MHst= o R&HCt
o OAl:

rtO

bt 20 F1X: “She studied hard. She wanted to pass the exam.’

—

o B&ALE: “She studied hard to pass the exam.”
o SYATL: “She studied hard with the goal of passing the exam.”

e FAtFL: “Studying hard, she hoped to pass the exam.”

3. 82 /5|9t 213t B

[ =
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o 2ATSE =0 F1X: “She was sitting in the park. She was reading a book.”

el

At “Sitting in the park, she was reading a book.”

o to BEAIR, SUAIR, BAlHE EF BE20| ™S UFHL ZXotn A2 EE BEZtste= O
2Lt
o Of|Al:

o 2HHSt =0{ I1X: “He is determined. He will finish the project.”
e to 2FAL: “He is determined to finish the project.”
e SHYA: “Finishing the project is his determination.”

=

e ZEA: “Determined, he will finish the project.”

o to RHAMF, YA, BMF = EF e 2 SES AIAEA 2S00 FLCE Ol SA7t

=21 O [= =
o OflAl
o 2ATSE 0| F1X: “She opened the window. She wanted to let in some fresh air.”

e to 2FAIL: “She opened the window to let in some fresh air.”
e SHYA: “She opened the window for letting in some fresh air.”
=

AbL: “Opening the window, she let in some fresh air.”

Z2

2tHe 20 22 HYS0] to BYAT, ST, BAHLE AEste Olres 29| CiFda fHA
42 E7M7|12, 23 Zte| BAIE Fets| oli, S5 mlsta 7HEst oS 7tssh of, =8-S
ok, 28 AZL SFS JHMst= ol AL Ol2et Hels S3ll 2d& [ dalstn 2atye
= MEE + AsHC
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>
10
Ot

Jal
rulo

()II
ol

(AL SEHE LEHLH=E FRIQILICE F0{E BAL, ™AL E= HALZE &2

O

e OAl: “The cat”, “She”, "My friend”

2. A (Verb)

SAtE FO7F 2d5tE SEO|LE JEIE LIEHHLICH SA= 282 S8 Q42M, AlX|, B, @ S2
Hoig o AL

° ql*l: llrunslll "iS", ueatsu

3. 2H0| (Object)

S0z AL SES He HYQULICH SN0 = T2 AL CHEAIR E3EH, 2SH0} 7t5H
o2 L= & JSLICH
e Z|=H0{ (Direct Object): 22| 21 A0l CHAS LIEHALICE
e Of|Al: “She reads a book.” (“a book”0| ZI=X0{)
o ZHEMO] (Indirect Object): 22| 7t A QI CHAMS LIEFHLICE

e O|A]: “She gave him a gift.” (“him”0| Zt=X0{, “a gift”0| =& 0f)

4. H0{ (Complement)
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Hoj= FOo{Lt SH0{of oia F7HHel EE MS3to] 1 20|E ESeiLct 20j= 2 Hojet =

HA 20|z L= 4= ASLIC

o FZ HO| (Subject Complement): =0{0]| Cliolf HHStAHL 0|9 AEHE LIEFHALICE.
e O|Al: “She is a teacher.” ("a teacher”0| =4 H0{)
o ZMA HO| (Object Complement): SX0{0] Chsl| MHSIAHLE SX0{2| MENE LIEFL|CE

o O|Al: “They elected him president.” (“president”0| £XZ HO0)

(9,1

. &40 (Modifiers)

4

Al5t0] =7t Q] HEHE MSILIC $=A0{0= FEAL, FAL TX[AL

8 (Adjective): BAIE 4510 FIHXQI HEHE MISeL Tt
e Of|Al: “a beautiful house”
o BAl (Adverb): SAL, FEAL, CHE 2AL E= 28 THIE ARG
o OAl: “She sings beautifully.”
o MX|AI (Prepositional Phrase): HX|IAIR O SO E 2HE0] 24, Azt B S LIEFHL
Ct.
e O|Al: “The book is on the table.”
o =A (Participial Phrase): 81M2A} EE= HEAIE A[ZFSI0{ FIHA01 HEE HSfLICE
e Ol|A]: “Sitting on the bench, she read a book.”
e to ™AL (Infinitive Phrase): to £™ALZ A[ZI510{ 5H, 0|R, A1t SS LIEHLICE

e OA]l: “She went to the store to buy milk.”

Ol 23 2

e 2&: “She gave him a book.”
e F0f: “She”

e SAL: “gave

° ?_I.%Z.!O_I' Ilhimll
o XZXM0: “a book”
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e 2% “"The cat is under the table.”

o F0: “The cat”

° %AI_: uisu

o MX|AIT (20]): “under the table”
e 2% "Reading books, she gains knowledge.

"

Al “Reading books”

=
—
o F0: “she”

e SAk: “gains”

e FH0]: "knowledge”

ZE

0of, SAL, 2F0{, 20f, 22|10 $A0{2 714

Kk

gLt ol
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[2] 2tHEt 201712] 71

Eddie: to 2FAI, SYALT, J2|1 2AF2| 7|58 22 2F5hF.

ChatGPT: S0{0l[A to £EAI, AT, 22|10 ZA = CHYSH 7|52 5tH, 280IM 52
oS LIt 2{Ztol 7|55 HYstH Ci3at ZsLint

1. To B ™A (Infinitive Phrase)

TY: "to” + SAH Y

1. QA 7|s: F0{, 580], H0{E AFEELICE
o OllAl:
o F0: "To read is fun.” (1= Z2 xHO|QIC})
e BHO: “| want to eat.” (L= ™1 AIC}H)
e HO0J: “"Her goal is to travel.” (22| EX = 0fdlist= Zi0|Ct)
2. HEAMH I|5: GAIE $Alst0{ WAt 71 HEE MSELIC

o
o Of|Al:
e "There is a book to read.” (21Z zH0| QILC})

3. RMH 7S SAL HEAL LIE BAME 415101 55, 0|R], 21t SS LIEF-LICE

o OfAl:
e “She went to the store to buy milk.” (AHE K-S AZ| IH ZHAI0f ZiCH)
* “He was happy to see her.” (1= JHE EtA #S3iCt)
2. SHAT (Gerund Phrase)

TY: SAF + "-ing”

Ils:
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1. MH 71s: 0f, S50, 202 ALSELL.

o OAl:
e F0]: “Swimming is good exercise.” (+Y2 E2 230|Ct)
e ZH0]: “She enjoys reading.” (A= SME E7ICt)
e HO0j: “His favorite hobby is painting.” (32| 7t& £0tst= #{0[= 12! J2|7|0o|Ct)

Mo 1
Okl
{0
2
N
rr
>u

d0f| CHiSH OfOF7|R4Lt.)

. ARt (Participial Phrase)

T

"

o BXZEAT: SAL+ “-ing
o MFHEMA: SAtS| DA EAL HEY

7l

or

1. A 7|5: GAIE £AISH0] HAN 71 HEE NS EtL|Ct.
o OflAl:

o BXfEAF: “The man standing over there is my uncle.” (K7| A = Ext

rir
=
oz

[

o|Ct)
o MHEARL: “The book written by her is popular.” (347} £ M2 Q17|7} QICt)
2. BMHE J|s: 282 FEE #4610 O|R, AlZh, =, Z3t S LEFHLICE
o OfIA:
o BXfEAI: “Running late, she missed the bus.” (R0{A], 4= HHAE EZICt)
o MFHEARL: “Surprised by the news, he couldn't speak.” (w20 Z2tA, 1= S

of = QIRAC)

0
=
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o To RHAF:

of, H0{, =20

KF

YA

lHo

of, SX0{, 20

o HzIAte] 25o]

AL

KF

[ =]
=

{72 EME MUZ Ho{FX| Zote MYl

4l. training data bias

'0|2t=

2l

M to BE-HAIRE 724: 'to + SA}

HE S
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st=

HL
1o
02

[3] 2tdgt 2077t =

roll

Eddie: to ™AL, SHALZ, O2|1 EAlE ZEMOoZ
st 12 E & &8ot= RS X|=0|, 0|S0| MEst= Eo| &

— =

oflE mh o= FLt Ep?

ChatGPT: to £EAIR, SYALT, 2|1 A= 2tEe 22| Ax0|M HYE ez, = 280

1. To B2H™AIRL (Infinitive Phrase)

o , BEAL EE= HAIE HE5h= oS gL
Ct.
o OflAl
* “She went to the store to buy milk.”
o St 2% “She went to the store.”2t “She wanted to buy milk.”

[ ]
o

BHAT: S8("to buy milk”)2 ZEHs| 28,

2. SYAMA (Gerund Phrase)

e “Swimming is good exercise.”
o St EZ" “If you swim, it is good exercise.”

o SHA EE("Swimming”)S 7HEHS| HALSt,

245/353



. ARt (Participial Phrase)

® “The man standing over there is my uncle.”

e St EZ “The man is my uncle.”2t “The man is standing over there.”

o A HAK"The man”)of| CHet x| ZQl EE 7HES| HE.

ul: gt 20| MESH: WHe| &
et B8 0, SAL, S0, 20| SS Zel5t0] TA| ArA0|L &S YLt

e Of|A]: “She went to the store because she needed to buy milk.
A

o O] 2T2 FH2f A 2

O

1 1 #E2| O|RE 23|

1l

02
oo
r
n

0
I

TES: AT 29| 7 Q45 M MESHH, Y 2ollM St AL S st

o OIAl: “to buy milk”
o SYAL: AL EFS HAS
e OAl: “Swimming”
o AR HANLL FHO|| Chist R7HEl FHH

e OAl: “standing over there”

Ho| ek H|

To SEALR, SYALR, BATE 212t 5t 20| SH3 &S 5101, sie J3lo| BE F23
HEES HLUBLICH 0|5 PRO| Hetste HEE o 2xo| S5 B0 ettt BES Zasi,
o352 o 2125t 52Oz HELIT

8 2a2 HH| AZiO|L

i
-
-
HO
fuin
rlo
HO
val
=
I
=2
Rl
2
0=
1
o
o}
HL
-
;
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S 20[Lt M Aletof &

H=E =0l= ol

S

Pl =0 F0, HH| 2&2 0f

Qs

ot
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Eddie: to SHAIT, SYARR, 121 2AI7} 3512 Qs BE 727+ RARIX| Mmss
ChatGPT: to BEAIT, SYALT, J2(1 2AIE 25 7|20l SAL Helo) M i 72S2, 2
2t SR5t Ere 2HILICE Ol 20| F[311 U= BE FES 7|2 SAF HEHOI AlX510] Crer
B SIENR WRE(O] WAL HRA, EE HAF IS & 4 Urts FMell|T} 0|58 25 20| 53 2
AS SFBILL HE5Hs A2 BT
ZE 7Z: SA0IM THY
1,712 SA Eef

S 222 7|2 SAF HEHol A AIRRILICE 012 S 2 122 SHE 7152 23Y 4 YTE W
guict,

To S ™AI (Infinitive Phrase)

IX: "to” + TAL S

o 7|5 WA, HEAIA, EAIM Agtg f3iFhL|CY,
o QWA “To read is fun.” (=04)
o HAIA: “| have a book to read.” (HA} 3=4))

o BAMA: “She went to the store to buy milk.” (5&)

Gl Al:

e "toread”
. Ilto buyll
e "to eat”

SHAMT (Gerund Phrase)
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-_l'l'}—. %Al_ + ll_ingll

o J|5: T2 BAA AE S FASHH, F0{, X0, H0{Z AL E LT
e F0]: “Swimming is good exercise.”
e ZFHO0{: “She enjoys reading.”

e HO{: “His favorite hobby is painting.”

ClIAl:

* “reading”
e “swimming”

* "“painting”

E AR (Participial Phrase)

o YUXEAI: SAt+ “-ing”
o DHZAT: SAt| BAHEAL HEY
o J|5: FBAH, BAMN AT S SASH0] BAILL 2T THIE $ARLICH

== T

o SIXfEALF: “The man standing over there is my uncle.” (At £

GlIAl:

STHEAL: “standing”

WHEAL “written”

ok
=

FO
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DE 122 7|2 SA HEfo| Hso] SHE 7|52 Utz E WRELICH 0/ 720| Fstn
L

1. 712 SA FEjoll M A[ZSHo] £ FAKO: “-ing”, “to")E F7I5t7{Lt FEHE HYTLICE.

AR, dE2|10 2AE 2E0M CHFeh s a5

4

0

>

ﬂJ

2 om
O

% (0] o
0 < Hetstn 25 BtEE= o] 7|04 fL|Ct

and participle phrase?” CIE2t 20| 2[2] 8t2 4¥S J0= E0{E.

The common structure of to-infinitive phrases, gerund phrases, and participial phrases is
that they all originate from a base verb form and are then transformed into a non-finite
verb form that can function as different parts of speech in a sentence. These phrases add
versatility and nuance to the sentence by functioning as nouns, adjectives, or adverbs.

Here's a detailed explanation:
1. To-Infinitive Phrase
Structure: “to” + base form of the verb (verb infinitive)

¢ Function:
* Noun: Can act as a subject, object, or complement.
e Example: “To read is enjoyable.” (subject)
e Example: “She wants to read.” (object)
e Example: “Her goal is to read.” (complement)
* Adjective: Modifies a noun by describing a future action or purpose.

e Example: “She has a book to read.” (describes the purpose of the book)
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* Adverb: Modifies a verb, adjective, or other adverb, often indicating purpose or
reason.

e Example: “She went to the store to buy milk.” (indicates purpose)

2. Gerund Phrase

Structure: Base form of the verb + “-ing” (gerund)

* Function:
* Noun: Can act as a subject, object, or complement.
e Example: “Swimming is fun.” (subject)
e Example: “He enjoys swimming.” (object)
e Example: "His favorite activity is swimming.” (complement)
* Object of Preposition: Follows a preposition to complete its meaning.

¢ Example: “She is good at swimming.”

3. Participial Phrase

Structure:
* Present Participle: Base form of the verb + “-ing”
e Past Participle: Typically the third form of the verb, often ending in “-ed” (for regular
verbs) or other irregular forms.
* Function:
e Adjective: Modifies a noun by describing an action related to the noun.
* Present Participle:
e Example: “The man standing over there is my uncle.” (modifies “man”)
e Past Participle:
e Example: “The book written by her is popular.” (modifies “book”)
e Adverbial: Describes an action related to the main verb, indicating time, reason,
condition, etc.

* Present Participle:

PSS
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e Example: “Running late, she missed the bus.” (describes reason for missing
the bus)
¢ Past Participle:
e Example: “Surprised by the news, he couldn’t speak.” (describes reason for

not speaking)

Common Structure

The commonality among to-infinitive phrases, gerund phrases, and participial phrases lies
in their origin from a base verb form and their transformation into a phrase that performs
a specific function in the sentence. This transformation involves adding specific markers to

the base verb:

¢ To-infinitive: “to” + base verb
n

® Gerund: base verb + “-ing

* Participle: base verb + “-ing” (present participle) or past participle form

These phrases can act as:

* Nouns (subject, object, complement, object of preposition) for to-infinitive and gerund
phrases.
e Adjectives for participial phrases.

e Adverbs for to-infinitive and participial phrases.

By using these non-finite verb forms, sentences can convey complex ideas in a concise

and flexible manner.

chatGPT2| X[A2 A0{et &2 gl1, BHX| EHA| £ S0 2 HHIOE &,
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ChatGPT: To £gAM, SALE, 22|10 A0 ZetEl 0= R 7HK| SSE E42 B EL
Ct. 0|2 0= HIetE(HIE) SAL HEHE ALESI0] Tt 2HE 7|s5S lst, 20l Chket

[=|
Astg fiLICH ZH2e| 2017t Hojr= EME ApMs| AHENSLICE
1. To ™A (Infinitive Phrase)
TE: "to” + ALY

E .
sy

H[gHd SAL HEl: To REALE 0|, AH|, f RE6HA ALSE|H, 2EHHe =z £ AXNIE Lt

1

EFLHX| Q2L Ct.

2. Cgt ok PAL FEAL, FAZ ALEE + USLICH
o WAL ojsh F0f, X0, HO{Z AZELICE

e Of|Al: “To read is fun.” (FH), "l want to eat.” (5% 0])
o Al g YAE pASH0] F7H HHE FMS=LIC
e O|Al: “She has a book to read.”
o HAL gl AL WEAL THE BAIE £AI510{ =4, 0|R], 23t S LIEHLICE
e OAMl: “She went to the store to buy milk.”
3. Dj2f x|gkd: =5 0j2le| ASO0|Lt 2| =& LIEFL|CE.

=] OO

e O|Al: “She plans to travel next year.”

2. SHAT (Gerund Phrase)

TE: SAF+ “-ing”
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1. HIgHY SAF El: A= O, AlH|, =2 FE6HAH| ArEEH, LetHo= EF AME LIEHX]|
FELo.
2. YA g F0f, SH0], H0{= AR, TX|AL] EX =X AFZEIL|CH
e OAl: “Swimming is fun.” (F0{), “She enjoys reading.” (§&0), “He is good at
painting.” (MXIALS] 2 04)
3. #Ee| ArY: SHAR= LEHQl AelLt #FS LIEFHLICH
e OAl: “Running is healthy.”
. ARt (Participial Phrase)
T+
o BHAYEAIR: SAL+ “-ing”
o MMHEAR: SALS| BtAHZAL HEH
g4
1. HIgHY AL &El: EAt= 0], AlN|, =2 F2t5HA| AFZE|D, YEE o2 EF A[NIE LIEHX]
FELo.
2. HEA gl ALt CHHAE £=4I510 F71 FHE WS LT
o BXfEAL TR ZQI SEO[LL HEHE LIEFHLICE
e OAl: “The man standing over there is my uncle.”
o MIHEA 2R E SHO|L} HEHS LIEFALICE
e OlAl: “The book written by her is popular.”
3. BAb gk 2 HHIE 415109 0|/, AlZh, =2, Zat S LIEFHLICH
o GlIA:
o BIYEAL “Running late, she missed the bus.”
o MFHEAL “Surprised by the news, he couldn't speak.”
SSE Y
o HISFY SAF €Ell: =01, AlA|, 2=0i HMet2X| to0], Cifst ZHA Adls slleh 4= AUSLICH
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HEA}, FAF S 015

YA},

.
S.

245 7|

Chetst
il

SfLICE

£ S5

St

A 2h=01

1

oq

To BFAI, SBA, O22[1 ZAO|

Si0{, 2E0IIM HAL,

ol
PIN

EAL BAZ MEE =

=
TUSH, 0], AH|, =01 Xt

£ 7RAYSE 7HX2 ASLIC.

ot
LS

b trainingO| SAAE 2

Cl|OfEfof| 2|5t

e

=4

=
L.
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ChatGPT: To 2&AI (infinitive phrase)= “to” + At &2 HEE, 2&0|M CtFst A2

et 4 QUBLICE To BYATE WAL AL BALZ AR
N

HJIO "J—

=
of 28 Q42 7|SEILICE Ofefl= to REATL| 2 Y

o FOZ AIE
e Of|A]: “To travel around the world is my dream.”
e EM: "To travel around the world”0| FO{Z2 ALE|0], FHEL| SAL “is” 2t HAELICE

o Si{A: “"MA i S st= 20| L FO|Ct”
o SHOE AR
o OAl: “She likes to read books.”
o BM: “to read books” 0| SA “likes” 2| SN Z AFSEIL|CE,
o SH{A: “Jl4= M o= AS FOlefL|Ct”
o HO|Z AIE
e OAl: “Her goal is to become a doctor.”
e 2M: "to become a doctor”0| A HO{Z ALEE[0 F0{ “Her goal”2 EHEHLICE
o 5. “Jl4°| FH = oAt El= AYLICE”
o MX|AIC] SHOIZ AE
o OAl: “He is about to leave.”
o BM: "to leave” 0| MX|AL “about”2| SO Z AFEEIL|CE

o 3iM: "O= M 4|7} =[O JUSLICE”

N
02t

A 24 (Adjective Function)

To B HAIE BALSE £2[510{, O HAof| Chst :71 YEE NS + ASLICE
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=

e OAl: “I have a book to read.”
e 2M: "toread”0| Al “a book”"2 45101, 212 HMO|2t= FIH H
o SHM: “Lt= Q12 MS 7HX| 10 JELICH”

e OfAl: “She is looking for a house to buy.”

o EM: “to buy”0| HAL “a house”S 4510, & Z0|2H= 2[0|E FIHEILICE
o SHM: “Il4= & T2 31 JUSLICL”

3. BAME 2% (Adverb Function)

lst01, 2%, 018, T S8 LIEN 2 YL,

o EXNZ LIEI
e OAl: “She went to the store to buy milk.”
F=X AMoq

o 2M: “to buy milk”O| SAt “went” 2 $AI5101, 2f 710 UEXIE HYE

o 3M: "Il4= RKRE AY| sl 71|l 2T

L{Ct.

o O|RE LIEMY
o O|Al: “He was happy to see her.”
o E4: “to see her"0| FEAl "happy” & 415101, 2ff &

o 3iM: "I= 1S 2N AFHCE”

o ZIE LIELY
e Of|Al: “She grew up to be a successful artist.
o 2M: "to be a successful artist”0| SAl “grew up”
Hlz7tot EIlSS 2YELIC

sliA]: "= Af2tM d3 e o7t EIACE”

o 30, M0, 202 AISELICE

1
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" (F=0), “I want to learn.” (5H0{), “His dream is to

o O|Al: “To learn is important.

1510 =7t HEE MSELIC
e OIAl: “I have a report to write.

3. B 84
S LfepgiLICE

o SAL BEALCIZ HAIS
“She hurried to catch the bus.’

4510 25, 0|}, 21t S

o OfA|:

oo

et JHE NS

5 olgre S3 23 SR of Bt

SEA = 0f2{8h Lt o
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[9] 2tHst £0{79| 7|5 mie} Wi - SYAHL
Eddie: SHAIR| 7|52 MushF.

ChatGPT: 8YAt7(Gerund Phrase)= SAt A0 “-ing”E 01 ZIE
TEOR, ZHOIM YAMY 7|SELICH SYAIRE TSt 2HE o8

Ho|, 20{, MR SHZE AR E 4 JSLICE Of2of] SHARL| =
1. FO{Z M2 (As the Subject)

SYATE 20| F0| o

EFLICE

Il

= g & ALt ol STA=E 282 FHZAM SEO|LE SEHE Lt

e OIM: “Swimming is good exercise.”
o ZH: "Swimming”0| FO{Z AEE|0| T2 SAF "is” 2t AZELICH.

o B|M. "2Aoj2 E2 250|C}."

T oL S o |_ o
e OAl: “Reading books can expand your knowledge.”
e E4]: "Reading books"0| F0{Z ALZE|0 EF2| SAt “can expand” et HZELIC

=| BN =2 = o = A
o BM: “HS 9 2 THIO| XA SHEAIZ 4 STt

ST = A2 SX0] dg= o = JUSLICE O|uf SYA = SEO|LL &Efe| Ci&to] ElL|Ct.
e OIM: “She enjoys reading books.”

o 2M: “reading books”0| SAL “enjoys” 2| ZXOE ALZELILE.

o gli&: "Tl4= M ¢j= AS &t
e OfA]: “I avoid eating junk food.”

o 24 "eating junk food”0| Al "avoid”2| X0 Z A ELICH.

o ML= FAFSS UL NS T

g

El-. "

3. HO|E A2 (As the Complement)
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SYATE T4 B0 = S5 HOZ ALZE + ASLIH. ol SYAF = FOILE SHAE

StALt ESefLct.

o F4 Hof
e O|Al: “Her favorite hobby is painting.”

I

4] "a49| 7k Eotsth= (o= & Jd2|7|o[ct.”

. 257 Hoj

Ol

OlAl: “1 found him reading a book.”
o BM: “reading a book”0| SXZ HO{Z AEE|0] SX0O| "him”S2 MYEHL|CE

o S "L= 07 M2 9T QI 2 WAL

D

. MX|AFe] EX0|2 Al (As the Object of a Preposition)

SHATE HRIAR| SHO = AEE 4= AFLICE Olmf SHAE TRIAtS] tido] ELTt.

e OfAl: “She is interested in learning new languages.”
o 2M: “learning new languages” 0| TX[AF “in"2| SXHO{Z AFZELICEH
o 84 "Ild= M=2 A0S HiR= A0 2HA0] RICH”

e OfAl: “They talked about going on a trip.”
o 24: “going on a trip”0| MX|AF “about” 2| SHOZ AFZELICE

o M. "IS2 ™S 7h= Aol CHal OfOk7|ZHCt.

1. FOE AL

e OAl: “Swimming is fun.” (=Y THO|RULCE)
2. SHOZ AIE

e Of|Al: “She enjoys reading.” (A= SME &7ICt)
3. HojZ At
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o SEZ H0: “| found her studying.” (LH= JH7t 388t QlE HS YHC)
4. Hx|Me] SHOE AE

e OfAl: “She is good at drawing.” (4= O J2(7|8 &SiCt)

e SHOI RUSH 2HE0, SEO|LE SEHE YA FEl=
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[10] SBAe} EAMIS] 12 Sl
Eddie: 280 ZatE SYAIT BAIRE 225 wlol oA MY,

ChatGPT: SHAI2 A= = Cf “-ing” YENS| SAIE AFESHX|2, ET0M +&i5h= Hetat
7|s0f wet AR ELCt o] & A2E FE5hs Y2 250| 2Z0IM oEA AA8E[=X], J8| 1

S0| aish= Ao w2t FetsiEL|Ct.

SHAMT (Gerund Phrase)

3

dim

1. GAH g STAHE S YAAE ASsHH, 20 0], SH0], 0], £= FXMe| 5

N
ook
ful
ofn
=
rfo
o
+

5
Lo\

ZF0{: “Swimming is fun.”
o BEM: “Swimming”"2 FOE AISELICH
e ZH0]: “She enjoys reading books.”
o EM: “reading books”"2 SAt “enjoys” 2| SHO{Z ALZELICE
e H0{: “Her hobby is painting.”
e EH: “painting”"2 4 HOZ AIZELIC
o XA SHO{: “He is good at drawing.”

e EM: "drawing”S FXIA} “at"2| SH0|Z AFREILIC

2 Al (Participial Phrase)

E .
£3.

1. S8AH = BAY gl EAE AL TIBALSE A5, 28 THIZ 45101 0l 7, Al
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02

m
—

MY ZAL SAHRE + "-ing”
DHZAL SAL| DA ZAL HEN

BAY ofgh: AL CHBALE $AI510 =7t HEE FISELIC

XH2AF: “The man standing over there is my uncle

ALt

H: “standing over there”= "man”g $AIg

e M

o MHEAL “"The book written by her is popular.
o 2 “written by her"& "book” & F=AIgLIC},
= +A5t01 0|R, AlZt, =71 SS HEHLICY.

o A o8 2% FHS 24

=1
o BT EAL: “Running late, she missed the bus
£ dHghict

e 2M: “Running late"= JH{7t HAE =7l O|R]
o IHEAL “Surprised by the news, he couldn't speak g

o 2M: “Surprised by the news”"= 17t 22

o SYAR: 20N HA A3 S
: "Reading books is enjoyable.” (F0{)

e Ol|A]: “She likes reading books.” (5 01)
AL EEE BAF Q3 SHCPH EARLICE
" (HZAMA dstz "glr|" AM)

o EAM: ZTO0IM HE

e O|Al: “The girl reading a book is my sister.” (&
e O|Al: “Exhausted from the trip, he went to bed early.” (RAIA Atz 0|7 HY)
2. e 2ol
o STATL: EHAF “ling” HENQ| SAIS AMRSID, WA #SEHL|CH
e OAl: “Swimming in the ocean is fun.
AL RAMKE ASELICE

o EAR: STEAH"-ing”) = HEAL FEIE AHBotD,
o OA] (BIZHE2A}): “The cat sitting on the mat looks comfortable

o O|Al (ZHEA: “The broken vase was expensive

263/353



OlA] 28

SYAA:

e “Playing tennis is enjoyable.”

o EM: “Playing tennis"2 F0{E AtEEL|CE

AL

* “The man playing tennis is my coach.”

ll|_ " no A*|

e 24 “playing tennis man”S A5H= SIXiEAFLICE

e “Tired from the workout, she took a nap.”

il
12

o
fujo
—orl—l
rir
K
]
il
Rl
4

o
=
il

o BM- “Tired from the workout” = FA}

OOk
a4
o SWALTL 2HOIM BA HHS 510, 30{, 2H0|, 0|, MEAte| 0|2 ARELICE
o EALR 2FOIM HRAILF HAF OBt srm, WALS 2AP7ILE 25 HRIS SARILIC

264/353



[11] 2At12| 2IXIE &8st +Ai 0] oot dH

f

x

&

ol

Eddie: 20| Zetel SAL| +AHANE EAS fIXIE 7|EL2 mtetst= Eo 2t

.

HI

ChatGPT: 230 =&zl EAtT2| =AY E metstr| fleiM= 2AS] fIX|2F =S 1efst
= 20| SQEYLICE A= SMEAITL HZAIAZ LHF0, O|S0[ 2E0i[A {C|of @|X|SH=LF

off k2 AT 07F ZEFE 4 JASLICE 2AFL| /IRIE 7222 MUY E nfefst= Y-S Of

rE
fjo

it 20| 2L,

1. EBA2| Ix|off hE s-Ach ko] mpot

a. YA HEZ 2HO|Lt Fofl fIxISH 2 AL

3 BME A5 B2t Bl

o EAMLZF BA HEZ Flo f1X|5HH
o EAMZE BA HIZ ot fIX|E = AFLICE

GllAl:

* “The book lying on the table is mine.”
o 24M: “lying on the table”2 BAL “book” HIE F|0i| 2IXI5tD{, “book” S $=AlBILICH.
o 54 "2k 2o 01 U= M2 L AO|CL”
e “The man standing by the door is my uncle.”
o BM: “standing by the door”2 HAL “man” HIZ F0f| 2IX|5H, “man”2 AIEHLICE
o Y. "2 Aol M U= ERt= U &HEOICE”
® "The broken vase lay on the floor.”
o BM: “broken”2 Al “vase” HtZ 0| Q|X|5HH, “vase” S $AIEHLIC

o S|y “IEl ZHO| HIEof| =0 ARACE.”
b. 2&2| M o[L} T Flofl 2IXIEH EALS

o EAMZL 2E2| W o[} TH Fof {IXISHH, FH| FOE FA5k=E L7t BELICHL
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GlIAl:

® “Running late, she missed the bus.”

o 24 “Running late”"2 S&2| T otof| |X|5t0{, FHC| F0{ “she”E sAIRILICEL

o M. "SO{M, D= HAE SHCL”

S M
* “Surprised by the news, he couldn’t speak.”
o 2M: “Surprised by the news”2 Z&2| T 20| 2|X|5tH, FE| F0{ "he”

o 3M: "I mAO mEkM, O= TS E 5 IRACE”

ﬂJIIH

e “She walked home, feeling tired.”
o 2Y: "feeling tired"2 22| M 0 2IX|5I0, FE| F0| "she”E FAIRILICH

sil&f: "alq= m2ehs S| Zofl 2ozt

(==

GlIAl:

* “The students, exhausted from the exam, went home early.”

o 2M: “exhausted from the exam”2 E& 710 &Y= oM, FHO| F0{ “The

students” S £AISHL|CE
o SHM: “AlH0| X|Zl PSS L™ Zof 2T}

— 1

e “We saw the artist, known for her paintings, at the gallery.”

o 2M: "known for her paintings”2 & SZH0| &I=[0] A2, “the artist"E

Ct.

o SfiA]: "R2|= SH0IM TS| RS2 LT Ol=7HE E/UATE”

0
=

AL B2 QHOILt S0l IX|EH EAFT:

o AL HIZ O[Lt Fof| RIXIet ZAFE O BALE AR
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e OAl: “The man standing by the door is my uncle.”

2. 2%2| ™ oto|L} T Fof| fIx|gt EAH:
o ZFO| T tO[Lt B Fol| /IXISF EAtTE FEL FHE AL
e OAl: “Running late, she missed the bus.”
3. 24S S8t Ao mie):
o =T B0 HYE BAH = FEO| FO|LE UMY 2|0|E Sl FAILHE0 S TofeiLCt.

OAl: “The students, exhausted from the exam, went home early.”

Eddie: 230 Zetel EAT2[ 2IX|0f w2t SAlCi&07t E2tX|= 0lRE L&A,

ChatGPT: Z¥0i| Z&zl EAS| IX|0f| Kh2tA Atieo{7t HEtXlE OlfE AR /AX7F 2
FollMo| oyt 2|1 S HES| Folshy| MZYULICH EAIT = AL FOE #A5t0 F7HAel FHHE

o] A A
— T

E MISst=s AL S s, fIX[0f] et 2 4] teo] RIAAFA FHELICE. 0|2 QI3 2AtF2f U]
A 2

7t =AY E 25k S8t Q471 gL CH T2 1 0|R0f theh 2™ L(ct.

=Y 122t SE| Wt ZARe| /X7 =AY E ZYASLICE A7 22 o 220 2|
N

Xlof 2t Z0| HEFX|H, Ol= 2AMZE O AL FOE #Alst=X|0f kS DIE LT

 EAR2| gxiet ofet

N

a. YA HIZ HO|L} Fofl fIxISH 2 AR

o EX: WAL HIZ AO0|Lt FOf| RIX|EH A= LHEOZ 1 HALE AISHL|CE
o O] EAL7F WAL} LUESHA AZE|N L0, 2UA XIAAZA| T HALE £2AI51H| ELICH
Gl Al:
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“The man standing by the door is my uncle.”
o EM: “standing by the door”& HAF “man” HIZ F0f| 2|X|5t04, “man”& $=AlLICE
o M. "E Aol M A= HAb= W HE0|CH”

“The broken vase lay on the floor.”
o 24 "broken”2 HAt “vase” HIZ 240l 2|X|5104, “vase"& AL

o SliAf: “7HE EOl HEEO]| =0 QURALE.”

EZ: 2xto| th o[t B Fof| KIX|EH A= LMo 2 THO| FUHE $AlgHL|Ct
0] EAF7t 2&2| F0{Qt =2|MoZ HZE|N o0, FHO| F0{o| chst F7t HEE HSE
L|C}.

Gl Al

“Running late, she missed the bus.”
e 24 "Running late” S 2Eo] o 20|l 9Ix5104, FHO| Z0{ “she"S SAIBHLICH.
o Sfiaf: "SO{M, 2= HAE SHICL”

“Surprised by the news, he couldn’t speak.”

o 24: “Surprised by the news"2 &2 M 0|l 2|X|510{, FE| F0{ "he”

[

mlm
@
r
ul

“She walked home, feeling tired.”
o 24 "feeling tired”"2 2&2| M Fof| /X510, F=E| =0 “she"E AELICL

o M. "Ol4= mlZets Lo Eof| 2ot

E¥: 28 U0 UE BAFE F2 FEQ FO L= 2UY 71 7IH2 BAE AL CH
0lf: 22 S0 U AT = XY FHL| 0| = AR 77kel, 2 oildofl ohgt 71
HE MSsHA gLt

GlIAl:
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“The students, exhausted from the exam, went home early.”

o BAM: "exhausted from the exam”2 2% S| MUE[ o, FHO| = “The
students” S £AISHL|CE
o SHM: “Al0| X|Zl SHH=2 L™ RO 2T

“We saw the artist, known for her paintings, at the gallery.”

e EM: “known for her paintings”"2 & S0l 4 U=[0 2D, “the artist”E AL
C}.
o M. "2|= S0 e OBISE LTl ol=71E EQ4CL”
ook
IS
FAIL| |X|off [H2f ~ACHAO7F HEHK = O|fE EAM7I 22 12t S 20 W2 XIAARA &
A HALLE O E £A5H| II2RULICEH IRl 2AMERE SAIDHAO 7o =2|& HAIE HWets| 5i0,
o) 9= 2|0|E HMYst= Ol 38t Hgets §fLIct
1. WAL HEZ 2FOILL S0l fIX]: T HALS A
2. %2t oto[Lt M F|oj] RIX]: FHO| FHE 4
3. 2% F7Hof| &l FHO| F0 L= BMY TR HBAIE 4]
ol2{st 7|&E2 Soll 2AITL| =AM E HEs| mietdt 4~ JELICE
SHA: A 2w Z20| CiS RS DESARQLE & il Z20)| CHE CHE2 Ha5HK| L2,
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[12] 2Att2] fIx]of| mHE W8 XI0|F

Eddie: OIZ2 HMA[St CHS
=l =0 28 W Foll fIxIE

|'o|I _||'|

SF 1 20| commaz 22|E|0] 2 2oy
SAFL| LS4 XI0|HE 2LEqFH .

Covered in pink blossoms, the peach tree was beautiful.
The peach tree was beautiful, covered in pink blossoms.

{Ix[et A2t commaZ

ChatGPT: Ct=2 F 282 AL AX(of w2t L4k oFzke| X107t A&

o
o TA| ofnjet =HE HiE = AELICE 0|12 Sall 282 ZZHO|Lt Lo S50| HEtE

LI},

1. Covered in pink blossoms, the peach tree was beautiful.

o EAME fIX|: 22| M 2oyl {|X|.
o 2& FX: “Covered in pink blossoms” (EAHL) + “the peach tree was beautiful” (F
o L8k 2O
e O] L& & “Covered in pink blossoms”0|2t= HEE ZZxst1, O Aut2
SO SS LIEFHLICE
o ZXH: ES0ILIR7LEH3 2oz Hof QURUCH= AMME HA eig3sto{ J2 2l
Cl= M2 ZXFLCH
o M. "E3 o= HOl 1 S&S0ILIR= OFSCHRICt”

2. The peach tree was beautiful, covered in pink blossoms.

AN H

o=
=

LIt SAL| @

1"

P
=

covered in pink

).

=40HLt2 7} of

ofi OFECHe =8

o EAM fIX|: 22| M F ol {|X|.
o 2& FX: "The peach tree was beautiful” (F&) + “covered in pink blossoms” (ZAF1).
o 82| olOj:
o O| 1= FSOMLIFT} OFELHRCH= AMAME TX igst, 1 0|
blossoms” 2 MG |C},
o ZZEH. 22020l O}2C}2S MK U5tn 1240| W3 Bo2

o
o 3M: "1 F50HLtR = OFECHRICH 3 222 Hof AUCH”

o — = —
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Lig& xto|H 29f
1. A i 2 (2T 2ol
o =M EARIIEEC
S HELICH
o MH S2: M
oK ddsiA & =, 2
o X ES0ILHRIH E
EEELICE
2. FHm 2% (2E W H
o =M FHO| 2F9 T
o ¥E SE: MX SS0HLIRS OFEEf%
. 2= =a0it2o| O} 2
=01 »Eah|ct
ZEXMo=
£ WX ®Fsto] 22 Qlsf| OFECt
£ EAE dYFLCh
=HE: -

T 2fofl /IX[SHANM, SSOHR

XN AL LIES ME3H0{, A7t =

a 7=|J—|_|._Ie_ o|.E|:|-O° ZtxX %I-|_|

|

3 %02 Hof AUCk= S

o
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[13] Reduced Adverbial Clause

Eddie: Reduced adverbial clause?| 7Z2} 7|s0f ZtsiA MHsHF10, EAMLL}E XIO|H S W2
=l

ChatGPT: Reduced Adverbial Clause®| X2t 7|5
Reduced adverbial clause= S£AtE(adverbial clause)0| 2=l HEIZ, T2} SAIS AMEFSA
o

Lt B d5t0] ZHESHA| BtE 2 /ILICE Ol E8S ZHEsH stHM . BAHEO| HEsH=

St= 7|52 §LICH Reduced adverbial clause= F2 Mzt 0lg, =2 59| o|0|E MY EHLICE,
1=
Reduced adverbial clause= YUHM O 2 Ctaut 22 B2 LIEFEL|CH

SElf: 012t be SAIE HEf5t toll -ingE E04 SMEALZ THELICH

=AM =foll, SA
2. BHZAL HEl: 012 be SAE WEBHD, SAIE LAHZAL EIZ 2HELCEH

Reduced adverbial clauses F& Ct31t 22 7|s2 &LCt:

1. AzZh 8t S20| CHE SEta SAl0] 20{eS LEFHLICE
o O|Al: “While walking to school, he met an old friend.”
o X M™: “While he was walking to school, he met an old friend.”
2. Ol &

e Of|A]: “Being tired, she went to bed early.”

ZO|Lt &EHC| O|RE LIEFALICY.

e =0F M. “Because she was tired, she went to bed early.”

_HH'

: B8 ZUS LIEF-LICH

— O

w
r.\.'.

o OAl: “If finished early, you can leave.”

e X M: “If you finish early, you can leave.”

B Al (Participial Phrase)2| X2} 7|5
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AlZH =71 52 LIE= 229

EAIE OHEa 22 el 2 LIEFLICE:

1. #MBARL: SALOl -ingE 201 =AM HEli= BHELICH
2. BHRBARL: SAE D EAL YEiZ 2HSL|C

EATE F2 LS 22 7SS gfuth

TAL 241 QAL CHZIALS 2415101 7150l HEE FTsHLC,

e O|Al: “The girl reading a book is my sister.”

2. B3 MA| £4): 2T HHS 445101 012, A2, A S LERALICE,

Lo =] = T ™1

o OAl: “Feeling tired, she went to bed early.”

Reduced Adverbial Clause2}l A1 xjo|™

718

e Reduced adverbial clause: SAFEO|A 02t SAIE Ffst

Sof HiALE ojn|2 HeEiL|C),

o EAF: SAOIM LA E T EAILE DHAZAIE AHESH0] AL 2

2. 7ls:

°
A
[
o
[
(2]
[0
o
Q
o
<
D
=
o
o
o
Q
[
n
o
_|
el
m)-l
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¢ Reduced adverbial clause: T2} be SAIE MEFSIHLE, SAIE SRH2AL EEE= DHEA}
2 HHEEHLCE

e OAl: “While walking to school, he met an old friend.” (FEl £AFE)
o EAML: S ZAL EE= HAHZALZ AIZSH0] HALLL 22 HRE AL
e O|Al: “The girl reading a book is my sister.” (SZ{=ZAHE)
4. Of|A] H|x:
* Reduced adverbial clause:
e "Being hungry, he ate a lot.” (2 ™. “

o EAM:

e "“The cat, startled by the noise, ran away.” (BA} “cat” & $=4)

Because he was hungry, he ate a lot.”)

OOk
]

Ir

OF
25

[ ]
g

HEZ, Ot SALE dEFSIALE HYSH0] AlZt

A

Reduced adverbial clause= EAIES

O|R, =7 S| FAMH o|0|E HMEELICY.

o BMFE= SMMEA L= BAHZAIE ALESH0] BALL 22 THIE AlBfLCH

T -

of
<]

* Reduced adverbial clause?t EAtTE 7|5 AZ0|AM XI0|7t /I, 2tz EH0M S5

1

il

SRHA.

(L
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[13] Reduced Adverbial Clause

Eddie: Reduced adverbial clause?| 7Z2} 7|s0f ZtsiA MHsHF10, EAMLL}E XIO|H S W2
=l

ChatGPT: Reduced Adverbial Clause®| X2t 7|5
Reduced adverbial clause= S£AtE(adverbial clause)0| 2=l HEIZ, T2} SAIS AMEFSA
o

Lt B d5t0] ZHESHA| BtE 2 /ILICE Ol E8S ZHEsH stHM . BAHEO| HEsH=

St= 7|52 §LICH Reduced adverbial clause= F2 Mzt 0lg, =2 59| o|0|E MY EHLICE,
1=
Reduced adverbial clause= YUHM O 2 Ctaut 22 B2 LIEFEL|CH

SElf: 012t be SAIE HEf5t toll -ingE E04 SMEALZ THELICH

=AM =foll, SA
2. BHZAL HEl: 012 be SAE WEBHD, SAIE LAHZAL EIZ 2HELCEH

Reduced adverbial clauses F& Ct31t 22 7|s2 &LCt:

1. AzZh 8t S20| CHE SEta SAl0] 20{eS LEFHLICE
o O|Al: “While walking to school, he met an old friend.”
o X M™: “While he was walking to school, he met an old friend.”
2. Ol &

e Of|A]: “Being tired, she went to bed early.”

ZO|Lt &EHC| O|RE LIEFALICY.

e =0F M. “Because she was tired, she went to bed early.”

_HH'

: B8 ZUS LIEF-LICH

— O

w
r.\.'.

o OAl: “If finished early, you can leave.”

e X M: “If you finish early, you can leave.”

B Al (Participial Phrase)2| X2} 7|5
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EAALE SXEAL EEE TAEALZ AEISH0] AL TIBALE A5 L, 28 HXE =

AlZH =71 52 LIE= 229

EAIE OHEa 22 el 2 LIEFLICE:

1. #MBARL: SALOl -ingE 201 =AM HEli= BHELICH
2. BHRBARL: SAE D EAL YEiZ 2HSL|C

EATE F2 LS 22 7SS gfuth

TAL 241 QAL CHZIALS 2415101 7150l HEE FTsHLC,

e O|Al: “The girl reading a book is my sister.”

2. 28 WA A 2 HAE #4510 0|7, AlZh, = SS LIEHELIC.

e Of|A]l: “Feeling tired, she went to bed early.”

Reduced Adverbial Clause2}l A1 xjo|™

1. 713

e Reduced adverbial clause: SAFEO|A 02t SAIE Ffst

Sof HiALE ojn|2 HeEiL|C),

HEHZ, F= AlZ

o EAF: SAOM DA E T EAILLL AHZALE ALESI0] BAILE 28 HHE +Ag

2. 7ls:

°
A
[
o
[
(2]
[0
o
Q
o
<
D
=
o
o
o
Q
[
n
o
_|
el
m)-l
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¢ Reduced adverbial clause: T2} be SAIE MEFSIHLE, SAIE SRH2AL EEE= DHEA}
2 HHEEHLCE

e OAl: “While walking to school, he met an old friend.” (FEl £AFE)
o EARL: AMXHEAL = BAHEALE AZFSI0] AL 2 TH|E AL
e OM: “The girl reading a book is my sister.” (HXHEAIE)
4. Of|A] H]xd:
* Reduced adverbial clause:

"

e "Being hungry, he ate a lot.” (F2F M:
o EA:

e "“The cat, startled by the noise, ran away.” (BA} “cat” & $=4)

Because he was hungry, he ate a lot.”)

OOk
]

Ir

OF
25

[ ]
g

HEHZ, 0|2t SAS AEfSILE HYSH0] AlZt,

A

Reduced adverbial clause= EAIES

O|R, =7 S| FAMH o|0|E HMEELICY.

o BMFE= VMMEA L= BAHZAIE AFESH0] BALL 22 THIE =AEfLCH

= T 1d

e Reduced adverbial clause®t A= 7|52 E0|M X}0[7} Qlen, 22t 2E0M =5

1

il

of
<]
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[14] to &A™ AITQ| collocation
Eddie: to BE™AIR7I &M AL E|= collocation?| Ol 20 7HE Z.

ChatGPT: LIS to 8HAIR7L &H AF2E|E collocation2| 207tX| Of| IL|Ct. O|= CHFSH SAt,

SEAL, HAIR Zel5t0] AteiAs| 2 EoE RS0 LT,

SAL + to AR

1. Decide to: ~5t7|2 ZXtCt
e Of|A]: “She decided to move to New York.”
2. Plan to: ~& #AEl0|C}
e O|Al: “They plan to travel to Europe next summer.”
3. Want to: ~5t11 AICt
e O|Al: “I want to learn how to play the guitar.”
4. Need to: ~& L7t QlCt
e Of|Al: “You need to finish your homework before dinner.”
5. Hope to: ~5t7|E 5|YstCt
e O[Al: “He hopes to get a job in a big company.”
6. Try to: ~5t34 11 L25iC}
e O|Al: “She tried to open the door.”
7. Expect to: ~& 222 J|CH5iCt
o OfAl: “They expect to arrive early.”
8. Offer to: ~otZICt1 H|QFSICE
e O|Al: “He offered to help with the cleaning.”
9. Refuse to: ~517|E HAs|Ct
e O|Al: “She refused to answer the question.”
10. Agree to: ~5t= Ol S2|otC}

e OAl: “They agreed to meet at noon.”

Al + to BHALR

11. Happy to: ~3liA] 7|8C}
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e OJlAl: “She was happy to see her old friend.”
12. Ready to: ~& Z&=H|7} E|C}

o OAl: “The students are ready to take the exam.”
13. Afraid to: ~317|E F2{{|stct

e OIAl: “He is afraid to speak in public.”
14. Eager to: ~5t7|E FYs|Ct

e O|Al: “She is eager to start her new job.”
15. Reluctant to: ~3t7|E 7H2|Ct

e OAl: “He was reluctant to leave.”
16. Surprised to: ~3iA =2ICt

e OfIAl: "I was surprised to hear the news.”
17. Anxious to: ~5t7|E 7t&s| Hf2iCt

e OlAl: “They are anxious to find a solution.”
18. Willing to: 7|7{0| ~5tCt

e Of|A]: “She is willing to help with the project.”

YA + to EHAR

19. Chance to: ~& 7|3]
e O|Al: “I had a chance to meet the author.”
20. Opportunity to: ~& 7|3]
e OIAl: “This job offers a great opportunity to develop new skills.”

0|213t collocationS2 AIHAAT 1 RESH PO HSS U= O =22 ELICH To

24 301 &
SAL AR Z8H510] CHFsH 2OHO|M AR E! 4= QI&LICE.

=H

2R -
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[15] SHAI2| collocation
Eddie: SHAIR7} &H AL E[= collocation?] 0f 20 7HE =)

ChatGPT: Ct22 SYA7H &M AH8E|= collocation2| 207HX| O LIC}. O]= CHkst SAL,

SAL TALS ZESH0] KRB HHS DISOfLLICH
SAH+ BTN

1. Enjoy + YAl ~5t= AE &7IC
e OfAl: “She enjoys reading books.”
2. Avoid + YA} ~5t= AE TSIt
e Of|A]: “He avoids eating junk food.”
3. Consider + AL ~5t= 2S 13{SICt
e Of|Al: “They are considering moving to a new city.”
4. Suggest + YA} ~5t= WS HeFSICE
e OfAl: “I suggest taking a break.”
5. Keep + YA} Al&s6iM ~siCt
o OfAl: “She keeps calling me.”
6. Finish + 38A}: ~5h= A= LT
e OJAl: “He finished writing the report.”
7. Imagine + YA}l ~5t= WS A5t
e Of|A]: “Can you imagine living in Paris?”
8. Miss + YAl ~5h= 2= 2|5t
e O|Al: “She misses playing with her friends.”
9. Practice + YAl ~5t= WS AESICE
e O|Al: “He practices speaking English every day.”
10. Quit + YAl ~dt= AS J0HEC;

e O|Al: “She quit smoking last year.”
HEAL + XA + SHAR

11. Good at + YA} ~5t= AS EolCt

280/353
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e Of|A]: “She is good at painting.”

0] ACt

12. Interested in + SYA}: ~ot= 20
e O|Al: “He is interested in learning languages.”
13. Tired of + YA} ~3}= 20 X|X|C}
o OAl: “She is tired of working late.”
14. Worried about + SHA}: ~35H= Zi0|| CHalf Z™SICH
e O|Al: “They are worried about passing the exam.”
15. Excited about + YA} ~5h= Zof| Chal E235tCt
e OAl: “She is excited about going to the concert.”
16. Capable of + ™A} ~&t 520| QCt

e O|Al: “He is capable of solving the problem.”

17. Afraid of + SHA}: ~5t= A2 F2{RUSICt

e Of|Al: “She is afraid of flying.”
18. Fond of + YA}l ~3l= ZS Z0I5ICtH

e O|Al: “He is fond of swimming.”

WAL + HRIA + ST

& 7k

19. Chance of + SHA}: ~&
o OAl: “There is a chance of meeting him at the event.”

20. Idea of + YA ~5t= 42}
o OfAl: “She likes the idea of traveling around the world.”
0[2{8t collocationS2 SHATR XAAAZ | Zelsto] Qo 282

= ol =28 Stk

ZHIH: -
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. Zt 28=0| Zeist= 7HEHQl OfO|C[OlLf AFAS S SiLe| ZHLZ Zeeiez=mM a5 2

e THE: "It was raining. We stayed indoors.”

e ZAgh "It was raining, so we stayed indoors.”

=
o 8Y: &£ ET= "so"= ZgsI0] H7F 2bM Lo HESFICh= 2lat 2| S Fets| giLCt.

FAL

. =2¥e| gy S

=
[ok
ol
ook

5. 289 20|t #=E ListA 510 22| SES XA 5t 7] A 2L

e CtZ: “She finished her homework. She went to bed.”
e sk "She finished her homework and went to bed.”
o M. &= FXZ "and"E ZgSI0] T AIA0| =XIHo = NS S NIAAZ A AZgiL|Tt

e THE: "He is a doctor. He works at the city hospital.”
| n

doctor who works at the city hospita

| eisa
o M. &= FEZ HACHHAL “who"E AIE5I0{ Zetetc =M MEE O 7HEsHA MEgiL|Ct,
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o SN Z 2= 2ol =2l HAHE o 2Es5HH 20ELIC
o OflA|
e Ch2: “| was tired. | took a nap.”
e Zgh "l took a nap because | was tired.”
o 8Y: "because”E AME3I0] |2t HES T A ALO|2f Qlut 2AIE BZFLICEH

5. HEo| A& 7X WY

o BX: YEO| S AE #ZE HUEHHO SAL S8t HE O &A mtetel = A== gLC.
o G|
e CFE: “She likes to read books. She often goes to the library.”
[ ]

: "She often goes to the library because she likes to read books.”

5t
=H
o HY: F 2% ZE5io] M ¢l= AS E05h= A0| M| X1 Th= 0| RIS LIEFRLICY.

o BX: 29| YIS RXI5IL 2T 2ol AfQiAB 2 SES BELICH

=1 =2—1 2 - o o - [
o OflAl
e EEE: “The sun was setting. The sky turned orange.”
e Z3 “As the sun was setting, the sky turned orange.”
o HY: "As"E MESI0] 3li7t X|i= St 5H=0| QEUX[Mo 2 HSHSS RIIAF A HZFLIC.

ol A2t gl 55 9
1. eloje| 1w} Hstst

o OfAl: “It was raining, so we stayed indoors.”
2. 2Zo| CjtFA

== =
HSE S

e OJA]: “She finished her homework and went to bed.”
3. HHo| ok} ZHAM

e OIAl: “He is a doctor who works at the city hospital.”
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4. =2y A B=

e OIAl: “I took a nap because | was tired.”
5. Mol AS 7 MY

e OAl: “She often goes to the library because she likes to read books.”
6. 22| LY ALY ||

e OfAl: “As the sun was setting, the sky turned orange.”

ol9t 22 0IRE, i 0|M0] RS HAME HsHH 2 7t0| 22 Yy 1, 20
TSNS SYAZ 4 UL,

2HA: Good!
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= AFLICE Zf BEM SRE 28 2ol =2IF 2AE Y&s| 511, Q0|2 H SF5HH MEst= o
St A= BlLICt. of2fol| ZF HEAF SR O 7|sS 2YsSLIT

1. SIS A (Coordinating Conjunctions)
7|s: SAT™EHAE F e S8 2 AT, 7, B)E AZRLICHL
o CHEXQI SBKAL: for, and, nor, but, or, yet, so (E0{A] FANBOYSZ 7| & QUS)
oflrlet 71s:
1. For: O|RE LIEHH
e OfAl: “He couldn't attend the meeting, for he was ill.”

o 4. "= OpLY| Wi=0f 22|of ErAdeh &= GiRICE”

. And: 7, LI

N

e O|Al: “She likes apples and oranges.”
o oM. “Il4= Afutet QEIX|E ZO0tstTt.”
3. Nor: 28X L&
e O|Al: “"He doesn’t smoke, nor does he drink.”
e ollM: 1= Gl I|X| 90 =& OtAX| =LCt."
4. But: CHE
e OJlAl: “She is rich but unhappy.”
e olid: “Il4= 2XIO[|X|2F STt ”
5. Or: MEH
e OflAl: “You can have tea or coffee.”
o ol|M: “XiL} HI|E EA £ USLICE”
6. Yet: 9, UiH
e OfAl: “He is tired, yet he works hard.”
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o S "I TRHRIS 6

Ot A M5 BTt
7. So: ZAu}

ol

1

o OJAl: “It was raining, so we stayed indoors.’

o SliAf: “H|7F kM R2|= ALHO| AUATE.”

7l5: SEESAE TR SHES HESI0, SHHEO| | S5E 2/0|E 7K =5 gLt

o CHEHQI ZLXHEZAL because, although, since, unless, if, when, while, after, before,

as, even though

Olrlel 71S:

1. Because: 0|%
e O|A]: “She went home because she was tired.”
o SHA: “Jlq= m|=siA Eofl ZACE”
2. Although: &, Ci=
o OAl: “Although it was raining, they went for a walk.”

o B{A: "H[7t 1 AAKX|T, IS2 LS AT

M

3. Since: O|R] = AlZHe| A|ZH
o OAl: “Since it is late, we should go home.”
o oM. "L, R2[= Tof| 7tof SHCE”

e O|A]: “I have lived here since 2010.”
o S{{A: “Li= 2010HFE 0{7[0f|A &1 QIC}H”

4. Unless: =4
o OAl: “You will fail unless you study harder.”
o 5. "I HA5| ESHK| F™ Hulet Zd0[Ct”

5. If: =A
e Of|A]: “If it rains, we will cancel the picnic.”

o 5. “H7t @H, Q2= AZS FAE AO|CE”

6. When: A|Zt
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e OfAl: “Call me when you arrive.”

o B AR Tl

7. While: A|ZF CH=

e Of|Al: “While | was reading, she was watching TV.”

o M. "LiZtMS 211 Q= S, dld= TVE B ULt

8. After: A7t

o OJAl: “We went out after we finished our work.”

o BA: "Rl US B S0 ASHCL”

9. Before: AlZt

o O|Al: “She left before | could say goodbye.”
o SHA: “LH7I 2 QIALE 57| TO| 1l = Rt

10. As: O, AlZt, By

11.

o CHEZQI MBI ZAL both ... and, either ... or, neither ... nor, not only ...

o O|Al: “As she was late, she missed the bus.”

o Y. "I47t KON, HAE =HCL”

Even though: &H, CHE

e Of|Al: “Even though he was tired, he finished the project.”

o M. "I u|EHX|Or T2HEE OfFCtH”

L AA '

dlrlel 71S:

1.

2.

Both ... and: = C}

e O|Al: “She is both intelligent and hardworking.”
o Sliaf: "Ol4= X[H0|1 JAStTt”

Either ... or: & & 5lL}

o OAl: “You can either stay here or come with us.”
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o 8H4: "= 07| Ot UAAHLE 2[t &H & =+ ACt.”
3. Neither ... nor: & C} Ot
e OAl: “He is neither rich nor famous.”
o 8iY: "= ERSIAE 40 FYSHA|E Q4CL”
4. Not only ... but also: ~#2t OlL|2} ~&=
e OAl: “She is not only a great singer but also a talented dancer.”
o SM. "= E Bt 7} 20t OFL| 2} Ms = CHA{0|7| = SICt.”
5. Whether ... or: ~QIX| OfL|H ~QIX]|
e OAl: “I don't know whether to stay or to leave.”

o Y. "Lt= H{E2{0F K| LfoF EX| =T} "

OOk
]
SAHYSAL S S 2 QAE ¢ZSI0, F7H ME, o=, Qlut 2HA| SS LIEFLICE

e O0|A]: and, but, or, so

O

SESA FEL SEES AES10], 0|R, =, AlZh, thE S9| 20| Fo{giLLt.

e O|lAl: because, although, since, if, when

HEPSAL Yo 2 AIE0 22| 45 st

e O|Al: both ... and, either ... or, neither ... nor

2HA: Good!
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ChatGPT: SRIESAE A0 2 282
HE HERLICL S92

-
=] na
ASLICE Ol2{et 2E2 SHE=

-_—
.

SelEsAel 5

SABSAL: for, and, nor, but, or, yet, so (E0{A FANBOYSZ 7|28t 4= QI3)

N

i)

. SAPSNE N8BS Tat 2T 04l W 24

OflAl 1: “She likes apples, and he likes oranges.”

o &AL and

o MO BF: £ o S (FH)

* "“She likes apples.”
e "“He likes oranges.”

o 7I5: Tt (F 7HK| A

rIJ|0
Of

SotA LIE)

=
o 3iY: "TIl4= AFE E0f5ta, O= QEIX|

rulru
i

Obf

ofgtct.”
OlA] 2: “He was tired, but he finished his work.”
o HEZAL but

o Mo R £l SUT FH)

e "He was tired.”

n

OlMl 3: “We can go to the movies, or we can stay home.
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HEAL or

o Mo| FE.- Z |9 =2IH (xx-l)

TH=2 \T 2

e “We can go to the movies.”

e “We can stay home.”

o J|s: ME (= ZEX| MEHX] H|A])

o SM: "ol HEHE B 2 4 U1, T T US £ ULk

OIAl 4: “He didn't study, so he failed the exam.”

HEALE so

o Mo|EZR: =l =2lA (%t_x-l)

i B W= = =

e “He didn't study.”

“"He failed the exam.”

e 7|5: 21t (SFE SHA| 7| 2ol Alofl 2ol ZtE 1)

o M. "OE=Z

FX| S29F7| TH20l| A|E10l ZojRICt

i
OII

=]
T

OllAl 5: “She was hungry, for she had not eaten all day.”

HEALE: for

° Jt-lol KE — 7Ho| =Aps| (%t_)é-l)

=H =

® “She was hungry.”

® “She had not eaten all day.”

e Jls

: 0|} (HILE O|RE £Y)

o SH4: "Tlq= BiZF DT, ALtsHH SHE Y HX| 47| WZ0|Ct”

SHE2l s
1. 2l A&
o 2} 0| S5t Q0[S 7HX|1 Qlon, SPIHEBAIE Sdll M2 HZE|H stte| S8t 282 ¢
otk
o O|Al: “She likes apples, and he likes oranges.” (F 02| SEEQI AMME ¢1E)
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2. FI¥E HZ-:
o SATSBAIE AtEol0] F7HAQl HHE HM|SstALE, LEe o~ QIELICE
3. MEHX] KAl
o Tl Of&te| MEHX|E M|AlS W AHEEILIC
e Of|Al: “We can go to the movies, or we can stay home.” (5 7HX| MEHX| H|A])

4. |1c'l" al 71'l|.

)l

3 Ro| CI2 Ho| 0|QL ZNS MY o ABELICE

[ ]
0

min
_O'h
>
52
r|o
_u
HU
>
0%
g
2
rul_o

OfAl: “He didn't study, so he failed the exam.” (S5

29)

e Of|A]: “She was hungry, for she had not eaten all day.” (H{IIZ O|RE M)

OOk

]

SUTHSAE AHE5I0] AetEl 282 F 7l o|4e| sEEE AZst0] St WEE MELICH Zt
STE2 SEHYC= 206t o|0| & 7K, SIESAE Sdll =282z AZEL|C ST SAE
52 7|s2 L34t ZsLtt

N o kW
o
=
X
m
==

ChatGPT: S5TSAME AIES10| ZEEl 282 FEEEHR) U SHE(REE)S gLt 35
)

=
HE2 FR| S&E0 2J0|E EFstAL &Esti, At = 2tdet 20| 7HKIX| YLt S58S
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SETYSAE T2 SEES AESI0] OlR, AlZt, =, tix 59| 2|0|E FOo{gfL L.

CEXMOl ZBLHLEAL because, although, since, unless, if, when, while, after, before, as, even

SAHAMNE N8BS Zat 23| oA L 24

H& AL because, since, as

Ol Al: “She went home because she was tired.”

H: "She went home.”

bal

1. “because she was tired.”

o A
n

.o|le=
: O|/E &Y

;"= T2aM Toi Zict.”

[
N

2z or Jp

[
ol
=

OfAl: “Since it was raining, we stayed indoors.”

o FH: "we stayed indoors.”

e Z&H: “Since it was raining.”

e 7l5: 0|RE &Y

o alj4]: "H[Zt 27| W20 RE|= ALHof AACE.”

2. MNZtE LIEfH =

OR

RN
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HEAME when, while, after, before, as

OfAl: “1 will call you when | arrive.”

o =M. "I will call you.”
o ZE&AM- “when | arrive.”
| -

o Il5: Azt MY

o A "LH7} =AISHH oA et

OllAl: “While she was cooking, the phone rang.”

e FH: “the phone rang.”
e Z&H: "While she was cooking.”

o 7|5 AN SAlEE 2

o
o 3i4: "T147t QE|5t= SO Tt

3. =S LiEfl= E5H

I

Af

H™EAL if, unless

OflAl: “If it rains, we will cancel the picnic.”

o FH: “we will cancel the picnic.”

o FLHF: "If it rains.”

e Jls: =S &Y

o 3fiY: "H[7I A R2[= £BFS FLE A

OllAl: “You will fail unless you study harder.’

1
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o 3iY: "I S5 SFSHK| oM Hulg Aot

4. ti=F LIEI = SHTEA

H&ZAL although, even though, while

OllAl: “Although it was cold, we went

1

: "we went for a walk.”

o M
>

d: “Although it was cold.”

[
N

2 oor 4 mX
) I

. ChEE MY

"SR5 Q2| A it

[
ol
=

for a walk.”

OllAl: “Even though he was tired, he finished the project.”

[
N

1. WA (Noun Clause)

7l5: 20| AL A= 5101 F0f, =

=01, HO0{Z ALZELICH

H&ZAL that, whether, if, 2l2AKwhat, who, where, why S)

GlIAl:

e F0{: "What he said was surprising

e FH: "was surprising.”

n
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°
OF
3

: "What he said.”
of oiat

"7} 25 20| SRR

[}
N

Jz glr Jpy
2l

°
][]
—

: "] don't know if she will come.”

: "l don't know.”

op - 2

2 oor 4 nX
o

: "if she will come.”

N

. 50| o

][]
—

:"Lh= a7F 2X] 22200

e HO: “The question is whether we can trust him.”

e FH: "The question is."

n"

=
T3
=
A

3

X oor Jp
|.|I o
2
19
Il

whether we can trust him.”

°
N

°
][]
—

D "EEE2 227 28 MEE 4 =X oR0|Ct.”

N
02
oo
>

2

= (Adjective Clause)

7l

or

 SHON TALS 241510 2715

ro
oA
HT
M
=
Okl
ok
r
n

H&ZAE who, whom, whose, which, that, when, where, why

OllAl:

® “The book that | borrowed was fascinating.”
o FH: "The book was fascinating.”
o BZ&LHF: "that | borrowed.”
e J|5: BAL "book”" S 4]
o BHA: "LiZt LI M2 D= X O|RACE.”
* “She is the person who helped me.”
o FH. “She is the person.”
e Z&H: "who helped me.’
o 7I5: YAl "person” g A

o M. "Ilq= LIS ToFE AMEO|CE”
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3. BEAA (Adverbial Clause)

7l5: YO EAL A= 5101, SAL AL,

CHE EA}

CC

— = A
o ‘E‘Jél- II_-lx-”E T

H&ALE because, although, if, when, while, since, as, after, before, until

ClIAl:

o AlZE: "1 will call you when | arrive.’

o FH: "l will call you.”

=
o E&AM- "when | arrive.”
| -
s

o 7|

o
D AZE 29

1

o A "LiZt ASHH Lol A HeketA.”

e O|§: “She was late because she missed the bus.”

o FHM- “She was late.”

e ZS&A. "because she missed the bus.”

. 75 01RE MY

o 3M: "Il4= HAS MM =X

I:l-. n

o ZZ: “If it rains, we will cancel the picnic.”

o M
2 oor 4 nX
=

-

pur

o

>

wn

°
N

°
][]
—

Z% (Independent Clause):

: "we will cancel the picnic.”
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Z4H (Dependent Clause):

tALE ZhEfetL| )

£ B35

== gle, FHof| S£E0f 20|

=
=
o HAIE (Noun Clause): 0,

F HEE MSefLct

N
__A_l

o HBME (Adjective Clause): HAIE 21510

o HAAE (Adverbial Clause): Al

1

= Lt

=<

Aloz T2siH ofziel 20| S4ELAl 2

1. &3 (Independent Clause)

GllAl:
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* “She enjoys reading.”

e "He went to the store.”

2. 343 (Dependent Clause)

E3.

o SLER ZRIMOZE MGt ER0| E £ Q= HYUL|TH
o FHO| ZXE|0] O 2[0|E ESSHALE SHERILICH

a. YAIE (Noun Clause)

7Is:

o ZHOIM AL AS BTt

o T0{, 2X0{, HO|Z AFREIL|LCE

1

H&ZAL that, whether, if, 2l2AKwhat, who, where, why S)

GlIAl:

e F0{: "What he said was surprising.”
o SA: 77} 2t 210| EaUCE”
e 2X0: “| don't know if she will come.”
o &4 "7} 2% B2}
e HO{: “The question is whether we can trust him.”

o 3M: "HE2 27t 28 MBI £ UA=X| 6{F0|Ct”

b. #8AE (Adjective Clause)
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Al5to] F7HAel HHE MSefLict.

o FZ HUACHEAHES ARANZ AZELICH

H&ZAE who, whom, whose, which, that, when, where, why

OllAl:

1

® “The book that | borrowed was fascinating.’
o SliAf: L7t L2 M2 Oj=H0|RACt.”
* “She is the person who helped me.”

o 3iM: "Ilq= LIS ToFFE AIEO|CE”

c. 2AA (Adverbial Clause)

7Is:
o EHOA BEAL HSZ ol0], SAL HEAL CHE BAFEE 22 HHE SAIEL CEH
(@]

o A|Zh OIR, =4, ¥E, =5 SS LIEtHLICY.

H&ZALE because, although, if, when, while, since, as, after, before, until
OllAl:

o AlZE: “1 will call you when | arrive.”
o S|M: “LiT} EAISHH L0l A MakeA.”

e 0|f: “She was late because she missed the bus.”
e Sl|M: “Il4= HAE =M =UCL”

o ZZ: “If it rains, we will cancel the

P
o M. "H[7t @EH R&|= 2FS FaE Ao|CL”
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o UK “Although he was tired, he kept working.”

o S4: "0 TZFK|DH AL AL

— AA — = A

ZatEl 23| olA2} 2

1. &8 + 35E (BME):
o 2% "l know that she is coming.”
o 2M: "I know” (FH) + “that she is coming” (BAFE)
o Jls: BAFEO| FHQ| X0 J<= gLcth
o 8H4: “Lt= 1147} 21 QUCh= AS AT
2. FE + 34E (d8MA):
e E&: “The movie that we watched last night was thrilling.”
e BM: “The movie was thrilling” (&) + “that we watched last night” (J&A}E)
o 7ls: YEAEO| "movie”"E F#AI510 7t YEE HFELICH
o 4. "2|7} oo 2 Ash= A% GO
3. FH + S4F (RAME):
e E&: “We went home after we finished the project.”
e EM: “We went home” (FE) + “after we finished the project” (FAHR)
o Jls: BAEO| AlZH =715 MF5I0 RS ESELCL
o 5. "R2|= ZEMEE B =0 Fof| 2t
29

Z% (Independent Clause):

i

2lMo2 otMEt o|0|2 JX|M tHEo 2 BX0| E 2 Ql&L|Ct

—

E43 (Dependent Clause):

_I_

x

°
i
el

Moo= et
AE (Noun Clause): 2E0|A WA}

o
o
o HBAH (Adjective Clause): BAIE

o[ & glen, FEo| S£E(0 2 2|0|E 2HdstrL ESELC.

o
Mo

°
o2
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FME (Adverbial Clause): AL FEA}, CHE 2AF = 28 HXE #4510 A2, 0|R, =

S LIErdL ot
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[4] 2AICHEAR] 715

Eddie: ZACHHAIR| 7|52 2, HAHAIE 85101 F 72| 2&2 Z&ist= 2o 2tsiA o
E SO0{M dYslR.

ChatGPT: #ACHBEAL= & 712 2 Zglot0] ofLte| E&CE TIEE O AIL(M, =2 HAIE
£ AISH0] F71M0l HEE HN|Z2EHL|C 2AICHYEAH= =2 who, whom, whose, which, thatO] §!

o, 0|52 MAAKrAEl= ANt SE5ES AZELICL

|IOII

EAILBAL] 715
1. GAL 4] ZAHHARS AL TIBALE 41510 O XiMIet HEE RMSE 5= ASLIC
AA: Tl 2&S Zef5t0] Stitel

3 232 Yyt

= %I:I (=]
3. MdAete] B 2ACHEALE MAAR SEE LHO|M2| AE(F0f, S50, 2fA)E A

—

AL 2510 £ Jlo] 2EH2 A= 4t

13

1. Who/Whom

Whoi= AHZIO0| A1RUAR M 20| AL S Sh= ZACHEAFLICE.
O

Whom2 AHE0| MMt mff M0 HeS sh= 2ACIBARILIC

GlIAl:

= ox}.
o = 22

e “The man is my teacher.”
. IIH

o ZA5HE|

e is standing over there.”
=2

e “The man who is standing over there is my teacher.”
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e “The man”0| MALO|T, “who"& “He" S CiAl5}0] 0f &t BiLIC

no AA|

e "who is standing over there”= “The man"& $AI510 7t YEHE M3

2. Which

Which= AFE0|LE SS0| MRAlATY ff ALZE LTt

ClIAl:

— DOX}.
o = 2Eh

* "] bought a book.”

e "ltis very interesting.”

* "| bought a book which is very interesting.”

[ =] .
C}

e "a book”0| MEALO|TL, “which”= “It"S ChAI5H0] 0 &S BH|C}
e “which is very interesting”& "“a book"& 45101 £7} HEE X3!

3. That

That2 AIEH, ALE, S2 250 AFEE £ U= ZABAIILITE

GlIAl:

Xt

[ ] S .

HO

=
* “She lost the ring.”
e "It was a gift from her mother.”
o ZgtE 2

* “She lost the ring that was a gift from her mother.”
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M.
—-.

HI

° “the r|n9"0| A-loHAl_ol llthatu% Il MO EHAIQl_O:I O_I o_:‘lge}.

e “that was a gift from her mother”= “the ring” 2 4510 7}

4. Whose
Whoset= 2R3 LIEtLHE ZHAICHEAIRIL|CE
Gl Al

s FEY:
e “Imetagirl.”

e "Her brother is a famous actor.”

e "agirl"0| MEAIO|T, “whose” = “Her" & CHAI5}0

]
e "whose brother is a famous actor”= "a girl"& 45104 F7
2t oAt 24

OlIAl 1:

— DOX}.
o = 2Eh

® “The woman is my aunt.”

1

* “She is wearing a red dress.’

® “The woman who is wearing a red dress is my aunt.”
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M.
—-.

HI

°
3
o
D
s
O
3
Q
3\
S

rx

oot
=
o

}_
§
>
Oh

I_
»
o

1
-
>

[e][]
=]
4
2
12

g'l_l
mjo

9;'—'
r
i)

OllA] 2:

Xt

[ ] S .

HO

=
e "l found the keys.”
* “They were under the sofa.”

o ZdSix

= .
=Hd |_| T'__IOI..

e "| found the keys which were under the sofa.”

[ =] .
C}

o “the keys" 7} M&lAO| 1, “which”& “They”

lll_ "

e "“which were under the sofa”= “the keys”

OllA] 3:

= OX}.
o = 2Eh

e "He is the artist.”

* "His paintings are famous worldwide.”

[ =] .
C}

e “the artist”7} M&3ALO|11, “whose” = “His"& CHAI5H0] 292 odsts S|t

* "whose paintings are famous worldwide" £ “the artist"& 45101 7t YEE HZFLICH

OOk
]
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Who: AFZO| MAATS i, =0{ AL
e OAl: “The man who is standing over there is my teacher.”

Whom: AIZH0| MSIAIY mfj, 2X0q it

e OJAl: “The man whom | met is a doctor.”

Which: AF20|L} S20| MEIALY [ Z0f L= 2X{0f 45t

e O|Al: “I bought a book which is very interesting.”

[ ]
-

o OfAl: “She lost the ring that was a gift from her mother.”

Whose: 28 ZE LIEIL{H, M3l ALES M,

o OAl: “I met a girl whose brother is a famous actor.”

=
N
o
og
z_
mjn

>
o
ex
rg
4n
Al
1o
Ho
0
mjo
m
o
ol
[=)
o
I
|10
Jir
g'y
HO
)l
mjo
El_
ruln
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[5] 27 XtA] 9l Eg) up

HAHBAE AESI0] ZEE 28E =I5t

£ AYLICE of2fioff 2 7kX| olA|E S3ll o 2-E S E¥sISLITE

n

22l 2&: "The man who is standing over there is my uncle.

1. "The man is my uncle.”

2. "He is standing over there.”
.

1. “The man who is standing over there”0lA| “who”= “The man” & MY5t= A CHHAL

LICt.
2. "who is standing over there” 222 SEE 22 HatgL|Ct

3. £ "The man”2 "He" 2 B145l0] &tXst 2X O 2 BHEL|CT
GllA] 2

2l 2% I bought a book which is very interesting.”

-

o ZE|E 2F:

1. "l bought a book.”

2. "ltis very interesting.”
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1. "a book which is very interesting”0llA “which”& “a book”& MYHst= ZACHHALLICE

2. "which is very interesting” 228 SHE 2= HetplL|Ct

=
3. F0] "a book”S "It"2 HZF5I0] 2tTst EHo = BELICH
GlAl 3
el & “She lost the ring that was a gift from her mother.”

3

Hr
r

|E

==

Ao

1. “She lost the ring.”

2. "It was a gift from her mother.”

a4y

1. "the ring that was a gift from her mother”0llX “that”2 “the ring” & dWdt= ZtAICHHAL

L.

2. "that was a gift from her mother

k=2
=
3. F0 "thering"E "It"2 #HF510{ &Mst o= phsLCH

GlA] 4

el 2&: “He is the artist whose paintings are famous worldwide.”

g

Hr
r

|E

==

Ao

1. "He is the artist.”

2. "His paintings are famous worldwide.”

a4y

ns

1. "the artist whose paintings are famous worldwide"0A “whose”& “the artist”"&

M ASZ oI5tS BH|C}.

2. "whose paintings are famous worldwide” 222 SEE 222 WAL}
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3. 284 "whose”E "His" & Hdsl0{ t&st 2xo = BhSL|CH

OlAl 5

el 2% “The woman whom | met yesterday is a doctor.”

1. "The woman is a doctor.”

2. "I met her yesterday.”
.
1. "the woman whom | met yesterday”0llA “whom”2 “the woman"& &5tz ZAHCHHA}

2, S0 ALS gLt

n

N

“whom | met yesterday

=1
3. SH0 "whom"& "her" 2 H5}0{ 2Mst Z& o= PhsL|CH

i

HARSE Zofste 28 F 72l Jlel 2822 SRlshs Y2 o3 #sUth

—_—
e
=
"
e e}
og
-I.I.
P
_I_
muin

A~ W DN

o
N
ru_ﬁ
o
i
o
rn
A
0t
|0
Hu

T
fol

(_J'E
-
n
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[6] EAICHE A2 2 mef A

Eddie: XY N2 E517 £H| == 2ACHYALS] SHIE AS HTSh= YHE oS S0

HEHF.

i
N
mjo
rel

M

k= W2 EY0IM ZACHEAZL +385t= AE(F0, 5

ChatGPT: 7AcHHALS| 21}

Hoj, 27A)0 w2t 2EELCH 23N odS HEE o, SACHEA dARE OEA AZEEX,
J2|0 SEEM o AL S 5h=XIE Ol3lists 20| SQLELICE. S22 A HAR| AS EHESt
= A oA LICE

EAICHYAret O gt

. Who: 4, AZH0| MHAIE [l ALE

. Whom: X2}, AIZ0] Ml I AL

i i B |

. Which: &4/, AS0[Lt SSO0| MAALE ] ALE

1

2

3. Whose: 274, AEH EE= AHS0| MAALY If AL
4

5. That: F4/F84, AiEH, A=, 32 250 AH8 7ts

sH12 3

24 mhCh HR

L-oHd

re

ZF0] ofgtelx] ghel (F=A):
o ZACHHAZL ZLEHM =0 ASE 5HH who E= whichE AHEEILICH
e O|Al: “The man who is speaking is my father.”
e “The man”0| M#AO| 12, “who"= BLE “who is speaking”0llAf 0] A& S &L
Ct.
2. 2xo| ejgrelx| gol (25).

o ZACHYAIZ SEHHEOM SHO Ha S 51H whom = whichE AFEEHLICE.

e OAl: “The woman whom | met yesterday is a doctor.”

e "The woman"O| M&AL0|11, "“"whom” 2 ZLH “whom | met yesterday” 0flA S0
odets Lot
o X0 AL CHAl whomE AMSEILICEH

=
e |
e J1HHOME BEZ "whom” CHAl “who"E AIR35H= ARE /JUSLICH
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o ZACHPAL SHRUM £2R4 AL S 51 whoseS AHEEILICE
e OIAl: “The artist whose paintings are famous lives in Paris.”

e “The artist”0] M&AIO|11, “whose” &= ZLE “whose paintings are famous”0l|A] 2

OlAlet 24

oflAl 1: =4
e 2% "The teacher who teaches math is very kind.”
e B4:

o MBHA}L: “The teacher”
o ZAICHHAL “who"
o Z&H: “who teaches math” (0] &g

o M. “Who"= ZHHEO0|A “teaches math” 2| 0 HA&tS §h|Ct,

GlA] 2: BxA

& “The student whom | helped was grateful.”

MH

M.
=.

2
2
o MAL “The student”

o ZHACHHAL: “whom”

o Z&F: "whom | helped” (5X0f o4&t
o HY: "whom”"2 ZLE0|M "I helped”2| FX0] A= TLICH

o FO{H|: “The student who | helped was grateful.” (RO{M0IM = "who"E AIEE = Q!

=)

GllA] 3: ARA

Z2%" “"The scientist whose discovery changed the world was awarded a prize.”
=4

o M3ElA}L: “The scientist”
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o ZACHHAL “whose”
o E=AK. u

S4H: "whose discovery changed the world” (&2724 9g)

=
o MAH: "whose"E ZHEUM “discovery” 2| 2R LIEHHALICE

GllAl 4: AFSO|| CH3t =2

2 "The book which is on the table is mine.”

=
[
=
[

MH

S
=.

o M3UAL “The book”
o HACHHEAL “which”
o Z&H: "which is on the table” (0] &)

o M. “which”"= Z&EO0|A “is on the table”2| 0 H&tE &t

OflA] 5: AF=20j| Cist 2%{Z

FO

2.

& “The pen which | lost was a gift.”

MH

M.
—-.

o MEAL “The pen”
o ZHACHHAL: “which”
o Z&H: “which | lost” (2X0] 235

o HdW: "which"= ZLE0M “I lost”2| 20| drS iL|Ct

HI Mo

(o)
-

4.

e At who

* AME/E=: which

e OlAl: “The girl who sings is my sister.”
=S5Y:

o A2 whom (B FO{A|0|A who)

* AME/E=: which

o OAl: “The book which | read was interesting.”
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3. &84

o AEHAIE/SE: whose

e OJAl: “The man whose car was stolen called the police.”

SACHEALS| SHIE AS Wists PH2 27

ZACHEALZE 2Z01M

01, 250f, 297
2 SHoXIS Tlefshe ZQULICE 0|2 S5 2WHoR SHHE ZRS TS 4 sl

=HA: -
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[7] ZAICHEAtet Zgkst HX[AL Thef &
Eddie: ZAIthYAlet ZElsH Rl ML SHIE XIS BESHE WS oot & Mashs.

ChatGPT: ZtACHEALRt ZEtsl A= TXIAZE SHIEX|S BTG W2 WA SSZ oM
LICE FX|ALS] @IX|2F EHACHE At 2

Tq
>
]

K
HO
Jii
0
Hu
o
o
U
=
>
Fl_r
Rl
fo
ro
_O'L
rr
N
0

B WIS S5 Z28 A9LIC C1S2 OIS BErshs Wit oAlLIT

1. 23 ojn| geol.
o AT} ZSHOIN SHIE 20|18 HLFH=X| Felsiich
o FEIATF AL BIACHZA AOIOA ZIE || 2AIS LIEFHER] HEBILIC
2. HxIAe| 9Ix] gl
o FXIATE ZACHYAL 20l S 4 O, Ol HA| QU SFOM X ALBELICY,
o HEIATF BLTHL| SA S0 8 4
3. ZSHE EACHLAF B,
A7 EACh@ AL} B AFRE T, “whomOlLt “which”7} HZBIX| Elelgt|ct

TFO{H|oM = "who" & AEE &= UK, EEHEC == "whom”0| B HEFL|C

1

[}
ol
>

OflAlet 24
1. HRIAZL BACHBAL 2Hofl 1= B2 (AAEel =38)
OlAl 1: “The person to whom | spoke was very helpful.”

M.

° M-

HI

o M&AL “The person”

° leilkl_' “tO”

o ZALCHHAL: “whom”
e Z4H: "to whom | spoke”
o HY: TXIAL "to” 7} ZEAIHHAL "whom” 0| 2|X|510{, “to whom | spoke”0i|A “to" =

spoke to the person”0f|lA 2 TXIAIJYS LIEFHL|CY.
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o ZHHE EHCE: | spoke to the person”0| SHE 2&0|22, “to whom | spoke” = SHIE

OlA] 2: “The book in which she wrote her notes is on the desk.”

M.
—-.

o MIMAL “The book”
° Idil*l_. llinll

o ZtAHCHHEAL: “which”

KAI-l I8
o

HI

in which she wrote her notes”

o M. MX|A} “in" O] ZAHICHHEAL “which” 0| |X|5+04, “in which she wrote her notes”Of|
M "in”"2 “She wrote her notes in the book”0IA 2 MX|AIUS LIEFHL|CE

o ZHIE Tl “She wrote her notes in the book” 0| SHIE EX0|2Z, “in which she

wrote her notes” = SHIE F&HQIL|CE

2. ®Mx|AF7}

OF

&30 EA H{0 = A (2 HAIHQl B

A b

Ol Al 3: “The person who | spoke to was very helpful.”

M.
=.

HI

o M3AL: “The person”

o MX[|AE “to

o ZHAICHHAL: “who"

ZLE: "who | spoke to”

o MUY MX|AL "to" 7t BHHE| Al “spoke” FlOll 2IX[5t04, “who | spoke to"0lA “to" =
"] spoke to the person”OilA & TXIAAS LIEFLICE

o ZHIE EEh: | spoke to the person”0| 2HIE E&0|2E, "who | spoke to” = SHIE &

#elLict

OlA] 4: "The book which she wrote her notes in is on the desk.”

M.
—-.

HI
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o MMA}L: “The book”

o HX[|AE: “in”

o ZACHHAL “which”

e Z&H: “"which she wrote her notes in”

o MWH: MX[A} “in"0| BLHEL| SAt “wrote” FOf| ?|XI5101, “which she wrote her notes
in”"OflA “in”2 “She wrote her notes in the book”0A & HX|AIJLS LIEFALICE,

e ZH}E THCH “She wrote her notes in the book”0| SHIE 20|22, “which she wrote

her notes in” T SHIE EQIL|CT,
3. ZAICHBAL 4 Al
OlAl 5: “The person | spoke to was very helpful.”

M.
=.

HI

o MI;AL “The person”

° Idil*l_. lltoll

o Z&%: "l spoke to”

o HY: IAHHAL "whom” 0| “H=FEl HEHO|D], FX|AF “to” 7t SHEL| SAL “spoke” Fofl 2
x|t

o ZHHE EHCE: | spoke to the person”0| 2HIE EEO|EE, “| spoke to" = SHIE EHY
L|Ct

OlA] 6: "The book she wrote her notes in is on the desk.”

M.
—-.

HI

o MBHAL: “The book”

o HX[|AE: “in”

o Z&H: “she wrote her notes in”

o M ZACHHAL “which”O| ‘Y=HEl FENO|H, XAl “in"0| ZHEL| SAL “wrote” Fol| 2
X|gct.

o 2HIE =TIl “She wrote her notes in the book”0| @HIE EE0|2 &, “she wrote her

notes in” = SHIE EaQlL|C},
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OOk
]

1. 23t oo gel: MX|AVF SEE|M AAAF T SHEE o|0| S MESH=X| 2elgtL|ct.
2. Hx|Ae] fIx] ghel: HX|ALZE ZACHEAL 2O|LE SEHE| SAL 7O 2 4= A0, AAof w2} ot

o
3. ZEHE TAICAHAL EHol: MR|ALR} ZHBHEl BACHEAN " whom”, “which")7} 2¥Xo= SHEX]
stolstL|ct

Ofz{et S Soll TXIAIRL ZAHBAZL SHIEA MEE|RA=A] HEHE 4 ASLIC.

=HMA. 2
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[8] EHHAR} 25 &= A

Eddie: H&AR E58 4~ Q= transitional adverb2 X & QI 0|2 SO0{A| M5},

l0|I

ChatGPT: H&ARt 258+

Z25t71L, 28 oM =
S MolZ2

rlr

transitional adverb (H&t EAhs= F 72| SEIAQ 282 A

7] {5 ABEl= FAIYLICEH FEARE EE|, Fet BA

E
A
o]
N
i
=
\_gl_
o
[e][]

I_ (=)
= &5 =( =
E1 2™ HAS AXst= O 228 FLC

1

CHE2 HEARE 25 = A= F 71| Fgh 2AS] AHA Q! ok dH QLT
8H: Oz = giiof 9|0 LHEFLICY.

o MEALALE: “l wanted to go for a walk, but it was raining.”

H
o M3 HAFALZ: “| wanted to go for a walk; however, it was raining.”
AY: "However"= F 72| S&IXQI 222 ¢1Zol0] BtCHe| o|0|E ZXEILICH HEAL “"but”2f 2
2 7|ls= gL ct

2. Therefore

8H: 21t LIEtHLICY.

o ™LA AE: “It was raining, so we stayed indoors.”

H
o B EALALR: “It was raining; therefore, we stayed indoors.”
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ME: "Therefore” = & 712l SYH 2T2 AZsl0] 2N BRBILICL oA “so"2 22 75

OllAl
o HZALARZ: “She is talented and hardworking.”
o T3t HAL AMZ: “She is talented; moreover, she is hardworking.”

MH: “"Moreover"= F 72| SEAQI EHS HZsI0 FIIXQ HEE NS ELICt MEA “and”
7

4. Consequently

8Y: Z1HE LIEtHLICY.

Of|Al
o HZALARE: “He didn't study, so he failed the exam.”
o TSt EAFALE: “He didn't study; consequently, he failed the exam.”

AY: “Consequently”= 5 72| SEZXQ 222 ¢1Z510] ZutE ZXLICH HEAL “so"2F €2

7|52 L.

5. Nevertheless

8% gitlel o|ofS LIEID, "2&{Lt” = "0 E+15t31"2| 2|0|E MERiL(Ct.
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4

g4 27150l YwE HBELIC
OllAl

®

. Fel

M. "Furthermore”"= =712l =

P2 7IsS Lo

o

7. In addition

8. FUIX0I MEE NIZeLCt
oflA|

o &AL

o M3 E

M- “|n addition"2 F e =
o &2 7|52 &LICt

oot

a5

2Ix0|

—

=
(L

Y

fjo

(e

—

24
=

Ar&: “She sings and plays the piano.”

510

320/353

AH&: "It was cold, but they went swimming.”

i

HiL|

—

7t

H&ALAFE: “He is a good teacher and a great mentor.”

yS|

=

oIy

At AFZ: “She sings; in addition, she plays the piano.”

Hel on|E 2=

Ab AFE: "It was cold; nevertheless, they went swimming.”

SH|C} Ma

BEALARE: “He is a good teacher; furthermore, he is a great mentor.”

HE MSech &

Al_ 7 but"

5—‘?*" uandn

FLICEH ™AL "and”



(;0ILt OFEE ()2 Lh=1 LEM AFZELICE

=
==

FHel SRE E8E M|

e,

HALE HEARe

o
pal

=5

O =22 SLICH Z5Ae

L
—

5|

= o1ze o Bt

1, =

=)
1od

ol

HA: 2

=
L
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[9] Modal verbs?| &%

o
i

f

1]
un

Of A

nx

Eddie: modal verbsZ ALE El= SAIR| SR ALE WHE 2A|H Q! o 1

ChatGPT: ZSAKmodal verb)= FE2| 2SAt0| F7MH¢2l O|(7Hsd, 3, 512, AR, £5 5)
£ FO0I5t= SAIYULILE ZSA=E & 2SR o7 AIEIH, =2SAe| HEl= Bz fX[EL

Ch. ZEAHS AIR| 312 SHA| Qoni, 3015 CHAS0ME HakA| QALICt

1

1. Can
o 8Y: 53, 7I54, 5|22 LIEHH
o OllAl:
o S “She can swim very well.” (A= Y& HsiCt)
o 7FsM: “It can rain later.” (LIES0]| H|7t 2 2= /Lt
e 32k “Can | go to the party?” (ZE|0f| 7}= E[LIR?)
2. Could
o 8H: 1o 58, 7tsd, &8 2F
o OllAl:

e 72| S&: “When | was young, | could run fast.” ({FE W, Li= E2| 22 £ A

Ct.)
o 7FsAM: "It could rain later.” (LISO|| H|7} 2 £ QICt)
o 328t 28: “Could you please pass the salt?” (A22 ZHFAIZI{27)

3. May
o 2. 7t5Y, 52t
o Of|Al:
e 7k "It may rain tomorrow.” (L HI7t 2X|= Z2C})

e 32k “May | leave now?” (X2 7I= E[LtR7?)

4. Might
° .Q.H-I |_I-C> 7|.'—)k-|
o Of|Al:
e 7bs4: "It might rain tomorrow.” (LI HI7t 2X|= 2 2C})
5. Must
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H. 7}

2tstk o A

. oF, 4

o OflA:

OID
rek
rok
o
]

e 2|2: “You must wear a seatbelt.” (L&
o U8t £E: "He must be at home.” (3£ 20| £E2I810] QIS ZO|C})
6. Shall
o B Kot o|F, O[2 (53] G= FOol|M 121E =02 &H|)
o Of|Al:
o H|2t: “Shall we dance?” (R2| E&7t27?)
e 9|2: “You shall obey the rules.” (L& 2|2 W2t0F §iCt)
e OJ2f: “| shall return.” (L= =O0t2 ZO0|C}.)
7. Should
o BY: 31, o, &t 7tsd
o Of|Al:
e =11: "You should see a doctor.” (L= 2|AE HOf &)
e 9|2: “Students should submit their assignments on time.” (EM4=2 H|uh 2HH|E
M| ZsHoF BtCt.)
o U8t 7154 “She should be here by now.” (A= XI2Z 0170 RU0{0F &H.)
8. Will
o 84 0l2f, o|X|, 2%
o Of|Al:
e O|2f: “I will go to the store tomorrow.” (L= LI ZHA|0| Z Zd0|Ct)
o 9IX|: “| will help you.” (LH7t HE =27

)
o & “| will call you later.” (L7} LSOl MatetA|.)

9. Would
o M. 0| G2t &5, 7YY
o OfAl:

o 712 &2 "When | was a child, | would play outside all day.” (LH7} O{Z1S o, Lt
St Y S0l =2 3HCt)

28t 23: “"Would you mind closing the window?” (22 EOIFA|ZI0{R27)

x

o 7FEYM: “If | were you, | would go.” (LH7} LH2HH, L= & 7{0F)

0
=
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i

| 882 #HE2=Z 0

o

F

Ofl A CF

HA: 2

=
L
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X. wapxe| oot
PEEEEIPIERES

}

=P
=

fjo

23l

rir
i

ol

Eddie: HO{o|M HEREE AME

ChatGPT: JOo{0lM HEIX(parallel structure EE= parallelism)E At&ste SH2 289 gt
Z

M, 7t5d, J2|0 2SS SAAIZ|7] QM ULICt HE AT E S 2 HERE ALE5H0] & 7Y
O|Mo| B& QA (0], 3, ™ 5)E AZst= BHAIQILICE OS2 WERAXE AtEote XA SX{ ot
7 Of| AL,

1. 22N g%

SN 2H0M LR QAE0| SYUSH 2 FEIE JHX|TE 510 YE S FX[EHLICE.

Gl Al:

o E2X|: “She likes reading, to jog, and playing tennis.”
ol

2X|: “She likes reading, jogging, and playing tennis.”

nx
2
I
2
rn

QAS0| 25 SYA B2 LRSI 2HE0 2&2| d2dS FAIFLICE

S 2¢0| o "Helsta oalist7| A SHELICEH =X 222 oS I AAARA SES WetE
ol
PN

e EX|: "The manager asked us to submit our reports quickly, accurately, and in a
detailed manner.”

e 2X|: "The manager asked us to submit our reports quickly, accurately, and thoroughly.”
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k4
o2
C
2
i
!
=
i
o
H
4n
Of
ne
g'l_l

ot HENE ZHX|7| 5to] 2&0| o ZHA5tn 947 &/A| 2hELC.

. 20| 2l5&dS F0 &7| 1 29 Tl “AUS FLIHL 0l 53| AA0[Lt Zst 2HE0M S
QLT
Ofl Al

e EYX|: “In the classroom, on the playground, or during lunchtime, the children were
always energetic.”
e 2X|: “In the classroom, on the playground, and during lunchtime, the children were

always energetic.”

Y: YA "or” TiY "and” E AHE3I0] LIZE Q45 A0|9| 21t 2|S& S et AL

25 Qe 2452 SUs B¢ TX2 US0| E23 MS 276k, SAPL SH HEE O &
7|ASI=E SELIC
Ofl Al
e EYX|: "We must work quickly, efficiently, and with determination.”
ol

2X|: “We must work quickly, efficiently, and determinedly.”

Y. LI 450| S

—

SA YEIZ LR|SH TS Zx 20E /LT

o

5. H|ae} ciz=2of Wiy

SN H|WotHL CiRote QASES SYUSH FXE TS0 F 24 7ke| 2HIE Wets| giLlCt
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e EYX|: “She prefers reading books to watch movies.”

=
e 2UX|: “She prefers reading books to watching movies.”

Y H|usl= F Q48 2F SYALHEHZ BHS0{ H|ue

-
fo
2%

fio

Hi
o

=

ul

e =YX|: "The job requires patience, attention to detail, and being able to work under
pressure.”
e X|: "The job requires patience, attention to detail, and the ability to work under
pressure.”
2. o] HEAx:
e =YX|: "The committee was responsible for reviewing the proposals, approving the
budgets, and the implementation of policies.”
e X|: "The committee was responsible for reviewing the proposals, approving the
budgets, and implementing policies.”
3. B HEAx:
e =YX|: “The teacher said that the students should study hard, that they should get
enough sleep, and to eat healthy.”
e UX|: “The teacher said that the students should study hard, that they should get

enough sleep, and that they should eat healthy.”

OOk

4=

HHRXES AZets BXE CISW 2L

1. YRR SUB Y YIS AIBI0 2 2459 YBYES KAIFLICH
2. 7154 84 20| o FasHD 0la517| 2 BHELIC

3. 2IS3 28 20l 2/52e Foi o 1 28 Fal L sk
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O &7 7|t & s&LIC

=
=

51 =Xt 58 A

F7ALt T

5]

M- H|

i3

5. H|me} Cf=2

st EuE o HUE|H, ol oloA o 2 NS B

328/353



[2] W E sh

11

Eddie: J2H0IM 5185t= HATZ 2 LS I SOA 2T,

ChatGPT: S20ilM 5123t= HE X 2y YH2 018 Q4S0| St A HEIE 2
gLt o

U LIEE 2= Tojt S8t JEIE 7HMOF LT

o =SYX|: “She likes swimming, to run, and biking.”
o

2X|: “She likes swimming, running, and biking.”

YH: LIFE BE 77t S28t JEHE 7HM0F LTt

GllAl:

n

e EYX|: “The teacher told us to study hard, to be on time, and paying attention.

| — Ke)
YX|: “The teacher told us to study hard, to be on time, and to pay attention.’

Y LIGE 2= 2471 "to” BEAN HEll= LX[ELCt

Y LIFE 2= Ho| SZet JEHE 7HMOF LTt
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o EX|: “She said that she would call me, she wanted to meet, and to have lunch.”
o 2X|: “She said that she would call me, that she wanted to meet, and that she would
have lunch.”

Mo LIS O E Q AT} “that” M YEZ AUX|FHLICY,

4. SNt AH|e] WHAX

B LIEl D E SAUL SYst AX|2t YEHE 71K OF BHLICE
Of| Al:

o SAX|: "He likes to swim and running.”

=
YX|: “He likes to swim and to run.” EE= “He likes swimming and running.”

M
=

o2

LIGE 2E Q471 "to” BEAN e IE= STAF FEIZ LX[EL|CH.
5. Mx|Me] WER=
U LIEE 2= HXA7L S2s FENE 7EMof fLC.

GlIAl:

o EYX|: “She is interested in reading books, to watch movies, and hiking.”
o

e YX|: “She is interested in reading books, watching movies, and hiking.”
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U Hlwst o LIZE 2= Q47 S JEIE 7HMOF BiLICt

o SAX|: “She is more interested in reading than to watch TV.”
YX|: “She is more interested in reading than in watching TV.”

M
=

o2

: HIR3h=E & Q47 BE ST ez LX|FLIC.

rr

7. AZOIT M M| HYRE

HitH. G1Z0{(and, or, but, nor )& HZEl QLAE0| ST HEHE 7t OF &HL|Ct.

e E2X|: "You can either call me or send an email.”
o

|: “You can either call me or send me an email.”

L]
ne
>

GlIAl:

e SYX|: “Her duties include answering phones, filing documents, and she has to greet

clients.”

YX|: “Her duties include answering phones, filing documents, and greeting clients.”
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HIA: Not bad. But it's just a description, not a focused explanation!
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HE L0 A

Eddie:

o
KO
akl

ol

HHE R0 M

.
.

ChatGPT:

41

110

LIc}. ofzfi ¢

3

O{OF &
oF

ol
PN

PN
oil cH

5t
=

:I'I'

SLPA

i

41

1t Of| A L[t

A
=

Moi
=0

ofl Al 2}

"

glaj 2% “She likes to swim, and she likes to run.

She likes to swim and run.”

u

: “She likes to” 20| B=E[22, & x| oM 0|

AMod
=0.
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o WM QL “She likes to”"7t & HIM SAL “run” 0l HEE S mhefetL|Ct

o XFM: “She likes to swim, and she likes to run.’

2. 0| 4=f
2l 2% “John went to the store, and John bought some milk.”

0=

2HEl 28 “John went to the store and bought some milk.”

2Y: "John"0| BIRE|2=, & Huf HojM 0|2 a5t 28

fjo

ZHE5HA 2hELct

o =M gtol: “John"0| & HIR SAt "bought”2| FOHYS Tt EL|CE

e Md: “John went to the store, and John bought some milk.”

3. HR|AL Wzt
22l 23 “She is good at math, and she is good at science.”

MekEl 23 “She is good at math and science.”

M9 “is good at” HE0| BH2E|D2, & HI HojlA “is good at” S Mst] 2
Suict

==

AW2tEl LS Dot wy.

o 29 8H0l: “is good at”0| F HM HA}L “science” 0| MEES wetgtL|Ct,

n

o Xj4: “She is good at math, and she is good at science.

A

>
7|
o

——

2

o

2l 2% “You can go to the park, or you can stay home.”

>

#2EEl 28 “You can go to the park or stay home.”

0

334/353

fjo



M. “You can” BE20| Bt=2x|O 2 = HI| oM 0| MEFSt0| 252

o 2 2Ol “You can”O| = WM SAL “stay”Oll= MEES mefeiL|Ct.

o M74: “You can go to the park, or you can stay home.”

AH: | want to visit” £=20| BIESE[B 2 = HREY| Ho|M 0|2 H2Fsto| 2

1

o 2O &tol: | want to visit”0| &= #HM SH0{ “Rome” 0= MEEIS T}Q

o XM: ”| want to visit Paris, and | want to visit Rome.”

2. F0i2} SAfe| e

el 2% “She loves to dance, and she loves to sing.”

M2FEl 28 “She loves to dance and sing.”

M. “She loves to” RE0| HHEE|O 2 & HK| Hoj|M 0|2 A2ksl0] 2

1

i
o=

o FW SI9l: “She loves to"7} &= B1M| SAt “sing” 0| MEE S ThlgiL|Ct,
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n

F5t0] 282 2HE5H

e

"

n”

‘They are interested in history and geography.

=28

el 2&: “They are interested in history, and they are interested in geography.

MU “They are interested in” 220| BIEE[E 2, T 8| HOj|A 0|2

e X14: “She loves to dance, and she loves to sing.
DHSLICE

3. SAle} Mz|ALe] MEk

Mzs

T )
5 R
ol N
CUE fu)
ot B
Q. %0
m O it
oo —
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o c d1d
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HIA: Not bad. But it's just a description, not a focused explanation!
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m
o}
o
D
0%
e
-1
B
i
1
0%
_O'E
rr
i
>
ol
futl
rIr
rﬂ
12}
1
=
10
O
&)
o
Rl
ol
OII
I
mjo
=2
o
oo

H 2E5HF.

ChatGPT: HE X E 2dot= O AHBEl= &S A correlative conjunctions)e 5 7l 0|42]

o
15101 2T2 O YESHD 2 U2 SHELICH YETAAE WO AIEN, 2 24

o —

= A=
= = —
7t Lot A HEIE A== LT CHEXQ! MBS SR AL WS o2 &b 2Hst

8Y: F /K| RRE 2= ulf ARZRfLCt

o 2% “She is both intelligent and hardworking.”

o
Y. "both” 2t “and” ALO|0]| HERZE PHE0] “intelligent”2t “hardworking” & 7HX[IE &2

e 4
T dxEL L
2. Not only ... but also ...

8Y: F 7IXIE 2F Zx5tE|, F B 255 55| =g wf AFSELIC.

mol'

Ho

& "He is not only a great singer but also a talented actor.”

o
™: “not only”2} “but also” ALO[0f| HEAEXE THS0{ “great singer”2t “talented actor”
7

[ ]
i mx

JHXE BE ZESHME & HK &5S 55| gLt

w

. Either ... or

84: £ JIX| 5 SIS MUF Of ALSELIC,
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GlIAl:

e 2& "You can either call me or send m

o M- “goither”?} “or” AO|0]| HELAXE

K& HAIRLIC

4. Neither ... nor ...

8Y: F 7K BF BYE o ArEgLict.

GlIAl:

o 2 “She likes neither coffee nor tea.”

X8 BE0| “coffee”2} "tea” T 7IXIE RE RHFLICL

o M- “neither”2t “nor” AtO[0f] 4E

(9,1

. Whether ... or

8Y: F 7HX| 7tsdE HAIE o AFgeiLCt

ClIAl:

e an email.”

Ot=S0] “call me” 2t “send me an email” & 7X| MEH

o 2% "I don't know whether to stay or leave.”

o MU "whether"2} “or” ALO|0f| HEHIPEE THS0] “to stay” 2} “leave” 5 7HX| 7t582 FMAIR

L{Ct.

8Y: F 7HX|E H|we of AFZRfLCt

o 2& “She is as smart as her brother.”
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o M. "55"Q "as” ALO|Of| HEAZXE TS0 “smart” 2} “her brother”E H|w&HL|C,
7. Both ... and ...2| 5& 6A|

Of| Al:

e 2% "Both the manager and the employees were satisfied with the results.”

™: “both”2t "and” AIO|0]| HEFZE BHE0] “the manager”2t “the employees” & 71|

o.
L& 2ot

un px

8. Not only ... but also ...2| 58} 6flA]

GlIAl:

e 2% "The project will not only benefit the company but also improve employee

morale.”

e HY: "not only”2t "but also” AtO|0| HHETZE PHE0] “benefit the company”2} “improve
employee morale” & 7HX|§ 25 ZXSIHME = Hif =5 £5| ZxefL|Ct

9. Either ... or ...2| 28 0f|A]

GlIAl:

e 2% "You can either take the bus or drive to the meeting.”

o HY: “either"2t "or” ALO|0| HHEAXE THS0{ “take the bus”2} “drive to the meeting”

7tX| ME4X|E MAlRfLICE

10. Neither ... nor ...2| &

F Ol Al

OllAl:

o 2% "The test was neither difficult nor easy.”
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o MU “neither”2t “nor” ALO[Of| HEFEE BHS0] “difficult”2t “easy” F 7HX|E EF 2EEL

Ct.

11. Whether ... or

lo
J
gok

FOf|Al

Of| Al:

e 2 “| can't decide whether to go to the party or to stay home.”

o MY: "whether"2} “or” AO|0f| HHRLZEE PHS0{ “to go to the party”2} “to stay home”
7tX| 7tsdE Ml

12. As ... as ...2| 2§t of|A]

ClIAl:

2% "The movie was as interesting as the book.”

Al "as”@t “as” AMO|0f| HHERLZE TFHS0 “interesting” 2t “the book” & H| W &L|C},

oo
5

HERAEE Aot Ol MEE[= JEHTESAE T3 25U

1. Both...and .... 5 7IX| ERE Z=X
 O|Al: “She is both intelligent and hardworking.”
2. Notonly ... but also ...: & 7}X|E BF X5t & BN o535 E35| 4=
e OlAl: “He is not only a great singer but also a talented actor.”
3. Either ... or.... & 7X| & 5lLtE M=
e Of|Al: “You can either call me or send me an email.”
4. Neither ... nor.... 5 7\X| 2% B
e Of|Al: “She likes neither coffee nor tea.”
5. Whether ... or ...: & 7}X| 7H54E FA|

e OAl: “I don't know whether to stay or leave.”
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& 7HXIE H|d

e @S ...l

6. As.

o OJAl: “She is as smart as her brother.”

o=

b

[=)
=

IONL==
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H|@Z (Comparative Degree):

o Ek: RN HYE, AR, &8 S)2 Hlug o AFSELICH

1

o SHEN: ABAILL 2ALS| 7|20 “-er”"S E0|HLt, "more”E 240l &

o MX|AL: “than”zt &P7H ALELICE

GlIAl:

[ )
o2

Al “She is taller than her brother.”

At “He runs faster than | do.”

4

7

[
nl
5

o

& (Superlative Degree):

ol
H

o SHEH: ABAILL 2AL| 7|20 “-est”"S E0[HLt, "most”E 20l 2L

o HXIAL “in"OILt “of "2t BH| AFZ-ELICE

AEAL “She is the tallest in her class.”

e 2Al: “He runs the fastest of all the athletes.”

: M 7K ol&e| thed SO0IM St 7+ FOoLITAL BSstHThs A

LIt

| FEA/RAL “This problem is more difficult than that one.”

I}

o LA 71 AEA/RAL “This is the most interesting book | have ever read.”

HZ0M WELZE SHIEA| AME3l= Y
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YEAzo| 7|2 A i tyo| S ZEA FEHE RAISHOF FLIC. &, H|wsh=s £ 47 &

o| 2HH LXE 7HXOF ghLCt,

HRZ0M EAZE SHIEH MESI= UH:

ol
o
e
02
&
10

ol
0o

AL} BAF AFR: H|Wst= QA SO0

ofn
ne
ro
o
)
1o

HBAILE AR 24 [0{0F

=
ul

“than” H0ll 2= QA7 EUHMOZ AX[SHOF & “than” F0 Q= 0| H|@E|< of

— T =
Mo 2 X|3lOF §L|Ct,

N
or
i

El
HO =

|III

f

OlAlet €Y

—
02

A} H]2

EUX|: “She is taller than her brother is smart.”
e 0|]: “taller"= EEA0|11, “is smart”"= HEAILE X7t CHE.

2X|: “She is taller than her brother is.”

o HWY: "taller"e} "is” 2F HEAE YL HLEE |FAILICL

N

AL

SX|: “He runs faster than she can swim quickly.”
e O|f: “faster”"= FAIO| 1, “can swim quickly”& SAITE f&7}F CHE.

2X|: “He runs faster than she swims.”

o MO “faster”’2t "swims” BF HAIZ SSH AXE SKX|EHL|CT.

343/353



3. YA H|a

SYX|: "The price of this book is higher than the other books.”

e 0|]: "the other books”= HAIZ =™ H|u k| X| &S,

YX|: “The price of this book is higher than that of the other books.”

o MU: “the price of this book” 1 “that of the other books”7t S8t WAL LEE H|wE.

D
Mo

F H|ua

ZX|: “She enjoys reading more than he enjoys to write.”

e O|R: “reading”"2 SHAIO|1L, “to write" = BHAIZE 127 CHE.

YX|: “She enjoys reading more than writing.”

e HY: “reading”t "writing” 25 SYAIZ St FXE FXIRLICE

1. &8AlH[R:
® “This car is cheaper than that one.”
* "The task is more difficult than the last one.”
2. R H|3:
* “She sings more beautifully than her sister.”
* "“He arrived later than expected.”
3. A H|a:
* "The price of this laptop is higher than that of the tablet.”

* “The strength of the new material is greater than that of the old one.”

4. SHALH|:
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® “Running is more tiring than swimming

¢ “Cooking at home is cheaper than eating out

OOk
=5

o S)S Hlue o AHE.

H3E ME: = 71| e (AkE, AtE

e O|Al: “She is taller than her brother.
E| &g A2 M| 7l o| Ao CHAY FOf|A StLt7t 7+ SHOLEALE BSs6ithe AS2 &3

e Of|Al: “She is the tallest in her class
g 20N SLst EHY HEIE RX.

o WX AS: bl

e O|Al: “He runs faster than she swims

HEIAXE AIESH0] H|ug 232 24e off, Hlwste &
40| ZQ¢EL|Ct. 0|2 Edl| 20| I Hatsty zt=[A| ElL|Ct
Eddie: YOZ H|IES ZH5t= BHo| 26iA o2 S0 MHaF
ChatGPT: Q02 H|I 22 2t W2 = 7 o|Ate| CHAO|LL A& S H|Wste BES Ot
ZUL|CH HWE2 U™ OZ AL 2EALS| HlwZ ot £[AZ2 ALE5H0{ 2HYEILICH H|WE2 H]
Wt CHAO| = 7HY whet Ml 7H O A f CHEXA| R EIL|CE.
1. H{uZ S A6 H|UZ
HZ2 & 71Q| CHAIO|Lt AlehS H|wEh i AFZEILICH H|WZ2 HEALE 2ALR| 7| 230 “-er”'2
Z0[|HLL, "more” & 20| 20 BHEL|C} H|wmEh HIMO 2 “than”& AL EHLICY.
S8 HuZ
gLt

e OA]l 1: “John is taller than Mark.”
“than” & AFR35H0] JohnZt Marke| 7|2 H|w

Zo|n

o MW "taller"& "tall”2] H|
e OA] 2: “This book is more interesting than that one
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n

o HW: "more interesting”2 "interesting” 2| H|WZ0|11, “than” S AE5t0{ & 22| E0|2
== Hlwghch

2 Hl@E

e OA] 1: “She runs faster than her brother.”

o HY: "faster”= "fast”2| H{1ZO0|1, “than”S AHE310{ 1142t 149 &H|Q| HE|7| £

: "He sings more beautifully than his friend.”
1: "more beautifully”= “beautifully”2| H{W 50|11, “than” S ArE50{ 5 AIEQ| L-2i

Ste YHS Hlwgct

E&22 M 7 o|de| tHOlLt & B SHLIE 71 =2 = LIEE T ArSELIL}. 2lda2 ¥
AHLE 2ALS| 7| 2-0]| “-est”E E0|7{Lt, "most”E A0 20 BHSLICt LEEO = “the” 2t BI7H Al
gLt

02

8 z|dE HIuE

o OIAl 1: “John is the tallest boy in the class.”
o MU: “the tallest”& “tall”2| Z[&Z50]11, JohnO| BtollM 7 7|7t ACh= S LIEFHLICE
o OA] 2: “This is the most interesting book | have ever read.”

no u

e HYU: “the most interesting”2 “interesting” 2| Z[&=Z0|11, 0| 0| X|ZVHX| g2 = F0f|

M 7+Y 0|8t AS LIEF-LICE

FAL 2[&E H|

El
Mo

e OfA] 1: “She runs the fastest of all the girls.”
o HY: "the fastest”= "fast”2| Z|&50|1, J47} 2= A4S SO|M 71& = Z2ICh=
NS LIEF-LICH

e OA] 2: “He sings the most beautifully of all the contestants.”
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beautifully”2| Z&&0|12, I7} 2= FH7HXH S0M 7+

mi— nu
—

o MWU: “the most beautifully
LHEFAL|CE

OIS e fiths 22
£5 H|DE 83 H|DE
£5 Hlm 5 HO| CHAOILF AHEH0] 22 HEQUS LIER O ASELICH YYHOR a5 .. as” 7
£E A8
HgAl 55 H2E
LTH= 242 LEpLIC

e OA]l 1: “John is as tall as Mark.”
o M. “3stall as” FXE AE510] Johnt Marke| 7|7t

e OAl 2: “This book is as interesting as that one.”
o MW “asinteresting as” X E AI2ol0] & Mo| SO|2 20| ZCH= A2 LIEFHLICE

dre| Fe|7| £=7t ZCh= AS LIEHL

HAl S8 HuzE
e OlA] 1: “She runs as fast as her brother.”
o MO “35fast as” FEE AFE3I0{ 149t T149
ot= Q0| ZCH= WS LIEFHLICE

Ct.
e OA] 2: “He sings as beautifully as his friend.”

CikS

ook
IS
o HlWg: & 7o CHAIO|L} ArehS H|wEr [ AL,
e O|Al: “John is taller than Mark.”
SILIZE 7125 =2 HEZ LIEPY of AFE,

o Earg: Ml 7 Ol&e| CHOLt
e OllAl: “John is the tallest boy in the class.”
22 F=YS LIEHE T AL,

o S5 H|u: = Jlio| CHAO|L} AF&H0|
e OAl: “John is as tall as Mark.”
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KE
= —

LICt Ch=2 H

I

=]

<

QASO0| HHE|7] HE LT,
F3=3HO0F

=
=

Al ZHS =7 ] A5k

o

=0 ZH&
ufofst= St of| Al LTt

i

2%k " John is taller than Mark.”

ChatGPT: H|
St= ZAULICE O]= H|

GllAl:

| 22 John is taller than Mark is tall.”

Mzl

—

Merg

than” S|0f

—
—

SLICt Hlug 7oA
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2 OXSEFA A

O

1Q
| 22 “She works harder than her brother works.”

B520| "Mark is tall’
—_

=l

Gl Al:

e 2%t “She works harder than her brother.”
Mefe
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o JHEFEI 222 “that one is difficult” LIC}. “this problem” 2t “that one” 2| &AL “difficult”

| S Hlukld AZE & 5 ASLIC.

o
ol

(8]
Ho
0%
-4
B
i
o
o
_I'T'_I

S% PAS Eaf MetE 28 njotdt 4 BLICH BRSO F0f, SAL, SH0{7} ofEA| Akl
x| ofshst 20| FLEICt

& “She sings better than he does.”

HO

°
0=

2fEl 2&2: “She sings better than he sings.”

HI
1z

°
0=

=FEl 222 "he sings"YLICH 28 TZE Sl T2 SAZE 0G| Mk =X] mhefet 4

o>

L{Ct.

1. Mg Sdt ook Fu3 & ol Mtz QAS Q5L
o OJAl: “John is taller than Mark.” = “John is taller than Mark is tall.”
2. H|nCHakate] A St utet: “than” F 0| Mekel H2S QF§HL|CT

e OJAl: “She works harder than her brother.” = “She works harder than her brother

3. WE X E B35 nfeh: L=l QA S0| SYsH X E RX|SH=E &L|Ct
e OA]: “He is as smart as his sister.” = “He is as smart as his sister is smart.”
4. HEeffst™ AX|E St mjet: JASAILE EALS| HEWVF LX|SIEE §HL|C,

"

e OlAl: “This problem is more difficult than that one.” = “This problem is more

difficult than that one is difficult.”
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L{Ct.

3

228 of

=
—

F

=1
=

i

0f, SAt, FE0{7} %
o Of[Al: “She sings better than he does.” = “She sings better than he sings.”

Kk

St
=

Ate| EHLCHLEZ

I_

~NO

of

T

K0

O

HIA: A

=
L
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